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; APPEARANCES: 1 San Francisco, California
3 For Plaintiffs 2 Monday, June 23, 2003
4 MORRISON & FOERSTERLLP 3 9:01am. - 4:39 p.m.
BY: MICHAEL A. JACOBS 4
5 LEECIA WELCH
Attorneys at Law 5 MARGARET RAYMOND, Ph.D.,
6 45MaketSreet = 6 having been duly sworn, was examined and testified as
San Francisco, California 94105-2482 .
7 415-268-6924 7 follows:
8 For Defendant State of Californiaand the Witness: 8
9 OMELVENY & MYERSLLP
9 EXAMINATION
BY: PETER L. CHOATE
10 Attorney at Law 10 BY MR.JACOBS:
400 South Hope Street 2 2
1 L oS Angales, califomia 90071-2699 11 (?) How do )r/)ou prefer to be addressed? Doctor”
213-430-6000 12 Ms.? Professor”
12 13 A Macke.
1 For intervenor California School Boards Association: 14 Q A little too informal for this.
CALIFORNIA SCHOOL BOARDS ASSOCIATION 15 A Okay. "Doctor" isfine.
14 BY: ABEHAJELA 16 Q Areyou on any medication for your leg that
Special Counsel . s
15 555 Capitol Mall, Suite 1425 17 would affect your testi mony today ¢
Sacramento, California 95814 18 A No, I'm not.
16 916-442-2952
19 Q Have you been deposed before?
17
18 20 A Yes, | have.
%g 21 Q Wasthat in -- that was not in CFE, correct?
21 22 A That's correct.
gg 23 Q Any education-related case?
on 24 A No. .
25 25 Q What was the -- under what circumstances were
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1 you deposed? 1 New York State school districts that showed the
2 A | was an expert witness in anumber of public 2 distribution of funding and academic performance. And a
3 utility regulatory proceedings. 3 number of those analytic results became part of
4 Q Areyou till doing the public utility kind of 4 testimony.
5 work? 5 Q Whose testimony?
6 A | amnot. 6 A Eric Hanushek.
7 Q Iseducation your principal focus? 7 Q Haveyou been asked to assist in analysis for
8 A Exclusive. 8 thedefense sidein any other education-related
9 Q And the public utility work stopped when? 9 litigation?
10 A 1998. 10 MR. CHOATE: Objection; vague and ambiguous.
11 Q And thelast time you were deposed? 11 BY MR.JACOBS:
12 A | don't recal, but it was prior to that by 12 Q Areyou having trouble figuring out what's vague
13 several years. 1996 maybe. 13 about it?
14 Q Didyou -- let me give you a copy of your expert 14 MR. CHOATE: If you want to have the court reporter
15 report. 15 read back the question, she can read back the question.
16 MR. CHOATE: Mike, do you have a copy for me, too? | 16 (OThe record was read as follows:
17 MR. JACOBS: Yes. Sorry. 17 "Question: Have you been asked to assist in
18 Q Did you bring anything with you today by way of, 18 analysisfor the defense side in any other
19 for example, additional documents that needed to be 19 education-related litigation?")
20 produced? 20 THE WITNESS: Other than this case?
21 A |did. 21 BY MR.JACOBS:
22 Q What do you have? 22 Q Correct.
23 A | have my copies of the Mintrop and the Russell 23 A No.
24  reports. 24 Q Sotoaskitalittle differently, other than
25 Q Marked? 25 CFE and the Williams case, you haven't worked on the
Page 7 Page 9
1 MR. CHOATE: Object; vague and ambiguous. 1 defenseside of any other education cases?
2 BY MR.JACOBS: 2 A That iscorrect.
3 Q Marked up? 3 Q And same question on the Plaintiffs side?
4 A | don't understand what "marked up" means. 4 MR. CHOATE: Objection; vague and ambiguous.
5 Margin notes? 5 THE WITNESS: That is correct.
6 Q Yes 6 BY MR.JACOBS:
7 A Yes. | had tried to go to the office this 7 Q Soyou haven't worked on the Plaintiffs side
8 morning to copy them for you. The Xerox machine was 8 for anyone?
9 broken. | havethe originalswith me. We can make 9 A No.
10 copies at lunchtime or | can bring you copies tomorrow, 10 Q No, you have not?
11 whichever you prefer. 11 A | have not.
12 Q Copies-Are-Us. Well take care of that. So at 12 Q Haveyou reviewed your report in the last
13 abreak, why don't you give those to Mr. Choate and he 13 severd daysin anticipation of your deposition?
14 cangivethemto us. 14 A Yes, | have.
15 A Thank you. 15 Q Areyou still of amind that these represent
16 Q Inthe CFE case-- you said in your report that 16 your expert opinions today?
17 youdid not provide testimony in that matter. Did any of 17 A Yes | am.
18 your work become -- did any of your work in CFE become | 18 Q Isthere anything upon review that you would
19 publicly known? 19 dtate differently?
20 A Yes. 20 MR. CHOATE: Objection; vague and ambiguous.
21 MR. CHOATE: Objection; vague and ambiguous. 21 THE WITNESS: One can always turn a better phrase
22 THE WITNESS: Sorry. 22 upon subsequent editing.
23 BY MR.JACOBS: 23 BY MR.JACOBS:
24 Q What was -- which work was that? 24 Q Anything that would go to the substance of your
25 A | prepared some distributional analyses of 25 opinion?
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1 A No. 1 with student performance?

2 MR. CHOATE: Objection; vague and ambiguous. 2 MR. CHOATE: Objection; vague and ambiguous.

3 BY MR.JACOBS: 3 THE WITNESS: Some of the work that | have done has

4 Q So with respect to the data, for example, you 4  examined some inputs.

5 haven't noticed anything about the datain the -- strike 5 BY MR.JACOBS:

6 that. 6 Q And one of theinputs you examined was condition

7 From -- since you submitted the report to today, 7 of school facilities and grounds, correct?

8 have you noticed anything about the report that you wish 8 MR. CHOATE: Objection; vague and ambiguous.

9 you had -- that you would like to have an opportunity to 9 THE WITNESS: One of the factors that was used in
10 correct before we get into it? 10 the other states accountability systems was the use of a
11 A There's nothing substantive that | would change 11 factor for facilities. The analysisthat we did | could
12 about my testimony -- my report. 12 not claim was entirely comprehensive, so I'm not able to
13 Q Solet'sstart with page2. And | particularly 13 determine whether the full body of researchin the field
14 want to focus on your sentence, "Moreover, the State 14 isadequate to be able to base state policy.

15 agreeswith Plaintiffs central argument that every 15 BY MR.JACOBS:

16 student deserves qualified teachers, adequate 16 Q Solet me show you the report you did called

17 instructional materials, and clean and decent facilities 17 the-- that | believe you're an author on -- strike that.

18 that are conduciveto learning." 18 L et me show you areport that you're an author

19 Do you see that? 19 on called "The Future of California's Academic

20 A | do. 20 Performance Index," dated April 2002.

21 Q What do you base your understanding of where the 21 A Yes.

22 State agrees with the plaintiff on? 22 Q Andwell mark this as -- what are we doing,

23 MR. CHOATE: Objection; vague and ambiguous. 23 Raymond 17

24 THE WITNESS: Based on my work in Californiaworking | 24 MS. WELCH: Yeah, | think so.

25 on accountability systems, I've seen nothing that would 25 MR. JACOBS: So well mark this particular report as
Page 11 Page 13

1 contradict the State supporting these particular aspects 1 Raymond 1.

2 of the plaintiffs central argument. And there'salot 2 MR. CHOATE: Isthis being marked as Raymond 2 or 1?

3 inthe Education Code that encourages the pursuit of 3 MR. JACOBS: Raymond 1.

4 these. 4 (Raymond Exhibit 1 was marked.)

5 BY MR.JACOBS: 5 BY MR.JACOBS:

6 Q Do you believe that the State's endorsement of 6 Q So, Ms. Raymond, while we were distributing the

7 the pursuit of these objectivesiswell-founded in 7 exhibit, | asked you to take alook at Table9. And as|

8 empirical research? 8 understand Table 9, it isatable that showsthe-- at a

9 MR. CHOATE: Objection; vague and ambiguous. 9 grosslevel therelationship of particular variables to
10 THE WITNESS: | don't have enough information to 10 student achievement as determined by you and your
11 know on what basis the State has made its policy 11 co-author, based on review of the literature, correct?

12 recommendationsin these areas. 12 A That iscorrect.

13 BY MR.JACOBS: 13 MR. CHOATE: Objection; vague and ambiguous.
14 Q Do you believe that the State's policy 14 BY MR.JACOBS:

15 recommendationsin these areas are supportable based on 15 Q And one of the variables that you found had a
16 empirical research? 16 moderate relationship to student achievement was

17 MR. CHOATE: Objection; vague and ambiguous. 17 condition of school's facilities and grounds, correct?
18 THE WITNESS: | don't claim to know enough of -- or | 18 A That iscorrect.

19 theentirety of the research that exists to know if it's 19 Q And doyou still believe asyou sit here today
20 credible and reliable, so I'm unable to answer the 20 that to be a correct association of a variable to student
21 question. 21 achievement?

22 BY MR.JACOBS: 22 MR. CHOATE: Objection; vague and ambiguous,
23 Q Haven't you done some survey work in which 23 incomplete hypothetical.

24 you've analyzed the empirical research with respect to 24 THE WITNESS: Based on the information that we used
25 particular inputs to determine whether it is correlated 25 to prepare thisreport, | think that that's a correct
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Page 14 Page 16
1 conclusion. 1 MR. CHOATE: Objection; vague and ambiguous,
2 BY MR.JACOBS: 2 incomplete hypothetical .
3 Q So at least with respect to -- back to the 3 THE WITNESS: Yes.
4  sentence on page 2 of your report, at least with respect 4 BY MR.JACOBS:
5 to clean and decent facilities that are conducive to 5 Q Under what circumstances?
6 learning -- well, strike that. 6 A | -- 1 have been asked in afew casesto help
7 Do you think clean and decent facilities that 7 design evaluations of programs that are primarily
8 areconducive to learning maps to condition of schools 8 instructional in nature and to establish a design that
9 facilitiesand groundsin Table 9? 9 would adequately allow for the quantification of whatever
10 MR. CHOATE: Objection; vague and ambiguous, 10 effect those materials had on student achievement
11 incomplete hypothetical. 11 outcomes.
12 THE WITNESS: | have not reviewed the API 2002 | 12 Q And when you say the materialsin those
13 report recently, but my understanding was that the 13 contexts, are you including in that set both the
14 construction of this particular factor in the state that 14 materialsthat arein the physical form that are
15 usedit -- I'm sorry, | don't even recall which one that 15 distributed to students and the instructional methods
16 was-- was pretty narrowly defined and that we were 16 adopted by ateacher?
17 challenged to find alarge enough basisin the empirical | 17 A Yes.
18 research to be able to assess the strength of the 18 Q So haveyou ever studied in a disaggregated way
19 association. 19 theavailability of instructional materials separate from
20 The fact that we came up with moderate tells me 20 what the teacher might do standing in front of the
21 that we found that there was aweak statistical 21 classroom?
22 association, but that there were enough studiesthat met | 22 MR. CHOATE: Objection; vague and ambiguous.
23 therequirements of being reliable that we could say 23 THE WITNESS: If you would repesat the part of your
24 there appeared to be a moderate association. 24 question about disaggregating, | want to make sure |
25 If that's enough -- if the question is, Is that 25 understand it.
Page 15 Page 17
1 enough to base state policy? State policy isbased -- | 1 BY MR.JACOBS:
2 can't determine what the basis of the state who used that 2 Q Actudly, I can unpack it alittle more.
3 factor wasin choosing this policy. If they used the 3 As| understand it, the studies you're
4 research, | don't know it. | can only tell you the 4 describing take an instructional program and measure
5 research that we looked at. 5 student performance for students who have reputably
6 BY MR.JACOBS: 6 benefited from the program against those that haven't; is
7 Q | had anarrower question, just to map the words 7 that correct?
8 to the -- whether the words "clean and decent facilities 8 MR. CHOATE: Objection; vague and ambiguous.
9 that are conduciveto learning" express kind of a 9 THE WITNESS: That's not entirely the case. That is
10 qualitative level of "schoolsfacilities and grounds” so 10 part of the design of these studies, but it'salso a
11 we can talk about those two verbal formulations together. 11 question of degree of adoption, so that within the
12 MR. CHOATE: Objection; vague and ambiguous, calls | 12 experimental side as opposed to the controlled side, we
13 for speculation, and incomplete hypothetical. 13 haveinthe past and are doing now a control for the
14 THE WITNESS: I'm sorry. | don't have enough 14  degree of adoption or implementation, and part of that is
15 information at this point to be able to map those very 15 about materials.
16 closdly. 16 BY MR.JACOBS:
17 BY MR.JACOBS: 17 Q Sowhat isthe -- what are the stepsin the
18 Q Now, adequate instructional materialsis one 18 range of adoption? What's the difference between fully
19 that you didn't examine in the future of California's 19 adopted versus weakly adopted?
20 Academic Performance Index, correct? 20 MR. CHOATE: Objection; vague and ambiguous,
21 A That's my recollection. 21 compound question.
22 Q And have you ever studied that question, whether 22 THE WITNESS: It would really depend on --
23 the adequacy of the instructional materials that are 23 What did you say?
24 availableto students is associated with student 24 MR. CHOATE: If you understand his question, you can
25 achievement? 25 answer his question.
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1 THE WITNESS: | didn't hear the last of what you 1 And the opportunity exists then to track whether
2 said. Vague and ambiguous and what? 2 ateacher has taken advantage of any of the additional
3 MR. CHOATE: And it was compound. | thought there 3 support materials as away of gauging how completely they
4 weretwo questionsthere. That'swhy | gave the 4 have adopted the new materials into their classroom.
5 objection. 5 Other things. Copying, records. People have
6 BY MR.JACOBS: 6 key cardsfor copying machines, and if you know that
7 Q Can you give me an example? 7 theresalot of new materia that isn't -- hasn't been
8 MR. CHOATE: Ms. Court Reporter, would you read back 8 available before, then you can look at whether there's a
9 thequestion, please? 9 lot of copying going on so that they can distribute
10 MR. JACOBS: Let'sjust start over. 10 materiasto students.
11 Q Isthereacurrent study that's underway that 11 Q Areany of the programs that you're evaluating
12 youhavein mind as| ask you questions about -- an 12 or that you've evaluated in this category that you
13 exemplary study? 13 described afew minutes ago programs in which a textbook
14 A Yes 14 isaprincipal vehicle of instruction?
15 Q Inthat study, what are the steps or content of 15 MR. CHOATE: Objection; vague and ambiguous.
16 thevariable that maps to degree of adoption? 16 THE WITNESS: May | assume that you mean a textbook
17 MR. CHOATE: Objection; vague and ambiguous. 17 for astudent, not atextbook for ateacher?
18 THE WITNESS: | take your question to mean how do 18 BY MR. JACOBS:
19 you measure incremental implementation? 19 Q Yes
20 BY MR.JACOBS: 20 A Theanswer isno.
21 Q Yes 21 Q Isone of the projects that you have -- one of
22 A It really depends on the particular program that 22 the programsthat you evaluated Open Court?
23 you'relooking at. If you'relooking at atechnology 23 A No.
24 program, it might be what proportion of classroomsin a 24 Q Haveyou evaluated any of the current reading
25 school actually have the working technology, that 25 programs, such as Success For -- what'sit called?
Page 19 Page 21
1 particular technology in question in the classroom. That 1 Successfor Learning, any of the other onesthat are --
2 may be athreshold question. 2 MS. LEACH: Successfor All.
3 There might be an additional question of if the 3 THE WITNESS: Success for All.
4 technology is available, what are the competencies of a 4 BY MR.JACOBS:
5 teacher to usethat? What are the competencies of the 5 Q Sorry. Let mestart over again. Haveyou
6 teacher to teach students how to use the materials if 6 evaluated any other reading programs?
7 those are available? Sometimesit's even if you've 7 MR. CHOATE: Objection; vague and ambiguous.
8 gotten through sort of the establishment of the 8 THE WITNESS: | have not been an evaluator on any
9 technology or the establishment of the resource and the 9 reading programs.
10 necessary training or competence of the instructor, then 10 BY MR.JACOBS:
11 you have the margina change in behavior of that 11 Q Inthe programsthat you are -- that you have
12 individual in terms of incorporating the material. 12 evauated -- well, maybe we just need to get alittle
13 And then finally, asafinal measure, you have 13 more specific.
14 corroborating information about the use of those 14 What program evaluations have you been involved
15 materials from other sources. 15 inthat fit into this category you've described?
16 Q Inthe corroborating material -- corroborating 16 A I've helped to design an evaluation of the KIPP
17 material about use, what kind of information might that 17 Academy's-- K-1-P-P -- Knowledge Is Power Program. | am
18 be? 18 theevauator of the Passport Teacher Certification
19 A Again, that depends on the particular programin 19 Program sponsored by the American Board for the
20 question. If you're talking about a new instructional 20 Certification of Teacher Excellence, ABCTE. | amthe
21 method, then there are often additional support resources | 21 evaluator on the Following the L eaders Program, which is
22 that the teacher might be able to draw upon. And someof | 22 theimplementation program for No Child Left Behind.
23 those come with not exactly an accounting system, but a 23 | am designing an evaluation for the State of
24 counting method to see which teachers have actually used | 24 Massachusetts for arandom-assignment study to look at
25 it and which ones have not. 25 Singapore Math.
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Page 22 Page 24
1 Q Singapore, asin the city state? 1 A Right.
2 A Asinthecity-state. 2 Q Wecanjust start over.
3 I'm probably forgetting one, but | think that's 3 A If youwouldn't mind. I'm sorry.
4 it. Oh, Teachfor America. Sorry. 4 Q The second sentence reads, "Accordingly, it
5 Q And that'sthe Houston study? 5 restswith plaintiffs to prove that their choice of means
6 A That's the Houston study. 6 issuperior." And | understood your answer about
7 Q Solet'sjust march through a couple of pages of 7 previouslitigation to cover that sentence.
8 thisand seeif we can efficiently €licit your expert 8 A Gotcha
9 opinion. If you'd turn to page 3? 9 Q Isthat true?
10 MR. CHOATE: Of the report, Michael? 10 A Thatiscorrect.
11 MR. JACOBS: Yes. 11 Q So now moving on to the third sentence, there
12 Q Thefirst paragraph describes the burden you 12 you set the standard for Plaintiffs as showing that the
13 believe Plaintiffs bear in thiscase. Do you see that? 13 current decisions and policies are ineffective and
14 A |do. 14 completely unreasonable.
15 Q Didyou write that? 15 A Yes.
16 A Yes 16 Q Andisthat drawn from the same source?
17 Q Sotheseareyour -- these are, in fact, your 17 A Yes.
18 words or are they edited words edited by counsel or 18 Q Sothose are two different standards, aren't
19 counsal'swords? 19 they? One-- in your second sentence you said that the
20 A Counsel did not give me words. These are my 20 burdenisto show that the plaintiffs choice of meansis
21 words. 21 superior, and in the third sentence you said it's that
22 Q Sowheredid you -- on what basisdid you decide | 22 Plaintiffs have the burden of showing that the current
23 that it restswith Plaintiffs to prove that their choice 23 decisions and policies of the State are ineffective and
24 of meansis superior? 24 completely unreasonable. Whichisit?
25 A Based on my earlier work in other cases, | have 25 MR. CHOATE: Objection; argumentative.
Page 23 Page 25
1 developed my own understanding of where burden of proof 1 THE WITNESS: | see those two things as being two
2 dits, and it was based on my prior experience that | 2 sidesof the same coin. By superior, | would expect the
3 determined that an adequate Plaintiffs' case needed to 3 standard would be to demonstrate that there would be a
4 include those things. 4 more efficient, faster result obtained with the proposals
5 Q Andin the next sentence you say that the 5 being advanced by Plaintiff.
6 plaintiffs have the burden to show that the current 6 In the following sentence, I'm suggesting that
7 decisions and policies relating to three issues are 7 the State may have chosen a different course to the same
8 ineffective and completely unreasonable. 8 outcome, and that it would be appropriate for Plaintiffs
9 Where did you get that from? 9 to show that the course chosen by the State doesn't
10 A I'msorry. I'mnot finding you. Oh, right -- 10 achieve those outcomes or that they achieve those
11 that'sthe same sentence. 11 outcomes at such asubstantial differential that the
12 Q Separate sentence. 12 proposals advanced by Plaintiffs become alogical
13 MR. CHOATE: I'mjust going to object that it's 13 replacement for them.
14 vague and ambiguous -- the question. 14 BY MR.JACOBS:
15 BY MR.JACOBS: 15 Q So"completely unreasonable,”" the "completely”
16 Q The previous question was about sentence 16 thereisabit of a-- isabit of an overstatement,
17 number 2 inthat paragraph, and thisis about sentence 17 right?
18 number 3. 18 MR. CHOATE: Objection; mischaracterizes testimony.
19 A Okay. I'mbeing really obtuse, but I'm still on 19 It'svague and ambiguous.
20 sentence 3, and that's where | got those words. Could we 20 THE WITNESS: There are lots of things that go into
21 dothisagain? 21 the choice of policies, and in the construction of
22 Q Sure. 22 current policies, there may be consideration of factors
23 A You said Plaintiffs have the burden to show that 23 that are not part of the case advanced by Plaintiffs that
24  the current decisions and policies about 1, 2 and 3 -- 24 would, infact, if considered, make the State choices
25 Q -- areineffective and completely unreasonable. 25 seem reasonable.
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Page 28

1 So the expectation here isthat the standard is 1 A It'smy understanding that that's an aspect of
2 not as narrowly defined as the three matters necessarily 2 thecasebut it's not the complete case.
3 inthiscase, but that there needs to be demonstrated on 3 Q And have you given consideration in your expert
4 the part of the plaintiff that the State's positions 4 report to inequality or quality as an issue?
5 aren't even reasonable, given the wider set of factors 5 A | believethat | have.
6 that they may have considered. 6 Q Andinwhat way have you done so?
7 BY MR.JACOBS: 7 A Within the range of schoolsin California
8 Q What do you understand the essential argument of 8 that -- | believe my testimony calls them educationally
9 Paintiffsto bein this case? 9 challenged. | have taken alook at the range of
10 A Thecentra argument as| understand it for 10 resourcesthat | was ableto study and their association
11 PHaintiffsisthat the State hasfailed in its alleged 11 of their education outcomes and made some attempt to
12 obligation to ensure an adequate education opportunity 12 anchor those findingsin the larger set of data on
13 for Cdifornia students because it has not ensured the 13 academic performance in California schools more
14 adoption of specific standards that Plaintiff believes 14 generaly.
15 appropriate for the pursuit of those outcomes. 15 Q What was your result?
16 Q Do you understand one component of Plaintiffs 16 A Weéll, there are anumber of different results
17 argument to be that there are a substantial number but a 17 that areincluded in my report. My findings were that
18 minority of studentsin the State of Californiawho have 18 the schoolsthat wereincluded as part of this case were
19 accessto educational opportunitiesthat are vastly 19 not as uniformly hindered in their academic achievement
20 inferior to those available to the mgjority of California 20 assome of the expert witness testimony for Plaintiff
21 students? 21 seemedtoimply.
22 MR. CHOATE: Objection; assumesfactsnot in 22 Q Andwhen you say not as uniformly hindered in
23 evidence. 23 academic achievement, you mean that the performance on
24 THE WITNESS: I'm confused by your question. Canwe | 24 the Academic Performance Index was not as negative as was
25 dothat again? 25 suggested by Plaintiffs expert testimony?
Page 27 Page 29
1 MR. JACOBS: Sure. 1 MR. CHOATE: Objection; vague and ambiguous,
2 Want to just read it back? 2 mischaracterizes the witness's testimony.
3 (OThe record was read as follows: 3 BY MR.JACOBS:
4 "Question: Do you understand one component 4 Q What do you mean by "not as uniformly hindered"?
5 of Plaintiffs argument to be that there are 5 A That there was a considerable distribution of
6 asubstantial number but a minority of 6 performance on the API even after we had controlled for
7 students in the State of Californiawho have 7 the potentia factors that could influence that.
8 access to educational opportunitiesthat are 8 Q SuchasSES?
9 vastly inferior to those available to the 9 A Suchas SES.
10 majority of California students?") 10 Q Andwhat do you believe the implications of that
11 THE WITNESS: Yes. 11 result to befor theinequality claim Plaintiffs are
12 BY MR.JACOBS: 12 advancing?
13 Q And let's put the label -- let's put alabel on 13 MR. CHOATE: Objection; callsfor speculation.
14 that so | don't have to say the same thing each time. 14 THE WITNESS: The degree of variation that exists
15 Let'sjust cal that the "equality issue" in the case, 15 among the educationally challenged schools raises
16 al right? 16 questions about the -- suggests -- let me go back and say
17 MR. CHOATE: Objection; if -- | mean if you have a 17 suggeststhat there are factors other than fixed inputs
18 question to ask her, | think it's better to ask the 18 that influence the way that schools and students perform.
19 question instead of using labels for such kind of long 19 | believel called those operational factors.
20 and drawn-out hypotheticals for what you're proposing, or | 20 And we don't have specific data to measure the
21 if that's even the case. 21 way in which schools operate, but there does appear to
22 BY MR.JACOBS: 22 be -- after controlling for many other factors, there
23 Q Do you understand that the plaintiffs-- I'll 23 does appear to be thisresidual variation in schools that
24 try again. Do you understand the plaintiffs are making 24 meansthat the marginal effects of some of the things
25 anequality or inequality case in thislitigation? 25 that we'relooking at don't seem to tell the whole story.
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Page 32

1 BY MR.JACOBS: 1 factors presupposes that these are the 'right’ things to
2 Q And therefore, what, in terms of the specific 2 focuson and that the current programs being pursued by
3 inputsthat Plaintiffs propose, for shorthand, should be 3 the State are 'wrong."
4 more equally distributed in the State? 4 Do you see that?
5 A My testimony shows that where we were able to 5 A | do.
6 look at an input, and that was with respect to the 6 Q Now, when you say the right things to focus on
7 distribution of fully certified teachers, that the 7 and the current programs being pursued by the State are
8 marginal effect of advancing Plaintiffs casein that 8 wrong -- when you say the current programs being pursued
9 regard would not produce the magnitude of improvementsin 9 by the State are wrong, are you talking about programs
10 API scoresfor aschool that might be achievable with 10 that pursuethe factors of textbooks, certificated
11 focusing on other factors. 11 teachers, and facilities?
12 Q Solet me understand what you're saying. Are 12 A | wasreferring to the broad base of
13 you saying that the plaintiffs are focusing on the 13 programmatic initiatives pursued by the State, not
14 wrong -- that there is an equality issue in the State 14 gspecifically any one or two.
15 that's significant enough from your standpoint as an 15 Q And how do you reconcile your sentence, "The
16 anayst of educational policy to worry about, but that 16 claim that textbooks, certificated teachers, and
17 plaintiffs are focusing on the wrong variables, or are 17 facilitiesare critical factors presupposes that these
18 you saying that thereisn't such an issue? 18 arethe'right' thingsto focus on"? How do you -- and
19 MR. CHOATE: Objection; it's vague and ambiguous, it 19 stop the sentence there.
20 mischaracterizes the witness's testimony. 20 How do you reconcile that with your sentence
21 THE WITNESS: | haveto agree with Mr. Choate. | 21 "The State agrees with Plaintiffs central argument that
22 think that you have -- you've put me into a Hobson's 22 every student deserves qualified teachers, adequate
23 choicethat | don't buy into. 23 instructional materials, and clean and decent facilities
24 BY MR.JACOBS: 24  that are conduciveto learning" on page 2?
25 Q Hobson had to make the choice, though, didn't 25 MR. CHOATE: Objection; argumentative.
Page 31 Page 33
1 he? 1 THE WITNESS: |n advancing this case, the priority
2 A Only if he wanted to ride. 2 of potential programmatic emphasis by the State could
3 Q Well, arethere -- in your judgment, based on 3 change should Plaintiffs case prevail. And those three
4 your studies of the school system in the State of 4 factorswould rise in the hierarchy relative to other --
5 Cadifornia, isthere asignificant equality issue worthy 5 other programmatic foci. And given that that isthe
6 of spending alot of time and money on? 6 likely outcome should Plaintiffs case prevail, thereis
7 MR. CHOATE: Objection; vague and ambiguous. 7 the question about whether these are relatively the most
8 THE WITNESS: | find the question so broad astonot | 8 important thingsto focus on, i.e., the right things, and
9 beableto actually answer it. 9 whether, by reducing the priority or rank order of other
10 BY MR. JACOBS: 10 things, there is an expectation that those things are
11 Q Waéll, have you ever examined the question of how | 11 less conducive, lessimportant, have less of an impact
12 and of what policies any state could adopt to improvethe | 12 than the three things that are being advanced by
13 educationa opportunities offered to students in schools 13 Plaintiff.
14 that in your judgment were the least effective 14 BY MR.JACOBS:
15 educationally? 15 Q Inthenext paragraph you say, "The single
16 A No, I've never done any of that work and | don't 16 unifying theme of their" -- | assume you mean Plaintiffs
17 fed I'm qudified to speak onit. 17 experts -- "testimony is that the State has erred in its
18 Q So, if youlook at the paragraph, the second 18 choice to focus on outcomes rather than continuing the
19 full paragraph on page 4. 19 historical attention to inputs.”
20 A "Thesingle unifying theme"? 20 Do you see that?
21 Q Abovethat. "Plaintiffs positionis 21 A ldo.
22 precarious.” 22 Q So, first of al, in terms of historical
23 A Yes 23 attention to inputs, | took your state accountability
24 Q You state, "The claim that textbooks, 24 studiesto be suggesting that there really isn't a
25 certificated teachers, and facilities are critical 25 comprehensive accountability system anywherein the
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country that focuses on inputs. Isn't that true?
MR. CHOATE: Objection; vague and ambiguous.
THE WITNESS: That is correct.

BY MR. JACOBS:

Q Sowhen you said "historical attention to
inputs,” what were you referring to?

A The accountability system in the United States
isnot very old. The oldest system that we've been able
to identify islessthan 20 yearsold. Prior to that,
almost the entire attention in education policy has been
oninputs. And | would consider the accountability
policy erato be very young with a much, much longer
period before that that was input-focused.

Q An accountability system that was input-focused?

A No. | just made the point that the shift to
accountability is arelatively new development in
education policy. And prior to that, the focus had been
almost exclusively on inputs.

Q But the focus was not a focus of designing an
accountability system on inputs, correct?

A I'm confused by your question.

Q Wéll, I'm confused by your sentence, so we're
in -- well stipulate to confusion.

You refer to "the historical attention to
inputs.” Do you see that?
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attention inputs?

A Thatiscorrect.

Q Butjust to be sure | understand your testimony,
based on your study of accountability systems, you're not
aware of asystem in Cdiforniaor in any other state
that systematically held school districts accountable for
the quality of the educational inputs they delivered to
students?

MR. CHOATE: Objection; vague and ambiguous.

THE WITNESS:. Let metell you where I'm having a
hard time making the connection in your question. This
paragraph | don't believe has anything to do with
accountability systems. And so you keep trying to hook
these two things together. 1'm not with you on that.

BY MR. JACOBS:

Q Soyour reference to outcomes wasn't areference
to the State's accountability system focused on outcomes?

MR. CHOATE: Objection; mischaracterizes testimony.

THE WITNESS: | would say that the State's shift to
an outcomes focus results, in part, in their structure of
an accountability system, but | actually think it's much
more pervasive than that. If you look at the expectation
about programs that exists in legislation now, it's not
about we need to provide thisinput; it's all about we
need to do things to improve student outcomes.
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A Yes

Q Andwhat you -- at least what you meant to say
isthat historically at the State level, policy aimed at,
for example, ensuring rough equality and adequacy of
dollar inputs, that's one component of an historical
attention input, correct?

MR. CHOATE: Objection; mischaracterizes the
witnesss testimony. It's vague and ambiguous.

THE WITNESS: | agree with you that there has been a
focus on funding levels as an input.

BY MR. JACOBS:

Q And that's one of the instances of an historical
attention to inputs that you had in mind in writing the
phrase, "Historical attention to inputs,” correct?

A That isone of thefactors| had in mind.

Q And another factor might be, from the policy
standpoint, historically making sure that school
buildings were built through the passage of bonds and
other vehicles to get buildings built, correct?

A I'mless comfortable with that because I'm not
sure that that actually was implementation at the State
level. SoI'm not surethat | could agree with that.

Q Caertification of teachers?

A Thereyou have one.

Q There'sanother one, right, of historical
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And yes, accountability is part of that, but it
isamore general shift that | actually think hasits
roots not even necessarily in education, but in other
policy fields that have become -- in the last 25 years,
American public policy hasreally shifted to an outcomes
focus, and education is now sort of being caught in that.
Perhapsthelast field. | don't know if there are others
still to go that way, but the outcomes focus actually
started in the '80s long before there was an
accountability system in any state. That focus started
in other fields and has come to education over time.
BY MR. JACOBS:

Q Sotheanswer to my question, when you refer to
the focus on outcomes, you were not necessarily referring
specifically to an outcome-based quote, "accountability,"
unqguote system, correct?

A That iscorrect.

Q Soat the end of that paragraph you say that "by
focusing on outcomes, the State Board of Education and
the Californialegislature implicitly acknowledge the
diversity of views and leave the specific definition and
measurement to local school authorities."

Do you seethat?
A ldo.
Q Andyou endorse that?
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1 A | do. 1 you answered by referring to them in the context of
2 Q Andyou endorse that even if that diversity of 2 empirical studies about outcomes -- about our last set of
3 viewsleavesto it amatter of local discretion whether 3 questions was why?
4 inaparticular school in the district the facilities 4 A Becausethereisan -- your earlier point was
5 will be not clean, not decent, and not conducive to 5 that these associations about the mechanisms of
6 learning? 6 output-focused policy are amenable to empirical
7 MR. CHOATE: Objection; incomplete hypothetical, 7 verification, and | know that there are both researchers
8 vague and ambiguous. 8 who areinterested in that and funders who are interested
9 THE WITNESS: Y our question assumes that the state 9 inknowing more about that and that that complete
10 that you have -- the state of affairs that you have 10 marriage has not happened yet.
11 described isacomplete end point, and my view of 11 Q And to be clear, though, those studies are aimed
12 outcomes-focused policy says that that's not an 12 at understanding how outcomes-based measurements drives
13 outcome -- that is not afinal outcome; that there are 13 loca decisions about, for want of a better term, inputs?
14 additional mechanisms that are operative to remediate 14 A | don't think that's entirely accurate. | think
15 that undesirable effect, and that the way to do that is 15 the studies are focused on understanding the mechanisms
16 tofocusexclusively on outcomes and then allow loca 16 by which localities identify and create solutions to
17 pressureto take care of the details. 17 perceived poor education outcomes within their
18 BY MR.JACOBS: 18 locdlities.
19 Q That'san empirically testable question, isn't 19 Q Sothe empirical proposition that | was asking
20 it? 20 about isthat afocus on outcomes would drive local
21 A Yes, | believeitis. 21 officialsto address particular conditions that at some
22 Q And are you aware of any empirical evidence on 22 level everyone knows need to be addressed: if afacility
23 thequestion? 23 isredly terrible, interrible shape, if the teaching
24 A | know of no completed studies. | know that 24 forceisawful; that we all know that that hasto be
25 there are some studies underway. 25 fixed someway.
Page 39 Page 41
1 Q What do you have in mind? 1 Y our hypothesisis that an outcome focus will at
2 A Thereisa-- hmm. Hang on just asecond. | 2 theend of the day, in combination with other factors,
3 needtotak to him. 3 drive an improvement in those conditions, correct?
4 MR. CHOATE: Why don't we take a break? 4 A That's my testimony.
5 MR. JACOBS: | assumeit's a confidentiality issue 5 Q And that istestable?
6 you need to discuss with him? 6 A That's my testimony.
7 THE WITNESS: Yeah. 7 Q Areyou aware of anything that answers directly
8 MR. JACOBS:. That'sfine. Take afew minutes. 8 inwork or --
9 (Recesstaken: 9:58 until 10:00 am.) 9 A Wadl, I'm sureyou're aware of all the work
10 MR. JACOBS: Read back the two questions, please. 10 that's come out of OFSTEAD in Great Britain, because they
11 (UThe record was read as follows: 11 walked down thisroad at least 15 years before we did.
12 "Question: And are you aware of any 12 And there is some research available out of OFSTEAD that
13 empirical evidence on the question? 13 looksat your question, though none of it isas
14 "Answer: | know of no completed studies. | 14 rigorously empirically controlled as the studies that are
15 know that there are some studies underway. 15 being considered at thistime.
16 "Question: What do you have in mind? 16 Q And by OFSTEAD, you mean?
17 "Answer: Thereisa-- hmm. Hangonjust a 17 A When | comeintomorrow | will have the full
18 second. | need to talk to him.") 18 name, but it isthe -- it's the British inspectorate for
19 THE WITNESS: | have been retained asaconfidential | 19 compulsory education.
20 reviewer of some brand applications, and the funding 20 Q Theexampleyou cite at the bottom of that
21 decisions on those have not been made public and so I'm 21 paragraph, "The single unifying theme" paragraph, "Thus,
22 not at liberty to discussthem. | cantell you they come 22 onedistrict may choose athree-year rotation of
23 out of large eastern universities. 23 textbooks while another chooses a different cycle.”
24 BY MR.JACOBS: 24 Do you see that?
25 Q Andinagenera sense, the topic -- the reason 25 A |do.
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1 Q And by "adifferent cycle,” you meant one 1 at the accountability system level to inputs, correct?
2 potentially longer than three years or one shorter than 2 MR. CHOATE: Objection; that's vague and ambiguous
3 threeyears, correct? 3 andit's an incomplete hypothetical.
4 A Whatever. 4 THE WITNESS: My testimony is clear on my position
5 Q Andyour view isthat an outcomes-based focus 5 onthis, whichisthat the adoption of output -- I'm
6 leavesthe specific definition and measurement -- 1'm not 6 sorry -- outcome-focused work does, in fact, include
7 sure where measurement fitsin. Let me ask this over 7 incentivesthat are compromised by the inclusion of input
8 again. 8 factorsin an accountability system.
9 Your view is that an outcomes-based focus leaves 9 So the premise that you are asking me to accept
10 it to district discretion what choice of rotation of 10 goesagainst what | understand about the incentives
11 textbooksisoptimal under al the circumstances? 11 systems and the accountability systems, so | don't accept
12 MR. CHOATE: Objection; vague and ambiguous, 12 that.
13 incomplete hypothetical. 13 BY MR.JACOBS:
14 THE WITNESS: Could you clarify your question for 14 Q They are mutually exclusively?
15 me? 15 A Inmy view, they are.
16 BY MR.JACOBS: 16 Q Andwasthat something that you highlighted in
17 Q Wadll, what did you -- you said "Thus" at the 17 your future of California's Academic Performance Index?
18 beginning of the sentence, the "three-year rotation of 18 A | believethat we did.
19 textbooks' sentence. What's the link between thoseideas | 19 Q Do you recal your paper well enough to find it?
20 that leads you to use "Thus'? 20 A My guessisyou're going to find it someplace
21 MR. CHOATE: Objection; vague and ambiguous. 21 around 38.
22 THE WITNESS: Thefinal sentencein that paragraph | 22 Q SolI'mlooking at the paragraph that starts,
23 wasintended to be an example of the effect of focusing 23 "Theimportance of criterion L3" that's on page 38. It's
24 on outcomes and leaving local school authorities to 24 toward the top.
25 identify and articulate policies that are appropriate to 25 A Yesah, but that's not whereit is.
Page 43 Page 45
1 their circumstancein pursuit of those outcomes. 1 Q Because there you say, "Absent other criteria,
2 Thiswas an example of one way that that might 2 the new factors could range from input members -- I'm
3 become redlized. 3 sorry -- "input measures such as the proportion of
4 BY MR.JACOBS: 4 certified teachersin aschool to process measures such
5 Q Now, on the next page you talk about the issue 5 asthe number of instructional minutesto the other
6 of centralization. Actudly, strikethat. Let mego 6 outcome measures just discussed.”
7 back to one other issue in "The single unifying theme" 7 A Yes. Ifyou'll ook at criterion L6, which we
8 paragraph. 8 took from the legidlation, the legislation speculated
9 In your paper on the -- on California's APl 9 that amulti-factor index was going to give you a
10 system, Exhibit 1, you considered APIsthat include both 10 superior measure of academic achievement. L6, however,
11 outcomes measured by tests and certain inputs aspossible | 11 did not speak to whether or not those factors were input
12 components of acombined API, correct? 12 process or outcome factors. It merely said there needed
13 A That is correct. 13 to beamulti-factor index.
14 Q So an accountahility system based on an API that 14 The paragraph that you have just alluded to
15 considers both outcomes and certain inputsis not 15 givesthe potential decision space that those
16 inconceivableto you? 16 multi-factors that would satisfy L6 could be of those
17 A No. 17 three, but the remaining criteria, A1 and -- actually,
18 Q And soit'snot necessarily the case -- you may 18 A2, L1, L3, arethosethat make for afocusthat is--
19 have read our experts this way, but it's not necessarily 19 that isunder tension if you include input factors or
20 the case that focusing on outcomes is exclusive of some 20 processfactors.
21 attention to inputs, correct? Let merewind and start 21 Q The L6 nomenclature, that phrase, L6, that comes
22 that over again. 22 from what?
23 It's not necessarily the case in designing an 23 A Some part of the introduction part of --
24 accountability system that it's one or the other; that 24 Q But someone else authored these criteria,
25 you focus exclusively on outcomes and give no attention 25 correct?
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1 A Thelegidative requirements start on page 10, 1 metowherein your report you say something along the
2 andour L'sand A's are our extraction of the intent -- 2 linesof, "Evenif it'san input variable that's closely
3 by doing a content analysis on the legislation, we were 3 correlated with student performance, we don't think it
4 ableto extract the requirements. So the specific 4 should beinthe API."
5 languages of L1 through L6 and A1 through A3 maybe or 5 A Well, that would be subsequent to --
6 A2-- A3areour language based on our anaysis of the 6 MR. CHOATE: And if you want to go off -- we can go
7 language of the legidlation. 7 off the record and you can read through your report and
8 Q So wherethen comes the criteriathat you 8 try tolocate what it isthat Mr. Jacobs seems to be
9 advanced that the system should be exclusively 9 asking about. Do you want to do that?
10 outcome-focused? 10 THE WITNESS: No, I'm fine. | haveit in mind.
11 A L1, L2 and Al, from my reading today. 11 We do speak someplace in here about the dilution
12 Q Andinyour analysis of A1, you consider the 12 of theincentives.
13 possibility that so long as they were, in fact, closely 13 BY MR.JACOBS:
14 correlated with student performance, certain input 14 Q Solet mejust show you another fragment that
15 measures could be included in an API consistent withthe | 15 supports my interpretation of your paper and seeif that
16 legidativeintent, correct? 16 keysyou to the part that supports yours. Turn to page
17 A | believe the position that we took was, in 17 36, right in the middle of the text.
18 fact, the opposite; that you don't want to include 18 A Yes
19 factorsthat don't have a strong association with student 19 Q "Process variables have more varied
20 outcomes. 20 relationshipsto student achievement, suggesting that it
21 Q Andyou're saying you were silent on those that 21 would be imprudent to reject a process measure out of
22 do? 22 hand."
23 MR. CHOATE: Objection; mischaracterizesthe 23 A If you will look at Table 10 on page 37, you
24 witness's testimony. 24 will see that we have taken dl of the factors that are
25 BY MR.JACOBS: 25 used by any state in their accountability systems and
Page 47 Page 49
1 Q What'sthe distinction you're drawing between 1 categorized them as input, process, or outcome variables,
2 theway you just formulated it and the way | just 2 and then, through areading of the available literature,
3 formulated it? 3 characterized their association as weak, moderate, or
4 A | don't believe we -- | may be wrong, but | do 4 strong. Andyou can read in the body of the report how
5 not recall that we actually said satisfaction of A1 would 5 weassigned weak, moderate, and strong.
6 befully realized if you included strong candidate 6 Thefact that no input variables made it to the
7 variables, whichiswhat | understood you to just say. 7 strong list but one process variable made it to the
8 Q Letmetryitagain. | understood your analysis 8 dtrong list gave us the position that you could not
9 to bethere are variables that the data indicates are 9 categorically eliminate process variables from
10 closely correlated with student performance. 10 consideration; that you could, in fact, if the
11 A That'scorrect. And weincluded thosein the 11 relationship with outcomes was durable enough,
12 analysis. 12 contemplate the inclusion of aprocess variable. |
13 Q And theline you were drawing then for which 13 believe the only one that met that criterion was student
14 variables should beincluded in arigorous APl was the 14 mobility rate.
15 line between variables closely correlated with student 15 Q So at the bottom of page 38 you say,
16 performance and those that aren't closely correlated with | 16 "Alternatively, any number of additional factors could be
17 student performance? 17 added aslong as their collective weight in the APl was
18 A Insatisfaction of that single criterion, 18 limited to 40 percent."
19 correct. 19 A That'sahypothetical. That's correct.
20 Q Andthat it was that line that drove your 20 Q Wiéll, you took criterion L3 and | believe you
21 analysisrather than the line between outcomes and 21 proposed the 60 percent value, correct?
22 so-caledinputs? 22 A No.
23 A No, that's not correct. 23 Q That'sfrom the legislation?
24 Q Sothen you've got to point me, please -- please 24 A That'slegidation.
25 point me -- you don't have to do anything. Please point 25 Q Sooneway you would have said in this report

13 (Pages 46 to 49)




Page 50

Page 52

1 what | think you're saying here today is specified 1 identifier for the State.
2 statewide tests must constitute a hundred percent of the 2 Q And to assemble the necessary outcome measures
3 vdueof the API? 3 onastudent-by-student basis?
4 A No, that's not my position in this paper and 4 MR. CHOATE: Objection; vague and ambiguous.
5 it'snot my testimony today. 5 THE WITNESS: The outcome measure that the State has
6 Q So what outcome measure would you use other than 6 chosenisthe STAR score, and there are efforts underway
7 test? 7 torefine the quality of those assessment tools, but that
8 A | think that there's a good argument to be made 8 isthe specific academic achievement score that the State
9 for other measures of the student outcomes. 1'm not 9 isinterested in tracking over time.
10 exclusively atest fiend, and in an ideal world we would 10 BY MR.JACOBS:
11 have other outcomes measures so we could have amore 11 Q And so you've cited the association of an
12 robust outcome-focused index. 12 identifier with the student on a statewide basis and the
13 Q Now, in this paper you propose a shift in model 13 evolution of the STAR test as two things currently in
14 from sort of a snapshot view of student performanceto a 14 process that head toward a better, in your professional
15 student change model, correct? 15 judgment, API, correct?
16 A That'scorrect. 16 MR. CHOATE: Objection; vague and ambiguous.
17 Q And do you know of any state that's using today 17 BY MR.JACOBS:
18 an effective student change model ? 18 Q [I'll just tell you whereI'm going. You don't
19 A | guessit would depend on what you consider to 19 even need to answer that question.
20 beeffective. But | consider North Carolinato be 20 What else would the State of Californianeed to
21 effective. | consider Massachusetts to be effective. | 21 do to achieve an effective student change model as
22 consider Texasto be effective. And I'm not exactly sure 22 outlined in your "The future of California's Academic
23 what's happening right at thistime in Tennessee, but 23 Performance Index" paper?
24  they've been using a value-added model for along time. 24 MR. CHOATE: Objection; vague and ambiguous.
25 Ohio hasjust adopted some legislation, Pennsylvaniais 25 THE WITNESS: We know from the other states that do
Page 51 Page 53
1 adopting legislation that goesto a gain score. 1 vaueadded that student background is a huge determinant
2 Q And by "gain score," you mean? 2 of both the nominal and the incremental changein
3 A Vaue-added. 3 academic performance. And | believeit would help
4 Q And that requires measuring a particular student 4 localities do a better job of identifying and remediating
5 at aparticular moment in time, and then measuring the 5 challengesin their students within their district if
6 degreeto which education added value to that student's 6 they had better information on family background.
7 setof abilitiesat alater point in time, correct? 7 Thereis currently some information that is
8 MR. CHOATE: Objection; vague and ambiguous. 8 collected on the header sheet of the STAR test. Do you
9 THE WITNESS: | got it. 9 know what the header sheet is?
10 BY MR.JACOBS: 10 BY MR.JACOBS:
11 Q It'sastudent-by-student measure? 11 Q No. For purposes of the deposition, | don't --
12 A That iscorrect. 12 A You asked the question. | will answer with --
13 Q Anditrequires, in the case of adistrict-wide 13 Q That'sokay.
14 system, astudent identifier for the district, and in the 14 A The header sheet is the registration page of the
15 case of a statewide system, a student identifier for the 15 STAR exam that isfilled out either for each student or
16 State? 16 by each student every year when they take the test, and
17 A That is correct. 17 itincludesinformation about their personal profile, it
18 Q And do you see any signsthat Californiais 18 includes some information about their longevity in the
19 moving inthat direction? 19 school in which they are currently being tested, and it
20 A Sure. AB-1152. 20 includes someinformation about the educational
21 Q Andwhat isthat AB-1152 status? 21 attainment of parents.
22 A Passed. It'slaw. Itisinprocess. It 22 The quality of that data has gotten better since
23 requiresthe State to adopt a unique student identifier. 23 thetest wasimplementedin 1999. | believe that set of
24 And there is much effort underway at the Department of | 24 information could be improved over time and it would give
25 Education to design and implement a unique student 25 abetter opportunity to create value-added measures that
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1 theschools could use so that they would understand where 1 | havenot.
2 they are actually adding value and where they are not. 2 Q Yousaid you could do astraight-line
3 Q Any other steps that need to be taken to achieve 3 projection, | think, was your word.
4 aneffective APl with adesign of -- 4 A Right.
5 MR. CHOATE: Objection; it's vague and ambiguous. 5 Q Haveyou done that?
6 BY MR.JACOBS: 6 A Asathought exercise, yes, | have.
7 Q --withadesign that'sin your paper? 7 Q What do you mean by "thought exercise"?
8 A | stated earlier herethat | would liketo seea 8 A Weél, let'stake textbooks as an example. | did
9 wider range of outcomes be articulated as important to 9 not read al of the reportsin this case, but the reports
10 track. There are many goalsthat public educationis 10 that | did focuson did not articulate what was meant by
11 aimed to provide to students, and while | think that 11 an adequate textbook.
12 academic achievement is probably primary, there are 12 If the decision is made in favor of Plaintiffs
13 others| would liketo see-- and | don't have any 13 that that particular input needs to be universally
14 specific ideas at this point, but | would like to see 14 adopted in California, then we have immediately an
15 outcome measures around understanding of civic 15 opportunity to ask, "Well, how will adequacy of textbooks
16 responsibility and enactment of that. | would like to 16 bearticulated?' What's the relationship between that
17 see some measures about future dispositions. 17 requirement and the current standard-setting body which
18 It seems to me that a student who comes out of 18 does not look at implementation at this point but needs
19 school and isimmediately tracking into higher education 19 to be coordinated so that presumably those textbooks
20 speaks of adifferent kind of outcome than a student who 20 would be aligned with State standards?
21 comes out of school and has absolutely no plans and has 21 Once you've got that, how do you review existing
22 no real focus. 22 supply of textbooks to determine their adequacy, and then
23 I would like to see an integration of those 23 how do you monitor the availability and sufficiency of
24 outcomes with more information about labor force 24 the supply of textbooksinindividua schoolsto know
25 participation, wages, higher education, and | know that 25 whether or not aschool or adistrict or the state asa
Page 55 Page 57
1 other states are working on that. Californiais not 1 wholeiscomplying with that requirement?
2 thereyet. 2 And when | start looking at those steps, the
3 Q On page 5 in the middle paragraph, "Plaintiffs 3 organizational processes that are associated with those
4 argument isfounded on aview of centralized control that 4 start to look extremely complex very quickly.
5 runsdeeply counter to the current organization of 5 Q And can you explain that last piece of your
6 education in the United States and ignores many of the 6 answer, in what way they start to look complex pretty
7 advantageslocal control can offer.” Plaintiffs 7 quickly? | understand the first part was sort of the
8 proposals "actualy would require enormous centralized 8 requirement as you saw it, and then the last fragment was
9 control and give little room for local adjustment.” 9 how you meet the requirement, right?
10 Do you see that? 10 A Wédll, the requirement is atextbook for every
11 A | do. 11 student to use in school and to take home.
12 Q What do you base that on? 12 Q Mm-hmm.
13 A The-- my background in doing public policy 13 A That'sthe requirement. What | articulated were
14 analysis has given me opportunity in the past to examine | 14 what | would consider to be functional steps to make the
15 implementation of various forms of legislation or various | 15 requirement areality. And | think | just articulated
16 regulatory decisions, and based on those prior projects 16 what those look like.
17 andwork, | can do a pretty straight-line projection of 17 Q Thenyou said at the end that it starts to ook
18 what would be required in order to realize the three 18 very complex very quickly, or something like that.
19 prioritiesthat Plaintiffs have advanced in terms of the 19 A Right.
20 mechanism for both articulating what those standards 20 Q Wasthat more to come?
21 would be and the mechanism for ensuring that those are 21 A Pretty quickly --
22 equivalently adopted across the roughly 10,000 public 22 Q Itwasn't that there was more to come; it was
23 schoolsin California. 23 that that was a sum-up?
24 Q Andwhat is-- have you done that analysis? 24 A To make those steps happen in our lifetime looks
25 A Havel done-- have | done a cost analysis? No, 25 like apretty big undertaking. It lookslike to me
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1 centraized control and a complex undertaking. 1 these sorts of things, would it be a challenging
2 Q You're aware that the State of California has 2 evauation program or not-so-challenging onein your
3 appropriated hundreds and hundreds of millions of dollars | 3 view?
4 specificaly for textbook purchasesin the last severa 4 MR. CHOATE: Objection; vague and ambiguous,
5 vyears, correct? 5 incomplete hypothetical.
6 A Thatis correct. 6 THE WITNESS: Unfortunately, | don't know enough
7 Q Areyou aware of any outcome measures that the 7 about the details of how the textbook programs are
8 State has applied to determine whether that has led to 8 implemented at the local level to know if it's even
9 more effective distribution of textbooks to students? 9 possibleto evaluate them.
10 MR. CHOATE: Objection; vague and ambiguous. 10 BY MR.JACOBS:
11 THE WITNESS: | believe that you're 11 Q Soit'spossible that the State launched a
12 mischaracterizing the outcome. 12 program costing hundreds and hundreds of millions of
13 BY MR.JACOBS: 13 dollarsayear that from your standpoint may be
14 Q Ithink I useditinaconfusing way. Let me 14 un-evaluatable?
15 withdraw the question. As| spokeit, | realized it 15 MR. CHOATE: Objection; it's vague and ambiguous --
16 was-- okay. 16 THE WITNESS: Class size reduction is the prime
17 A "Bleep." 17 example.
18 Q Right. 18 BY MR.JACOBS:
19 Y ou're a proponent of the broader use of 19 Q Of such aprogram that -- just the way it was
20 evaluation in program design, correct? 20 designed, it can't be evaluated?
21 A | amindeed. 21 A It wasimplemented across the state in one shot.
22 Q And you wrote some papers for philanthropists on 22 You have no controls.
23 evauation in educational philanthropy, correct? 23 Q Would -- have you given any thought to how one
24 A Thatis correct. 24 might evaluate -- in your general work on evaluation, how
25 Q But your view is not limited to charitable work, 25 one might evaluate whether programs are implemented in a
Page 59 Page 61
1 correct? It would aso apply to governmental programs? 1 way that aims at rough equality of educational
2 A That iscorrect. 2 opportunity?
3 Q And so that these programs in general, you think 3 MR. CHOATE: Objection; vague and ambiguous.
4 that thereisinsufficient attention paid to evaluation 4 THE WITNESS: No, | have nat.
5 indesigning programsin that we all would be better off 5 BY MR.JACOBS:
6 if more evauation was built into programmatic design? 6 Q And asyou sit here today, have you conducted
7 MR. CHOATE: Objection; vague and ambiguous. 7 any kind of thought experiment to how you would measure
8 THE WITNESS: Recognizing that evaluation dollars 8 particularly whether the hundreds of millions of dollars
9 arescarce, | think one needs to be judicious about what 9 the State has spent on textbooks have -- has led to
10 programsone evaluates. But | believe that key programs | 10 availability of textbooksin aroughly equal way across
11 ineducation could benefit from having better quality and | 11 the state?
12 more frequent evaluation of their effectiveness. 12 MR. CHOATE: Objection; vague and ambiguous.
13 BY MR.JACOBS: 13 THE WITNESS: | haven't done that one either.
14 Q Have you conducted a thought experiment asto 14 BY MR.JACOBS:
15 what an evaluation component for the State's substantial 15 Q Would that be a hard evaluation to conduct?
16 appropriations of textbook dollars over the last severa 16 MR. CHOATE: Objection; vague and ambiguous,
17 yearswould look like? 17 incomplete hypothetical.
18 MR. CHOATE: Objection; vague and ambiguous. 18 THE WITNESS: | don't have enough information at
19 THE WITNESS: | have not. 19 thispoint to know whether it would be difficult or not.
20 BY MR.JACOBS: 20 BY MR.JACOBS:
21 Q Andyou're not aware of any evauation that's 21 Q Now, you mentioned class size reduction. We do
22 been built into that program, correct? 22 know that one of the effects of class size reduction was
23 A That iscorrect. 23 increased inequality in the distribution of credentialed
24 Q Do you think it would be -- as you sit here 24 teachers, correct?
25 today, having given some thought to how hard itistodo | 25 MR. CHOATE: Objection; assumes factsnot in
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1 evidence, it's vague and ambiguous, and it lacks 1 Q Andyou note that Mr. Sobol says that facilities
2 foundation. 2 areimportant. Do you see that?
3 THE WITNESS: | don't remember seeing any data that 3 A 1do.
4 show before and after distributions. 4 Q Andthenyou say, "It simply cannot be the case
5 BY MR.JACOBS: 5 that facilities are important if it is possible to
6 Q Of credentialed teachers? 6 identify cases where they have not influenced the outcome
7 A That's correct. 7 of students."
8 Q Soyou're not aware of the PPIC study on this 8 Asyou sit here and read that today, isthat
9 question, for example? 9 sentence literally correct?
10 MR. CHOATE: Objection; assumesfactsnot in 10 MR. CHOATE: Objection; vague and ambiguous.
11 evidence. 11 THE WITNESS: My testimony states that with an
12 THE WITNESS: I'm not recalling the PPIC study. 12 outcomes focus for education policy, that we want to put
13 BY MR.JACOBS: 13 our emphasis on factors that we know do influence the
14 Q You'rethinking maybe of the Santa Cruz study 14 outcome of students. Where -- where we are able to
15 that was aso on thistopic? 15 examine groups of schools and groups of students and find
16 A No. 16 aweak or insignificant relationship between afactor and
17 Q But that'sevauatable, right? You could ook 17 outcomes, then we are lessinclined as a policy matter to
18 at before and after distribution of credential data 18 not want to make that a priority in crafting positive
19 pretty readily? 19 student outcomes.
20 MR. CHOATE: Objection; vague and ambiguous, 20 BY MR.JACOBS:
21 incomplete hypothetical. 21 Q You could have afactor that had a strong
22 BY MR.JACOBS: 22 correlation with student outcomes and still have cases
23 Q I'msorry. | didn't even say that right. 23 wherethat factor did not influence student outcomes,
24 Y ou could look at before and after data on the 24 correct?
25 distribution of credentialed teachers pretty regularly -- 25 MR. CHOATE: Objection; it's vague and ambiguous.
Page 63 Page 65
1 pretty readily, could you not? 1 THE WITNESS: It would depend on the strength of the
2 MR. CHOATE: Same objections. 2 association.
3 THE WITNESS: Y ou could, but it would be a crappy 3 BY MR.JACOBS:
4 design. 4 Q Wadll, I used your word, "strong." One could
5 BY MR.JACOBS: 5 havea--thisisjust -- this sentenceisjust an
6 Q Why isthat? 6 overstatement, right? | mean, of course there are going
7 A There arelots of other factors that could 7 tobe cases where facilities don't influence an outcome,
8 influence the -- both the supply of fully credentialed 8 evenif it should turn out on the basis of empirical
9 teachersand their distribution across market areas that 9 research that you would consider -- that you would
10 asimpletrend analysis of those numbers would not 10 endorseintermsof its quality that facilitiesisa
11 reved. 11 strong factor, right?
12 Q Areyou aware of any factorsthat -- wait. You 12 MR. CHOATE: Objection; mischaracterizing the
13 haven't read the literature on this topic, right, of the 13 witness'stestimony. It's argumentative and vague and
14 effective class size reduction on distribution of 14 ambiguous.
15 credentialed teachers? 15 THE WITNESS: Well, itis, infact, part of my
16 A I'mnot an expert on this at all. 16 testimony that you can't craft policy that coversall
17 MR. CHOATE: Michadl, let'sjust take a break for a 17 cases. What this sentence implies, | believe, is that
18 few minutes, if you don't mind. 18 when you are crafting State policy, you need to go to the
19 MR. JACOBS:. Sure. 19 central tendencies. And if there are -- if the position
20 MR. CHOATE: We've been going for aimost an hour. | 20 isbeing taken by Plaintiffsthat an element is critical,
21 (Recesstaken: 10:43 until 10:49 am.) 21 thenthat saysto meit hasto be the case that this
22 BY MR.JACOBS: 22 factor is determinant of student outcomes.
23 Q On page 8 of your report, first paragraph -- 23 And my reading of Sobol was that he was saying
24 first full paragraph, is about facilities. 24 that thisisacritical factor. And my argument hereis
25 A Yes 25 ifit'scritical, thenit's critical in all the cases.
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1 BY MR.JACOBS: 1 thenyou said they can't beimportant if it is possible
2 Q Okay. 2 toidentify caseswhere they -- in anutshell, if itis
3 MR. HAJELA: Can | just suggest something just for 3 possible to identify cases where they were not important.
4 clarification so | understand the sentence? 4 But, of course, that's just a statistical exercise we're
5 If you substituted the words "experienced 5 engagedin, right? Andin some cases, any of these
6 teachers' for "facilities," would the sentence till make 6 factors could be unimportant, even if in the broad scheme
7 sense? "It simply cannot be the case that experienced 7 of things, it turns out they're strongly correlated,
8 teachersareimportant if it is possible to identify 8 correct?
9 caseswhere they've not influenced the outcome of 9 MR. CHOATE: Objection; vague and ambiguous,
10 students'? 10 incomplete hypothetical.
11 MR. CHOATE: Objection; it'svague and ambiguousand | 11 BY MR. JACOBS:
12 it'sanincomplete hypothetical. 12 Q | mean, frankly, I'm happy if you stick with
13 THE WITNESS: | think | would state -- stay to the 13 your hundred percent universal determinative becauseit's
14 sentence, even if you changed the subject. 14 utterly implausible, but | don't think that's what you're
15 BY MR.JACOBS: 15 saying.
16 Q Sojust to beclear, in order for ustowin 16 A That wasn't my determinant. That was not my
17 thiscase, in your judgment, and establish that a factor 17 determinant.
18 isimportant enough that its grossly unequal distribution 18 Q Sowhat isyours?
19 risesto constitutional dimensions, we have to prove that 19 A Mineisthat -- you are correct; that we arein
20 inevery casethat factor is determinative of student 20 aposition of statistical tendencies, and that the
21 outcomes? 21 preponderance of -- that you want to craft State policy
22 A | actually don't think that | have implied that 22 on the preponderance of the evidence, not necessarily the
23 withwhat | said, and so | would disagree with you. 23 universality of the evidence.
24 Q All right. So what's the standard then? | 24 Q Sointhemiddle of page 8 you say, "How much
25 understood you to be making a more plausible proposition, 25 more effective would increasing the number of fully
Page 67 Page 69
1 whichisthat you've looked at various factors, and that 1 credentiaed teachers be than, say, banning cell phone
2 someare strongly correlated with student performance, 2 usage by students during classes or revising the
3 someare moderately correlated, and some are weakly 3 cafeteriamenu to provide more wholesome selections?’
4 correlated. 4 Do you seethat?
5 And your argument was unless the plaintiffs can 5 A 1do.
6 show strong correlation, you don't think State policy 6 Q Werethose -- did you choose those examplesin
7 should be dramatically altered to ensure the much higher 7 thisreport?
8 probability of equal distribution of that factor. That's 8 A 1did.
9 what | heard you arguing. And then all of a sudden you 9 Q Why did you think of banning cell phone usage?
10 said, "By strong correlation, | mean it must be 10 A | try to spend timein schools on aregular
11 determinativein every case." And | lost you. 11 basisso | know what's going on, and the one thing that
12 MR. CHOATE: Wait. 12 hashit melike aton of bricksin the last year is that
13 THE WITNESS: Stop. Stop. Stop -- 13 every singlekid has a cell phone and that teachers are
14 MR. CHOATE: Objection; mischaracterizes the 14 not doing -- are not doing as well doing their job when
15 witness's testimony. 15 cell phones are going off al thetime. And so it
16 THE WITNESS: Thank you. 16 occurred to me that a quiet atmosphere might, in fact,
17 | think you have mischaracterized my testimony. 17 have abigger impact than any of the proposals of
18 Your characterization of my testimony is preity close; 18 Plaintiffs.
19 strength of association has to be empirically proven, it 19 Q Andthat'sa-- that's not something you're
20 hasto be significant and it has to be strong. 20 sayingisyet empiricaly tested, but it's something that
21 What this paragraph talks about is the strength 21 might be worth putting into the mix of empirically
22 of position that Sobol took on the criticality of 22 testable propositions?
23 facilitiesin histestimony. 23 MR. CHOATE: Objection; vague and ambiguous.
24 BY MR.JACBOS: 24 THE WITNESS: | wouldn't even go that far.
25 Q Widll, you said he said they were important. And 25 BY MR.JACOBS:
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1 Q So one does have to make some judgments about 1 component in education.
2 what isworth evaluating empirically at the outset of an 2 BY MR.JACOBS:
3 empirical investigation, correct? 3 Q Recognizing the difficulty of knowing what a
4 A Yes, that's consistent with my testimony. 4  skilled -- what good teaching is, there have been studies
5 Q Andyou wouldn't -- if you were distributing 5 of various proxies for good teaching, such as length of
6 scarce evaluation dollars, you wouldn't put alot of 6 experience, correct?
7 weight on the relationship between banning cell phone 7 A That's correct.
8 usage by students and student performance? 8 Q Or teacher credentialing, correct?
9 MR. CHOATE: Objection; vague and ambiguous. 9 A Or teacher credentialing.
10 THE WITNESS: | would go further and say | don't 10 Q And are there any other proxiesthat you're
11 think that that is an area that is amenable to 11 aware of that have been studied to --
12 evaluation, so it becomes rather maoot. 12 A Yes; National Board certification.
13 BY MR.JACOBS: 13 Q Anything else?
14 Q Inyour timein classroomsthat you referred to, 14 MR. CHOATE: With respect to teachers?
15 haveyou seen schoolsthat arejust in -- from your 15 MR. JACOBS: Yes.
16 vantage point, in utter disarray? 16 THE WITNESS: Yes. There's been aproxy of wage
17 MR. CHOATE: Objection; vague and ambiguous. 17 scale
18 THEWITNESS: Yes. 18 BY MR.JACOBS:
19 BY MR.JACOBS: 19 Q l.e, whether pay is associated with -- I'm
20 Q Inthemiddle of page 9 you refer to the PPIC 20 sorry. How doesthat --
21 study that Linda Darling Hammond cited. 21 A More highly paid teachers produce more highly --
22 A Yes 22 higher academic results.
23 Q Thename of that study is"Equal Resources, 23 Q That'sthe question that --
24 Equa Outcomes,” et cetera. Do you see that? 24 A That's the hypothesis under that particular
25 A 1do. 25 analysis.
Page 71 Page 73
1 Q Andyou say these factors -- referring to 1 Teacher mobility.
2 teacher quaifications -- you said, "These factors are 2 Q Maeaning whether the teaching force in a school
3 not statistically significant in many of the modelsin 3 isstable or highly mobile?
4 thefull PPIC study." 4 A It'sthe other way around: whether teachers who
5 Do you see that? 5 movealot produce good gains or worse gains.
6 A ldo. 6 Q And what's your understanding of the net of
7 Q Do you recall what you had in mind in terms of 7 those examinations of various proxies? Let's start with
8 the modelsin which teacher qualifications were not 8 experience.
9 datistically significant? 9 MR. CHOATE: Objection; it's vague and ambiguous.
10 A | don't have the study in front of me, but | did 10 THE WITNESS: Teacher experienceis one of the
11 read the study and read through some of the modeling 11 stronger explanatory variables among the set of teacher
12 results, and some of the models had a statistically 12 variables to explain outcomes.
13 insignificant factor on the impact of teachers. 13 BY MR.JACOBS:
14 Q Now, do you believe -- based on your overal 14 Q Credentialing?
15 experience having been educated and having studied 15 A My own work and the work of others that come out
16 educationa empirical results and other kinds of 16 inapretty different place about teacher credentialing.
17 educational outputs, what is your judgment as to the 17 Going back to the Harvard studiesin the early
18 importance of skilled teaching to student performance? | 18 '80s, there's a pretty significant body of knowledge that
19 And| deliberately used the word "skilled" teaching as 19 saysthat credentialing in and of itself is not a strong
20 opposed to "credentialed” teaching or years of teaching. | 20 or statistically significant predictor of education
21 Skilled teaching. 21 outcomesfor kids.
22 MR. CHOATE: Objection; vague and ambiguous, 22 Q And running it to the current date?
23 incomplete hypothetical. 23 A All the way up through current times.
24 THE WITNESS: It'sdifficult to know what a good 24 Q Now, inthe case of -- let's just go back to
25 teacher is, but agood teacher can be an important 25 experience for aminute. In the case of experienced
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1 teachers, the value-add or the production-function 1 weexplored afew minutes ago in the first sentence of
2 contribution levels off after a certain number of years 2 thelast paragraph on paragraph -- on page 9.
3 of experience, correct? 3 A I'msorry. Say that again.
4 MR. CHOATE: Vague and ambiguous. 4 Q Last paragraph, first sentence.
5 THE WITNESS: That's correct. We call that 5 A Yes
6 asymptotic. 6 Q "Thepoint isreinforced by my own research
7 BY MR.JACOBS: 7 showing that teacher experience isimportant, but that
8 Q Attheleveling-off stage. Andin the early 8 certification per seis not an absolute requirement for
9 stages, in the early years of ateaching career, it'sa 9 successful teaching.”
10 fairly steep curve, correct? 10 Do you see that?
11 A Remember that we're talking here on averages, 11 A | do.
12 and around each average point there's alot of 12 Q So your research doesn't show that experienceis
13 distribution, but the average effect of experienceis 13 an absolute requirement for successful teaching, correct?
14 steeper inthe early years and then flattens out. And it 14 MR. CHOATE: Objection; vague and ambiguous.
15 depends on whether you're talking about -- the typical 15 THE WITNESS: That experienceis not an absolute
16 waysthat these are measured are in reading and math. 16 requirement?
17 And the flattening points occursin different placesfor | 17 BY MR. JACOBS:
18 those two. 18 Q Right. Experienceis correlated with successful
19 Q What isthe result of the wage examinations? 19 teaching, but it's not an absolute requirement for
20 A I'm not remembering completely what those 20 successful teaching, right?
21 effectswere. | believeit isthe case -- my 21 MR. CHOATE: Objection; vague and ambiguous.
22 recollection of those results are that increasesin wages | 22 THE WITNESS: | wouldn't agree with your
23 did not correlate strongly with strong academic 23 characterization of that.
24 achievement. 24 BY MR.JACOBS:
25 Q And how about National Board certification? 25 Q Experienceisan absolute requirement for
Page 75 Pege 77
1 A To my knowledge, rigorous empirical assessment 1 successful teaching?
2 of that effect is only underway now, and | don't know of 2 A The datawere pretty solid on the fact that the
3 any other studies that have been done that actually 3 first year of teaching is pretty much acrap shoot, but
4 control for that. 4 that thereis, in fact, progression. And if you're
5 Q And how about teacher mobility? 5 looking for the production function that delivers you a
6 A Teacher mobility has been studied. Ballou and 6 solid education outcome for students, then | do think
7 Podgursky has done something. Dick Murnane looked at 7 that experience hasto bein there,
8 mobility in the early days about teacher effectiveness. 8 Q But the data shows that certification does not
9 Teacher mobility is actually negatively 9 needto bein asolid production function; is that
10 associated with student outcomes. 10 correct?
11 Q Moremobility, less performance? 11 A That'swhat my data demonstrated.
12 A That'scorrect. 12 Q And just to get the data -- the set of data sets
13 MR. CHOATE: Objection; vague and ambiguous. 13 here, the datayou're referring to is your Houston study?
14 THE WITNESS: The more times ateacher moves, the | 14 A That iscorrect.
15 worse her students do. 15 Q Solet's spend afew minutes on that.
16 BY MR. JACOBS: 16 MR. CHOATE: I'msorry. I'mgoing to just pop in.
17 Q Andif you had to -- are you able, based on your 17 Canwe just go off the record for two minutes?
18 recollection of these various studies, to rank order 18 MR. JACOBS: Sure.
19 theseproxies? 19 (Recesstaken: 11:12 until 11:14 am.)
20 MR. CHOATE: Objection; vague and ambiguous, 20 BY MR.JACOBS:
21 incomplete hypothetical. 21 Q Let'smark as Raymond 2 your "Teach for America:
22 THE WITNESS: | wouldn't feel comfortable doing 22 AnEvaluation of Teacher Differences and Student Outcomes
23 that. 23 inHouston, Texas" August 2001 paper.
24 BY MR.JACOBS. 24 (Raymond Exhibit 2 was marked.)
25 Q Now, there's this sort of similar dudlity that 25 BY MR.JACOBS:
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1 Q Solet'ssetthisup, first of al. What 1 A I'm not remembering exactly how we handled
2 question were you answering in your Teach for America 2 intra-school mobility. Isthat what you're asking?
3 study? 3 Q Or inter-school-within-district mobility.
4 A  Whether the presence of Teach for America 4 A I'm not recalling how we handled those
5 teachersin alarge urban district produced different 5 observations.
6 academic results than other teachersin that district. 6 Q Andinterms of teachers, these were -- in both
7 Q And by "other teachersin that district," what 7 sets, did you have teachers who had a full period of
8 doyou mean? 8 examination?
9 A The paradigm that we used to frame the 9 MR. CHOATE: Objection; vague and ambiguous.
10 evaluation question was from the point of view of a 10 BY MR.JACOBS:
11 district superintendent who would be contemplating the 11 Q Meaning -- strike that.
12 useof TFA teachersin classroomsin that district. And 12 How long did you -- how long a period did you
13 so the appropriate comparison we thought was, But for 13 useto measure the value added?
14 TFA, what does the profile of teacherslook like? And so 14 A Therewas a-- because of the design of the
15 our analysis used that standard of comparison. 15 study, wetook asnapshot from -- | believe it was '96,
16 Q And what did that lead you to in terms of 16 '97 through 2000. The teacher could be in the school for
17 profiling the aternatives? 17 asshort asayear or aslong asfiveyears, and, in
18 A Welooked at teachersin Houston who werenew to | 18 fact, some of the teachers that are captured in the
19 thedistrict in the same year that the TFA teachers came 19 experienced teacher had been in the district alot
20 tothedistrict, and we looked at the performance of TFA 20 longer. Therewas one teacher, as| recall, that had
21 teachersagainst the entire body of teachersin Houston 21 been there for over 40 years.
22 sothat we did two different comparisons. 22 So that what we did was to isolate the teacher
23 Q And wasthis avaue-added measure? 23 effect within an academic year, and then look at how many
24 A Yes, itwas. 24 years of experience that teacher had at that year. So
25 Q Soyou had, at least for acohort of students, 25 some teachers had large numbers of years of experience,
Page 79 Page 81
1 beginning and ending data? Y ou didn't have it 1 someteachers had small years of experience, some people
2 necessarily one by onein the way that you ideally would 2 had zero.
3 liketo haveit for an API, but you had group data, 3 Q Andyou looked at -- at least you looked at a
4 beginning and ending? 4  full academic year?
5 A No, that'sincorrect. | had individual 5 A Thatiscorrect.
6 student-level data. 6 Q Andinsome casesdid you look at longer periods
7 Q And you measured -- and you kept the student 7 where you had that data for those teachers?
8 group constant for the teacher? 8 A Yes. | wasjust explaining that where -- let's
9 MR. CHOATE: Objection; vague and ambiguous. 9 say aTFA teacher wasin the district for the two years
10 BY MR.JACOBS: 10 of their commitment. We would have ayear one snapshot
11 Q In other words, when you looked at Teacher A, 11 and ayear two snapshot, and those would be counted as
12 you had 25 students -- she had 25 studentsin her class, 12 two separate teacher year observations because the
13 and you looked at that same 25 students at theend of the | 13 experience variable would change from zero in the first
14 study period? 14 year to one year in the second year.
15 A That iscorrect. 15 Q Sotoputit alittle differently, you actually
16 Q Sojusttoaskit alittle differently, If 16 have apretty comprehensive set of data measuring the
17 studentsjoined the classin the middle of the year, you 17 relationship between teacher years of experience and
18 excluded them from the study group? 18 teacher value added for at least a one-year period in a
19 MR. CHOATE: Objection; mischaracterizes the 19 particular school district, correct?
20 testimony. 20 MR. CHOATE: Objection; vague and ambiguous.
21 THE WITNESS: If the student had no prior test 21 THE WITNESS: I'm not sure whether it's easier to
22 scoreswithin the district, we excluded the student. 22 try toexplainit to you in terms of the way the model
23 BY MR.JACOBS: 23 wasstructured or in terms of the way the database was
24 Q But if the student moved around from teacher to 24 structured. So maybe we'll have to do it both ways and
25 teacher, you didn't exclude the student? 25 seeif that fits.
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1 BY MR.JACOBS: 1 since the study was released, and my agreement is| have
2 Q | think | was asking a database question, that's 2 toturn things back to them. That's -- | don't have an
3 correct. 3 optiononthat. The next time | negotiate using their
4 A Okay. Weactually have -- therecord isa 4 data, | will have adifferent outcome on that particular
5 student record, and we are able to link a student record 5 factor, but --
6 inagiven year showing that student's gain score with 6 Q | hear you.
7 the characteristics of the teacher that that student had 7 But just to the best of your knowledge, just so
8 that year. 8 wedon't take the wrong approach with the school
9 The effective modeling equation panelizes 9 district, the PII, the personally identifiable
10 teacher experience. In other words, ateacher can show 10 information has been removed from your data set, correct?
11 upinthe database -- let usjust say she always has 25 11 A That's correct.
12  students. She'll show up 25 times for every year that 12 Q Asyou understand the situation with that data,
13 sheteaches, but her record -- there's no such thing asa 13 doyou have any concerns about it being shared?
14 singleteacher record. 14 A Theonly thing that | am alittle bit concerned
15 Q [It'srather 25 student records that are 15 about isthat there's an aggregation problem with the TFA
16 associated with that teacher? 16 identifying information. Because the TFA teachers are
17 A That's correct. 17 distributed very widely across Houston schools, it's
18 Q And this -- the source of the database was what? 18 pretty easy to figure out --
19 A Wewere allowed access to two different 19 Q --whoiswho?
20 databases that were merged for the purpose of this 20 A Yeah
21 andysis. Wewere given the Texas Schools Project 21 Q Sowould it affect the ability to analyze the
22 Student Level Database for Houston, and we weregivena | 22 dataif the school identifying information was removed?
23 database of the names and identifiersfor all the TFA 23 A Oh, absolutely. Absolutely. We did actually
24  teachersthat taught in Houston over the years of study. 24 something called "fixed school effects' in some of the
25 Q Sothat because the one dlice -- additional 25 anayses. Thisgoesto theideathat there are factors
Page 83 Page 85
1 dliceyou needed to make through that data was to 1 that are not captured in the particular variables that we
2 associate TFA status with the teachers that were 2 look at that may, in fact, influence the performance of
3 associated with the students? 3 teachersin schools or studentsin schools.
4 A That's correct. And we did not do that merge. 4 And the way that you take alook at that is you
5 Wewere not allowed to do that merge. That was done by 5 do something called a "fixed school effects." Soyou
6 the student -- Education Services Center Number 10in 6 exclude adummy variable for each of the schoolsin the
7 Texas, and then the identifying information was purged 7 district, and that tends to absorb any unique variation
8 and we were delivered a non-identifiable but linked data 8 outcomesthat are attributed exactly -- if there's
9 st 9 correlation across al the studentsin a school, that
10 Q Now, that database, have you made that available 10 factor will capture that.
11 through counsdl to us? 11 Q Butit'saunique dummy for each school, isn't
12 A No, I'm not allowed to release that data. The 12 it?
13 usage requirement that | have with the University of 13 A That's correct.
14 Texas, Texas Schools Project was that | was allowed to 14 Q Sowhy do you need to know the name of the
15 usethat database for the purposes of this analysis, but 15 school? Why can't the identifying information about the
16 that | was not allowed to share it beyond my usage. 16 school be masked from the researcher?
17 | referred everybody back to UTD; gave you the 17 A I'msorry. | didn't understand that that's what
18 namesand the telephone numbers of the peopleyou needto | 18 you were asking. | thought you were asking if you could
19 talkto, and -- well, | provided that to my attorneys. 19 aggregate up to groups of schools. That wasn't your
20 But that information has been shared. Andyourewelcome | 20 question?
21 togoandtak tothefolksat UTD. 21 Q My guestion was, Could we mask the identifying
22 Q Youwouldn't have any problems if we made those 22 information about the school in the way that you --
23 cals? 23 A It aready is masked.
24 A Infact, | haven't made those calls on any of 24 Q So how would you -- what's the concern then
25 thisdata. I've been asked for this data repeatedly 25 about being able to trace back to identifying the Teach
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1 for Americateacher if you can't identify the school ? 1 surel'm not missing a sentence here -- to summarize the
2 A It'still possible -- 2 results of the comparison against the "all other teachers
3 Q --toreverse-engineer by number of students or 3 inthedistrict,” meaning all non-TFA teachersin the
4 some other data about the school? 4 district, regardless of years of experience?
5 A Right. 5 MR. CHOATE: Objection; vague and ambiguous.
6 Q Sowhen you actually ran the data then through 6 THE WITNESS: Could you repeat the question? I'm
7 your models, you sorted the other teacher data into two 7 sorry.
8 groups, correct? New teachers and all other teachersin 8 (OThe record was read as follows:
9 thedistrict regardless of years of experience? The 9 "Question: So did you mean in your expert
10 non-TFA teachers were so sorted? 10 report to summarize -- and you can look
11 A All teachers, including the TFA teachers. 11 front or back just to make sure I'm not
12 Q Your report saysthat, Roman X1, TFA teacher 12 missing a sentence here -- to summarize the
13 performance was compared against two groups. other new | 13 results of the comparison against the 'all
14 teachers who did not participate in TFA, and all other 14 other teachersin the district,' meaning al
15 teachersinthe district, regardless of years of 15 non-TFA teachersin the district, regardless
16 experience. 16 of years of experience?")
17 MR. CHOATE: Michael, where are you pointing to? 17 MR. CHOATE: Same objection.
18 What exhibit? 18 THE WITNESS: This sentence only speaks to new
19 MR. JACOBS: Roman X| of Raymond 2. 19 teachers.
20 THE WITNESS: | see where the confusion is. All 20 BY MR.JACOBS:
21 other non-TFA teachersin the district. Were you clear 21 Q So, in summary, what were the results against
22 onthat? 22 dll other teachersin the district, regardless of years
23 BY MR.JACOBS: 23 of experience?
24 Q That'stheway | understood it. 24 A You'l find those results on Table A in X1V of
25 A Okay. Yes. 25 the TFA report, Exhibit 2.
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1 Q And by "new teacher," did you mean -- what did 1 Q Canyou explain that table?
2 you mean by "new teacher"? 2 A Thistable examines-- I'm sorry. Thistable
3 A Someone who was in their first or second years 3 presentsthe results of the modeling that we did on the
4 of teaching. 4 dffect of the -- of being a TFA teacher versus not being
5 Q And did you match first-year TFA to first-year 5 aTFA teacher in two separate models. Acrossthe first
6 non-TFA, or did you aggregate first and second-year TFA 6 row, the comparison group was new teachers. Acrossthe
7 andfirst and second-year non-TFA? 7 bottom row, it'sagainst al other teachers.
8 A Themodel controlsfor that by years of 8 And we examined those combinations for
9 experience. Sowewere going head to head by TFA -- TFA 9 eementary school and for middle school.
10 zero versus new zero, TFA one versus new one. 10 Q And can you explain the data that's presented?
11 Q Soonpagel0-- 11 A The numbersthat appear in the table are
12 A I'msorry. 10 of what? 12 percentages of a standard deviation, and these numbers
13 Q Sorry. Of your expert report. Actually, let me 13 measure how much more positive TFA teachers were than
14 dtart over, so strike that. 14 their comparison groups on average.
15 At the bottom of page 9 you summarize your 15 Q Sotakethefirst line, TFA versus other new
16 research results and say, "By examining the performance 16 teachers. In elementary reading, it's showing that the

NINNNNDNDNE PR
G WNRELOOOW-N

of Teach for Americateachers (who enter the classroom
without traditional or aternative certification)
compared to other new teachers in the Houston Unified
School District, the study showed TFA teachers on average
did aswell or better than their peers.”
Do you see that?

A | do.

Q Sodid you mean in your expert report to
summarize -- and you can look front or back just to make

NNNNNDNERE P
OB WNREPOOO-N

TFA teachers did 5.8 percent of one standard deviation
better in adding value than the other new teachers?
A Inayear; that's correct.
MR. CHOATE: I'msorry. Could you read back the
guestion and the answer, please?
(The record was read as follows:
"Question: So takethefirst ling, TFA
versus other new teachers. In elementary
reading, it's showing that the TFA teachers
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1 did 5.8 percent of one standard deviation 1 Q Now, aside from Linda Darling Hammond's
2 better in adding value than the other new 2 critique, have there been any other critiques to this
3 teachers? 3 study to which you've looked at and thought about your
4 "Answer: Inayear; that's correct.") 4 responseto?
5 BY MR.JACOBS: 5 A Yes, I'maware of three.
6 Q Andwhen you use 5.8 percent or a percentage of 6 Q Canyoujust list those first and then go
7 astandard deviation, explain the statistics of that. 7 through them one by one?
8 Why areyou using that as the measure? 8 A Sure. The National Board AACTE, the American
9 A One, that's a standard that's used in this kind 9 Academy of Colleges of Teacher Education, and then | am
10 of anadysis. And soin order to provide a degree of 10 aware of one study out of Arizona State University. |
11 comparability to other similar studies, you want to be 11 don't recall who the author was.
12 ableto compare on similar dimensions of measurement. 12 Q Not Berliner?
13 And two, because we were looking at gain scores, 13 A | think | would have remembered if it was
14 it's necessary to standardize the gain score in ayear. 14 Berliner. | don't think it was.
15 Testsfrom year to year differ dightly but enough that 15 Q That was my guess, too.
16 you want the distributions of student scores to be 16 So Arizona State.
17 standardized so that you can make equivalent comparisons 17 A It appearsin the online journal that ASU hasin
18 overtime. 18 their school of education, and you can find it there.
19 So the measurement of the student outcome was 19 Q What was the analysis that the National Board --
20 standardized, and therefore all of the information 20 what was the conclusion of the National Board analysis?
21 distributes along standard deviations. 21 A That you had to reject the study because of the
22 Q Now, in your paper you noted at page 10 -- 22 college degreeissue.
23 sorry. Inyour expert report at page 10 you noted that 23 Q Any other critiques?
24  there was an issue that Linda Darling Hammond focused on, | 24 MR. CHOATE: Vague and ambiguous.
25 which was the question of whether the Houston teachers 25 THE WITNESS: No. Theentire-- the entire release
Page 91 Page 93
1 werein substantial number without college degrees. Do 1 wasabout thisissue, completely ignoring the fact that
2 you seethat? 2 college degree didn't factor into the model at all.
3 A | do; page 10. 3 BY MR.JACOBS:
4 Q Canyou just point meto where the -- wherein 4 Q | assume that what they were saying, from what
5 your Teach for America study, Raymond 2, that issue s -- 5 you were saying, is that that was an explanation for the
6 orthat datais presented? 6 differencein performance?
7 A You'l find that on page 16, graphic 2. 7 A Thatis probably their point, but it wasn't very
8 MR. CHOATE: 16? I'm sorry? 8 waell made.
9 THE WITNESS: Graphic 2. 9 Q Andwasthat thefirst time-- arethesein
10 BY MR.JACOBS: 10 chronological order, these three?
11 Q And have you presented arevised Graphic 2 11 A Yes.
12 that's corrected? 12 Q Wasthat what led you to go back and figure out
13 A That'sapart of this-- 13 whether there was an error in the college degree data?
14 Q No; generaly, anywhere. 14 A No. We actually spent atremendous amount of
15 A Weve certainly talked about it at conferences, 15 timeon that variable before we rel eased the study
16 but we have not provided or distributed a corrected 16 because we triangulated the numbers that we had that
17 graph. 17 appear in thisreport. We asked the folksat UTD,
18 Q Andwhat isthe corrected data, do you know? 18 University of Texas at Dallas, to corroborate it. We
19 A It'smy understanding that in '99 and 2000 that 19 thought maybe there was amerging error on our part.
20 the number of non-TFA teacherswith at least abachelor's | 20 We went to some state-level data that exists at
21 s 100 percent. 21 Austinto seeif we could corroborate it, and we tried to
22 Q Andfor '96 and '97, isit your understanding 22 verify it through contacts with Houston Independent
23 the data presented were correct? 23 School District. And we actually got two different
24 A To the best of our ability to go back that far, 24 answers out of Houston. The front office said every
25 that'swhat we understand. 25 singleteacher has a bachelor, and the back office said
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1 those are what our numbers are saying. Andthe UTD data 1 page5 of your Teach for Americastudy -- "All TFA
2 gave usthe same numbers and the Texas Education Agency 2 teachersin Houston meet together once a month to discuss
3 numbers were sufficiently ambiguous that we couldn't tell 3 thepractical aspects of teaching," et cetera. Do you
4 whether they were measuring the same thing. 4  seethat?
5 So after some considerable debate internally, we 5 A Yes
6 decided to go with what the numbers said. And it wasn't 6 Q And was that meant to distinguish some program
7 until aformer executive of Houston, who is now with the 7 for the TFA teachers from the non-TFA new teachers?
8 Department of Education in Washington, asked for a 8 A Thatiscorrect.
9 presentation on this report that she raised the 9 Q And were there any other support structuresin
10 possibility that there could have been -- that there was 10 placefor TFA teachersthat were not in place for non-TFA
11 achangein the MIS system and that there could be a 11 teachers?
12 possible glitch there, and that's what gave us 12 MR. CHOATE: Objection; vague and ambiguous, calls
13 information that we could use then to go trace back what 13 for speculation.
14  redly happened. 14 THE WITNESS: | know of no other.
15 Q And didyou, in fact, confirm to your 15 BY MR.JACOBS:
16 satisfaction that the data you just mentioned afew 16 Q And how about the initial induction into TFA
17 minutes ago is the correct data? 17 versusthe non-TFA teachers? When you start TFA, you're
18 MR. CHOATE: Objection; vague and ambiguous. 18 given some training and teaching, correct?
19 BY MR.JACOBS: 19 A Thatis--
20 Q Oristherestill aquestion in your mind about 20 MR. CHOATE: Objection; compound.
21 that? 21 THE WITNESS: All new TFA teachersreceive an
22 MR. CHOATE: I'm not sure what datawe're talking 22 induction program.
23 about. I'msorry. 23 BY MR.JACOBS:
24 MR. JACOBS:. The hundred percent in recent years. 24 Q Did you have knowledge of what induction program
25 THE WITNESS: The value of these two columns. 25 thenon-TFA teachers went through? Non-TFA but new
Page 95 Page 97
1 One of the toughest things about being a 1 teachers.
2 researcher is at some point it becomes data and you have 2 A It'smy understanding that that is handled at
3 togowith what you have. So if someone were telling me 3 theindividua school level and that some schools
4 that the data were wrong and now they'reright, | have no 4 encourage their new teachers regardless of their
5 way of verifying that. 5 certification status to comein starting afew weeks
6 BY MR.JACOBS: 6 early. And some schoolsarefairly organized about
7 Q Didyou look at the -- it would seem that this 7 orienting them and some are not.
8 would be atopic that would be covered in hiring criteria 8 Q Now, asto the comparison with the "al other
9 for the district, whether you have a bachelor's degree or 9 teacher group,” that group did not exclude the other new
10 not. No? 10 teachers, correct?
11 MR. CHOATE: Objection; callsfor speculation. 11 MR. CHOATE: Objection; vague and ambiguous.
12 THE WITNESS: | don't have enough information about | 12 MR. CHOATE: The other non-TFA teachers?
13 the particular hiring practicesin Houston to know 13 MR. JACOBS: Right. | should just ask it again.
14 whether that is observed rigidly or in the breach. | 14 Q Youcompared the TFA teachers against other
15 cantell you that it's observed in the breach in many 15 similarly experienced teachers as one comparison,
16 other districts. 16 correct?
17 BY MR.JACOBS: 17 A Say that part again, please.
18 Q Now, you mentioned that the TFA teacherswerein 18 Q TFA teachers against other similarly experienced
19 the ACP program. 19 teachers or similarly inexperienced.
20 A The Alternative Certification Program operated 20 A Isthat what you're calling the new group?
21 by Houston. 21 Q Yes
22 Q Wasthat also true for new non-TFA teachers? 22 A Okay.
23 A All teachersthat are hired in Houston without 23 Q And then you compared it to the "all other”
24 full certification are required to participate in ACP. 24 group, you compared TFA to "dl other,” correct?

N
(631

Q And then in addition to ACP -- I'm reading from

25

A That's correct.
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1 Q And"al other" included the new non-TFA 1 youcoulddothat. If you aggregated across the whole
2 teachers? 2 district, for example, you could do that.
3 A Yes, | believe that's the case. 3 Q That'swasjust where | was going. The small
4 Q Did you run acomparison with al other teachers 4 number problem isif you limited it to a school-by-school
5 inthedistrict exclusive of other, quote, "new," 5 anaysis?
6 unquote, teachers? 6 MR. CHOATE: Objection; incomplete hypothetical .
7 MR. CHOATE: Objection; vague and ambiguous. 7 BY MR.JACOBS:
8 THE WITNESS: | don't believe we did. 8 Q Correct?
9 BY MR.JACOBS: 9 A I'mjust thinking. Let me check a number before
10 Q Didyou run acomparison -- did you run any 10 | answer that.
11 comparisons that showed -- that sliced the "all other 11 ([O1Brief pause.)
12 teachers' group in any way by your -- strike that. 12 MR. CHOATE: Takeyour time.
13 Did you construct any modelsin which the "all 13 THE WITNESS: | don't think it's here.
14 other teachersin the district" group was disaggregated 14 Well, I'll tell you what my concernis, and then
15 inany way? 15 you can -- | don't have any number here to illustrate it,
16 MR. CHOATE: Objection; vague and ambiguous. 16 but my recollection was that the middle school analysis
17 THE WITNESS: Well, the model does disaggregatethem | 17 that the five years of -- that there weren't any TFA
18 insevera ways. It does disaggregate them by years of 18 teacherswith five years of experience, so it would bein
19 experience and it does disaggregate them by school. 19 middle schoolsthat al of the TFA teachers who remained
20 BY MR.JACOBS: 20 past their two-year commitment were elementary school
21 Q The model meaning the data model now, right? 21 teachers.
22 A That's correct. 22 So what I'm concerned about isthat you're
23 Q Sodid you run any analyses that showed -- that, 23 blending TFA and experience in amiddle school model.
24 for example, took the TFA teachers and ran them against 24 BY MR.JACOBS:
25 five-year-experienced teachers or 25 Q Meaning they may no longer be distinct as TFA's
Page 99 Page 101
1 five-to-ten-year-experienced teachers? 1 inthe-- no, you got data so that oncea TFA, awaysa
2 A You're meaning in ahead to head? 2 TFA for purpose of your tagging, right?
3 Q Yes 3 A That's correct.
4 A No. 4 Q So, let'ssee. We covered the National Board.
5 Q That could be done? 5 What wasthe analysis of the AACTE?
6 A I'm pretty sure you could do it at the 6 A Part of the recommendations of our report were
7 elementary level, but you'd have to -- but you'd have a 7 that schools of education had a positive market
8 problem with -- you'd potentially have a problem with 8 opportunity to think more creatively about how to prepare
9 small numbers that might mess up your results. And | 9 teachersin order to both increase the quality and
10 don't think you can do it at the middle school level. 10 increase the supply of good teachers, and that there were
11 Q Because? 11 anumber of different suggestions that we put into the
12 A Because middle school teachers tend to bounce 12 recommendations section that they took issue with.
13 more, and so they bounce between middle school and high 13 Q They didn't -- to the best of your recollection,
14 school and then bounce back. And so you might not get 14 they didn't take issue with the data you reported?
15 fiveyearsof middle school experience, and you wouldn't 15 A | think they -- they aso took their turn with
16 know from the years of experience whether it was 16 that on the college degree issue, if my memory serves,
17 continuously middle school or not. 17 but the focus of theirs was that we weren't qualified to
18 Q Would you know total years of experiencein 18 tell them how to do their business.
19 teaching? 19 Q And the Arizona State analysis?
20 A | believeso. | believeso. Andif you were 20 A We barely made it above the water linein that
21 willing to eat the bias that you got -- 21 study. That study took alook at Arizona public schools
22 Q Meaning bias from the fact that they may be 22 and purported to do a case control study of the impact of
23 severa years of high school experience? 23 having a TFA teacher on the Arizona State tests.
24 A Right. But again, especialy inthe middle 24 And in the literature review, they cited our --
25 school, you'd have some small numbers problems. Butyes, | 25 they cited our study and said that they had sent somebody
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1 to get our data and that we had refused to provide them 1 A Well, my memory isn't all that strong at this

2 thedataset, and accordingly, they would just have to 2 point because this was several years ago, but it was

3 dismissthe entire study because they themselves were not 3 academic degree, teacher profile characteristics, their

4 ableto replicate the results. 4 ethnicity, and don't hold me to this last one, but |

5 Q Sothat'sactually alead-in to my next 5 think it was whether or not they went to a state

6 question, which is, Aside from re-running the Houston 6 university -- apublic university or aprivate

7 data, have there been other studies that have attempted 7 university. There was something about an education

8 to verify in other localities the results that you 8 factor there.

9 reported? 9 MR. CHOATE: Let'stakea-- I'msorry. Let'stake
10 MR. CHOATE: Objection; callsfor speculation. 10 aquick break in a second.
11 THE WITNESS: Mathematica Policy Research basedin | 11 MR. JACOBS: Actually, | can finish up in a second.
12 Princeton and Washington, D.C. has been conducting a 12 MR. CHOATE: | just want to take a quick break for a
13 multi-year random assignment evaluation of TFA. 13 second, and then we'll finish up.
14 BY MR. JACOBS: 14 THE WITNESS: Okay.
15 Q Any initia results? 15 (Recess taken: 12:01 until 12:02 p.m.)
16 A Not that I've been privy to. 16 BY MR.JACOBS:
17 Q And-- 17 Q Haveyou published or reported publicly a
18 A | think thisisthe -- | think it'sthis 18 critique of the Arizona State study?
19 spring's data that defines the end point of the testing 19 A No, | have not.
20 period. 20 Q And back to Houston for aminute. Would it be
21 Q Any others? 21 possible to run a comparison of the TFA teachers against
22 A Wédll, the Arizona State one that | just 22 new credentiaed teachers?
23 mentioned. 23 MR. CHOATE: Objection; incomplete hypothetical.
24 Q What did it conclude? 24 THE WITNESS: Could you read the question back,
25 A Their conclusion was that TFA had -- TFA 25 please.

Page 103 Page 105

1 teacherswere associated with lower student performance 1 (CThe record was read as follows:

2 on state tests by comparing those results -- TFA results 2 "Question: And back to Houston for a

3 toaselect control group. 3 minute. Would it be possibleto run a

4 Q Theselect control group's composition was what? 4 comparison of the TFA teachers against new

5 A Really messed up. They did amatching criteria 5 credentialed teachers?')

6 that said we will pick -- wewill pick teachersin the 6 THE WITNESS: Not based on the data set that we

7 same school if we can find one that looks likea TFA 7 have

8 teacher, but if we can't find one that looks likea TFA 8 BY MR.JACOBS:

9 teacher, then we have this sort of hierarchical selection 9 Q Andwhy isthat?
10 criteria. So we then go up to the district, and if we 10 A Wefound alot of problems with the
11 can't find anybody that looks like that teacher in the 11 credentialing variablesin the data set. If ateacher
12 district, then we go to the county. And if we can't find 12 acquired credentials after they started teaching, we had
13 anything in the county, then we go to the state. 13 noway of knowing if they did or when they did, so that
14 But the criteria that they used differed by each 14 it was ahaphazard sample.
15 hierarchy. Soif they could find somebody in the 15 Q But against new credentialed -- new teachers who
16 district, that was a pretty -- you could still argue 16 were credentiaed, the data would be reliable?
17 about whether a match sampleis agood way to go. But 17 MR. CHOATE: Objection; vague and ambiguous.
18 let'swishthat away. If they couldn't find amatch 18 THE WITNESS: | didn't look at that particular slice
19 sample within the district, then it was just an 19 of the data set as a stand-al one matter.
20 incrediblelatitude. They could pick anybody they wanted | 20 BY MR. JACOBS:
21 tobethe case-- to bethe control. Excuseme. And if 21 Q Youdon't have a problem with that, with new
22 you look at the distribution of the controls, it looked 22 teachers and their credentialing status as opposed to
23 implausible that they would have been randomly selected. | 23 teachers who got credentialed along the way?
24 Q And by -- in the characteristics that were used 24 A That'snot correct. |If the teacher had their
25 todo the match? 25 credential in hand when they applied to the school, that
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1 informationisreliable. There were teacherswho did not 1 Q Onthe TFA website? It hasthe correction?
2 passtheir certification test in the time between the 2 A Weéll, they did. They changetheir site
3 timethey were hired conditionally and the time they 3 periodically, but the last that | knew of it, under the
4 dtarted teaching who took a subsequent test, and | don't 4  study description was also the clarification.
5 know thereliability of those data. 5 Q And was that something that you had written?
6 Q Sowhat you could potentially do is compare TFA 6 A No. Thedirector of research at TFA had written
7 teachers against the new teachers who were credentialed 7 it
8 onthe start -- as of the start date, meaning they had 8 Q Had you approved it?
9 passed the test, but not against those who might have 9 A That'stoo strong.
10 become credentialed after the start date because that 10 Q Whenyouread it, did you say, "I agree with it"
11 latter data set is unreliable? 11 toyourself?
12 MR. CHOATE: Objection; compound. 12 A Yes
13 THE WITNESS: I'm not even comfortable saying that 13 Q Andyoudidn't takeit -- you didn't have any
14 thefirst half of your data set isreliable. 14 problemswith the way he characterized the issue?
15 BY MR.JACOBS: 15 A No.
16 Q Just because you just don't know? 16 Q And isthere anything that you've generated in
17 A | just don't know. 17 writing that explains this data issue?
18 Q On page 10 where you in your parenthetical say, 18 A No, | haven't written on the subject since that
19 "Nonetheless, the erroneous figures are mentioned by 19 report.
20 Dr. Darling Hammond with zeal each time she discussesthe | 20 MR. JACOBS: Okay. Why don't we break for lunch?
21 report." 21 (ORecess taken: 12:08 until 1:17 p.m.)
22 Do you see that? 22 BY MR.JACOBS:
23 A |do. 23 Q Moving through pages 9 and 10 of your report
24 Q Wereyouintending to convey that before she 24 @gain --
25 read the expert report, she should have known that the 25 MR. CHOATE: Thisisthe expert report, Michael ?
Page 107 Page 109
1 college degree datawasincorrectly reported in 1 MR. JACOBS: Yes. Sorry. I'll try and be clearer.
2 Exhibit 2? 2 Q Theissueyou are wrestling with thereisthe --
3 A That iscorrect. 3 iswhether credentialing is astrong factor in a
4 Q And based on what? 4 production function, correct?
5 A Based on attendance and conferences. Based on 5 MR. CHOATE: Objection; mischaracterizesthe
6 conversations between her and other researchers, 6 witnessstestimony. It's vague and ambiguous.
7 between -- a conversation between her and her dean, and 7 THE WITNESS: Could you rephrase the question,
8 a--what | would call alevel of community knowledge 8 please?
9 around Stanford. 9 MR. JACOBS: Want to just read it back?
10 Q Maeaninginthelast -- in the last case that the 10 ((JThe record was read as follows:
11 community is aware of the error or the community isaware | 11 "Question: Theissue you are wrestling with
12 that Linda Darling Hammond should know of the error or 12 thereisthe -- iswhether credentialing is
13 both? 13 astrong factor in a production function,
14 A I'mgoing to say both. | gave aseminar at the 14 correct?")
15 school of education in the last year where this was an 15 MR. CHOATE: Same objections.
16 extended topic of conversation, and several of her 16 THE WITNESS: Rather, it'sthe lack of certification
17 graduate students were in attendance at the seminar. 17 and its relationship to successful teaching.
18 Thereare-- | think enough time has gone by since this 18 BY MR.JACOBS.
19 information was made public that it is unlikely that she 19 Q Solwanttoputitindightly moreforma
20 doesn't know about it. 20 termsthan using your production function terminology.
21 Q Andif | wanted to find the -- in your judgment, 21 If something is a strong factor in an education
22 thesingle best explanation that you've given of the data 22 production function, then it is closely correlated with
23 error and the correction to the error, where would | find 23 student outcomes, correct?
24 that? 24 MR. CHOATE: Objection; incomplete hypothetical,
25 A | believeit's on the TFA website. 25 vague and ambiguous.
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1 THE WITNESS: The question centers on whether the 1 report, familiarize yourself with what Mr. Jacobs may be
2 possession of certification correlates strongly, but it 2 asking, you can take the time to look at the report if
3 asoisthe case that the absence of certification has 3 you think you need to do so.
4 itsown characteristics. 4 THE WITNESS: | guessit goes back to how -- how
5 BY MR.JACOBS: 5 gpecific hewantsto go into thisstudy. And if he's
6 Q What do you mean? 6 going to be asking really detailed questions about
7 A Onacompletely hypothetical level, if you find 7 methodology or the data or the results, I'd probably want
8 that the presence of -- the holding of a certificate for 8 sometimeto refresh my memory.
9 teaching doesn't necessarily have a strong association 9 BY MR.JACOBS:
10 with student outcomes, the converse, that the lack of an 10 Q Widll, I'mrealy -- you referred to it in your
11  education credential, would be expected to have the 11 report, so | wanted to understand your understanding of
12 inverserelationship. 12 theoveral conclusions of the report, of the PPIC study.
13 And the policy question that was being worked in 13 MR. CHOATE: I'll just object that it's vague and
14 the TFA study was the absence of a credential for the TFA 14 ambiguous, to the extent there's a question pending.
15 teachers. We weren't qualified to say whether all the 15 THE WITNESS: Their study wanted to look at the
16 other teachers were certified or not certified. We were 16 marginal changein the number of studentsin a classroom
17 only ableto say that the TFA teachers were not. 17 and seeif that particular factor was significant in
18 Q Inthe paragraph on page 10 that starts, 18 determining student outcomes.
19 "Darling Hammond ignores another study released by PPIC." 19 As part of their analysis, they also measured
20 Do you see that? 20 teacher characteristics and included those in the model.
21 A Yes, the Jepsen/Rivkin study. 21 And the portion of their study that | drew upon in my
22 Q Solet'stakealook at that study for afew 22 report focused on the relative strength of teacher
23 minutes. We'll mark this as Raymond 3. Thisis"Class 23 qudification.
24 Size Reduction, Teacher Quality, and Academic Achievement | 24 BY MR. JACOBS:
25 in California Public Elementary Schools." 25 Q And by "relative strength of teacher
Page 111 Page 113
1 (Raymond Exhibit 3 was marked.) 1 qudlification,” you mean strength in its correlation with
2 BY MR.JACOBS: 2 student performance?
3 Q Soyou read this study? 3 A That's correct.
4 A Yes 4 Q Did you study and absorb the portion of the
5 Q Andyou understood that this study was aimed at 5 report, the PPIC report that dealt with the impact of
6 ng the impact of class size reductionin 6 classsizereduction on the qualifications of teachersin
7 Cdiforniaelementary schools? 7 Cdifornia public schools?
8 A That'scorrect. 8 MR. CHOATE: Objection; compound, vague and
9 Q And one of the results of the study was to show 9 ambiguous.
10 that because class size reduction led to greater 10 THE WITNESS: | read the entire report at its
11 variationin teacher quality on a school-to-school 11 issuance and drew upon the subset that | just mentioned
12 comparison basis, it wasin some cases hard to see the 12 for my report. | would not say that I'm an expert in the
13 degreeto which class size reduction helped and reduction | 13 study that they performed.
14 inteacher quality hurt overall student performance, 14 BY MR.JACOBS:
15 correct? 15 Q Andif you turn to page 25 and you look at the
16 MR. CHOATE: Objection; assumesfactsnotin 16 certification discussion -- | guessit really beginson
17 evidence, vague and ambiguous, compound. 17 24, but the gist of it from our standpoint is at the
18 THE WITNESS: | do think that you're being pretty 18 bottom of 25 the paragraph reads, "Within each income
19 sweeping in your summary of theresults. Doyouwantto | 19 category, the increasesin non-certification rates from
20 try to narrow that down alittle bit? 20 1995-1996 to 1999-2000 for blacks and Hispanics are
21 BY MR.JACOBS: 21 noticeably higher than for Asians and whites. In
22 Q What's your understanding of the summary 22 1999-2000 over 25 percent of black and Hispanic students
23 conclusions? 23 in high-poverty schools have teachers who lack full
24 MR. CHOATE: WEell, let mejust interject for a 24 certification."
25 second. If you want to take time and look over this 25 Do you see that?
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1 A ldo. 1 Q Soit'shi-variate over time? Isthat the way
2 Q And did you understand this study to be 2 youwould say that?
3 documenting the relationship between the implementation 3 A No, | wouldn't actually call it bi-variate over
4 of classsize reduction and the growing numbers of 4 time
5 teachersin black- and Hispanic-predominant schools or 5 Q What would you call it?
6 high-poverty schools who lack full certification? 6 A Letmegotothetable. ThisisTable 32.
7 MR. CHOATE: Objection; it's vague and ambiguous and 7 If by "bi-variate over time" you say you have
8 the document speaks for itself, and it assumes facts not 8 four isolated snapshots, yes, you do.
9 inevidence. 9 Q And the bi-variate over time analysis shows that
10 THE WITNESS: | would have characterized their study 10 with theimplementation of CSR, at least coincidentally
11 differently than you have. 11 astotime, the number of inexperienced teachers for
12 BY MR.JACOBS: 12 racial minority groups went up significantly, correct?
13 Q How would you do so? 13 MR. CHOATE: Objection; vague and ambiguous, assumes
14 A | would have characterized the focus of their 14 factsnot in evidence, and the document speaks for
15 study as analyzing the public policy of class size 15 itsdlf.
16 reduction in Cdlifornia, and among the things that they 16 THE WITNESS: | am unable to put these numbers into
17 wereinterested in was both the impact of fewer students 17 alarger context of understanding other state and local
18 inthe classroom and attendant impacts about teacher 18 decisionsthat may have influenced the increase in
19 characteristics and their effects on student outcomes. 19 non-certified teachers in the classroom, such as
20 Q Andinthelatter -- if you take the second half 20 dlternative certification programs.
21 of your answer, what's your understanding of their 21 So these numbers do increase in magnitude, but |
22 conclusions? 22 don't have a context for understanding what they are.
23 A That the certification status of teachers was 23 BY MR.JACOBS:
24 not as significant afactor in determining student 24 Q Youdon't have a context for moving from
25 outcomes as was teacher experience. 25 correlation to causation? |s that what you mean to say?
Page 115 Page 117
1 Q And asto teacher experience, did class size 1 MR. CHOATE: Objection; mischaracterizes the
2 reduction have an affect on the probability that a black 2 witness's testimony.
3 or Latino child or a high-poverty child would have an 3 THE WITNESS: If you'retelling methere'sa
4 experienced or inexperienced teacher? 4 correlation over time for these proportions, | would have
5 MR. CHOATE: Objection; vague and ambiguous. 5 to agreewith you, but | don't think that that's -- |
6 THE WITNESS: Could you restate the question, 6 don't have abasisfor understanding that that's causal.
7 please? 7 BY MR.JACOBS:
8 BY MR.JACOBS: 8 Q And are you aware of any critiques of the aspect
9 Q Let mepoint you to -- I'll stop asking you 9 of the PPIC study that we have just been focusing on?
10 questions whereit's probably right in the report. If 10 MR. CHOATE: Objection; vague and ambiguous.
11 youlook at the middle of page 23, there's a paragraph 11 THE WITNESS: No, I'm not aware of any.
12 there about the percentage of teachers without experience | 12 BY MR. JACOBS:
13 or with one year of experience. 13 Q And have you personally done a thought exercise
14 MR. CHOATE: Takethetimeto read the document. 14  of critiquing thiswork?
15 THE WITNESS: Mm-hmm. I'm going to read this. 15 MR. CHOATE: Objection; vague and ambiguous.
16 (C'Witness reviews document.) 16 THE WITNESS: | looked at this report when it was
17 THE WITNESS: What | read in this paragraph isa 17 initially released from the standpoint of trying to
18 bi-variable relationship between the distribution of 18 understand the quality of datathat's available to
19 teachers by experience and race. 19 Cdiforniaabout teachers and students, and my initial
20 Q And by "bi-variate" you mean -- 20 assessment of thisreport wasin that context, not in the
21 A You are doing essentialy a cross-tab that shows 21 context of assessing the methodologies that they used or
22 thedistribution by experience by racia groups. 22 theconclusions that they drew.
23 Q Isn'ttherealso alongitudina dimension to it 23 BY MR.JACOBS:
24 interms of time? 24 Q What did you conclude about -- | take it that
25 A Thereisindeed. 25 you were looking at the data that they drew upon in
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1 reaching aqualitative judgment as to that data; is that 1 play arolein the production of good education.”
2 correct? 2 Do you see that?
3 A Thatiscorrect. 3 A | do.
4 Q What was your assessment? 4 Q Andsol takeit that you are saying that they
5 A That California needs to do a much better job of 5 are, athough the empirical evidence -- one might wish
6 collecting consistent measures of students and teachers 6 there were more empirical evidence -- for present
7 and performance than they are currently doing. 7 purposes, you're prepared to agree that these three
8 Q Andwasthisin the context -- just 8 inputs play some rolein the production of good
9 chronologically, were you at the same time thinking about 9 education, correct?
10 thework you were doing on the API study? 10 MR. CHOATE: Objection: Vague and ambiguous.
11 MR. CHOATE: Objection; vague and ambiguous. 11 THE WITNESS: Somerole.
12 BY MR.JACOBS: 12 BY MR.JACOBS:
13 Q Where you were proposing the student achievement | 13 Q And the difference between -- analytically,
14 gains method? 14 there's something in between "essential” and "somerole"'?
15 A No. 15 MR. CHOATE: Objection; vague and ambiguous.
16 Q Just separate? 16 BY MR.JACOBS:
17 A Waéll, it's hard to parse your brain, but one of 17 Q Andthat's called a strong role?
18 thereasonswe want better datain Californiais so that 18 MR. CHOATE: Objection; vague and ambiguous.
19 it would lend itself to more sophisticated analysis. So 19 THE WITNESS: Isthere aquestion in there?
20 I'dhaveto say it'sawaysin mind. 20 BY MR.JACOBS:
21 Q Let'stalk about the bottom of page 10 and top 21 Q I'masking youif that's true.
22 of page of -- well, through the middle of page 11. 22 MR. CHOATE: Read back the question. | don't know
23 MR. CHOATE: Of her expert report? 23 whatitis.
24 MR. JACOBS: Oh -- yes, of Dr. Raymond's expert 24 MR. CHOATE: Objection; vague and ambiguous.
25 report. 25 (The record was read as follows:
Page 119 Page 121
1 Q Sointhemiddle again, there's that word, 1 "Question: And the difference between --
2 "essential." "Regardless, if the three inputs at issue 2 analytically, there's something in between
3 inthiscase were essentia," closed quote. Do you see 3 ‘essential’ and 'some role™?)
4 that? 4 THE WITNESS: I'm redlly sorry. | don't know where
5 A I'mlooking for it. 5 togowith that.
6 Q Pagell. 6 BY MR.JACOBS:
7 A Pagell 7 Q I guessinaway I'm not -- once again, I'm
8 Q Right inthe middle of the page. 8 perplexed that you have -- that having read your work and
9 A Ah. Herewe go. "Regardless." 9 having seen you be rather careful in much of your work
10 MR. CHOATE: I'msorry. Ms. Reporter, canyouread | 10 and moderate about what you say, I'm surprised to see
11 back the question? 11 something so out on the fringe here, such as the idea
12 THE WITNESS: There wasn't aquestion. 12 that the standard is essentialness rather than a strong
13 BY MR.JACOBS: 13 contributor to educationa performance. And | don't know
14 Q The question was, "Do you see that?" 14 where you get that essentialness from.
15 MR. CHOATE: Ah. Okay. 15 MR. CHOATE: There's no question pending.
16 BY MR.JACOBS: 16 BY MR.JACOBS:
17 Q So, where, again, does "essential” come from? 17 Q "By logical reasoning, therefore, one cannot
18 Why did you set that as the standard? 18 accept the validity of the claim that these factors are
19 A 1 did not review Dr. Sobol's primary -- expert 19 essentia."
20 report before coming here today, but my recollection was 20 And the logical reasoning that you engagein
21 that his position had to do with criticality and that 21 thereisthe fact that some students and some schools
22 that waswhat | was addressing. 22 manage to overcome the odds? Do you seethat in the
23 Q Sointhe next paragraph you say, "Thereisno 23 middle paragraph?
24 quibble that the three proposed solutions -- sufficient 24 A Yes, | do.
25 textbooks, quality teachers, and adequate facilities -- 25 Q And| guessmy real questionis, Are those
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1 redly your words or are they alawyer's words? 1 Q Maybeyou could point it out to your counsel.

2 MR. CHOATE: Objection; argumentative. 2 MR. CHOATE: Okay.

3 THE WITNESS: Those are all my words. 3 BY MR.JACOBS:

4 BY MR.JACOBS: 4 Q Andwhy isthat so? Why could it not be

5 Q Let'stalk about your API study for the 39 5 possiblefor Plaintiffs argument to be valid and for 20

6 Plaintiff schools, starting on the bottom of page 11. 6 percent of the schools on the list to have above-median

7 A Yes 7 API's?

8 Q Let'stalk first about how you selected the 8 MR. CHOATE: Objection; compound.

9 schoolsfor examination. 9 THE WITNESS: Could you break that down, please?
10 A These 39 Plaintiff schools? 10 MR. JACOBS: Why don't you just read it back?
11 Q No. I'msorry. 11 (The record was read as follows:

12 A I'mjumping ahead alittle hit. 12 "Question: And why isthat so? Why could

13 Do you know what 39 schools, though, you're 13 it not be possible for Plaintiffs argument

14 examining? 14 to be valid and for 20 percent of the

15 A These were the 39 schools that were named in the | 15 schools on the list to have above median

16 original -- 16 API's?")

17 Q Intheorigina complaint? 17 MR. CHOATE: Same objection.

18 A Theorigina complaint. 18 THE WITNESS: Let's seeif we can break that into

19 Q Not thefirst amended complaint? Doesthat ring 19 pieces. My testimony -- my report is testing the idea

20 abell? 20 that these three factors are significant from a

21 A No, it does not ring a bell. 21 statistical point of view, significant from a magnitude

22 Q Sothereason werelooking at this question is 22 point of view, and higher priority than other factors.

23 thatif you go to the table of schools -- 23 Andthe exercisethat | did assumesthat if al three of

24 A Table1? 24 those conditions were met, that the distribution of these

25 Q Doesit haveanumber? Table 1. It differs 25 educationally challenged schools compared to all the
Page 123 Page 125

1 fromthelist of schoolsin our complaint, first anended 1 other schoolsin the State of California-- you would not

2 ororiginal. And so were wondering where you 2 find the overlap across the median that you do that is

3 actudly -- did you get that list from counsel -- 3 thefoundation for the subsequent models that we runin

4 A | did. 4 therest of my report.

5 Q --ordidyou createit yourself? 5 BY MR.JACOBS:

6 A No. | got it from counsel. 6 Q Solet meseeif | can rephrasethat in what |

7 Q Wasthat from Mr. Choate in particular? 7 think are your more formal terms.

8 A No. 8 First of al, you understand Plaintiffs to be

9 Q Savaty? 9 arguing that, in brief, textbooks, teacher
10 A Yes, itwas. 10 quadlifications, and facilities are strong factorsin the
11 Q Sothen what you did with thislist isyou 11 educationa production function.

12 analyzed their API'sand you said that eight of the 12 MR. CHOATE: Objection; mischaracterizes the
13 Plaintiff schools are above the State medians for their 13 witnessstestimony.

14 school type. Do you see that? 14 BY MR.JACOBS:

15 A Now we're back to the body of -- 15 Q Correct?

16 Q Yes, page 12. 16 A | characterize their testimony as saying that
17 A Yes 17 they are statisticaly significant and of large

18 Q Sothe conclusion you drew is that -- your 18 magnitude. That doesn't mean necessarily they're
19 conclusion sentence says, "This simply could not be 19 strongly correlated.

20 possibleif the Plaintiffs argument were valid." 20 Q Areyou quibbling with "strong" as opposed to
21 Do you see that? 21 "moderate," or are you quibbling with "correlation™?
22 A Mm-hmm. 22 A I'm quibbling with your use of the word

23 MR. CHOATE: I'msorry. | don't seewherethatis, | 23 "strong."

24 Mr. Jacobs. 24 Q Soyou're saying you understand Plaintiffs

25 BY MR.JACOBS: 25 argument to be that these three characteristics are
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1 contributors to the educationa production function, and 1 lotsof caseswhere that relationship will not hold. |
2 that -- and at what level do you understand Plaintiffs to 2 don't characterize the plaintiffs testimony as saying
3 bearguing they are contributors? 3 thatit's moderate.
4 MR. CHOATE: Objection; compound. 4 BY MR.JACOBS:
5 THE WITNESS: | don't think that that has been 5 Q Butif it'smoderate, then it would indeed be
6 well-established by their argument on an empirical basis, 6 the casethat you could have 20 percent of the total of
7 and, infact, it'smy testimony that thereislittle 7 theschoolsthat | so described above the State median in
8 basisfor determining that at this point, but that they 8 API, correct?
9 areasking for the assignment of an assumption of large 9 MR. CHOATE: Objection; incomplete hypothetical,
10 magnitude on those factors. 10 it'svague and ambiguous.
11 BY MR.JACOBS: 11 THE WITNESS: | don't have the data to be able to
12 Q All right. Assume with me that whether or not 12 speculate on that.
13 thereisempirical research to back up this assertion, 13 BY MR.JACOBS:
14 Plaintiffs are arguing that textbooks, teachers, 14 Q But youwouldn't say -- if | presented you with
15 facilities are strong factorsin the educational 15 that data, you wouldn't say, "Thisisimpossible. There
16 production function. Assume that for aminute. Okay? 16 must be something wrong"?
17 Isthat an assumption you can make? 17 MR. CHOATE: Objection; mischaracterizesthe
18 A Can we have another word other than "strong"? 18 testimony.
19 Q Moderate? 19 THE WITNESS: There also wasn't aquestion there.
20 A I'mtrying to get you off of magnitude 20 BY MR.JACOBS:
21 dimension. You'reusing aword totry toimply a 21 Q Therewas aquestion.
22 quantity, and I'm not sure that | can go with that 22 MR. CHOATE: Wéll, read it back.
23 assumption. 23 BY MR.JACOBS:
24 Q Widll, I'm -- when we started out this morning we 24 Q | asked you what you would say.
25 looked at facilities and we looked at your chart, and 25 A No, you told me | wouldn't say.
Page 127 Page 129
1 facilities, you had concluded, was a moderate factor, 1 Q AmI not correct?
2 correct? 2 MR. CHOATE: Okay. It'svague and ambiguous. |
3 MR. CHOATE: Objection; mischaracterizes's the 3 don't understand the question.
4 witnessstestimony. It's vague and ambiguous. 4 Could you read back the last couple questions?
5 THE WITNESS: In the context of the API study, the 5 BY MR.JACOBS:
6 availableinformation about facilities suggested, at 6 Q Let'sjust start it over again.
7 best, amoderate association. 7 You say, "This simply could not be possible if
8 BY MR.JACOBS: 8 theplaintiffs argument werevalid." Tell me again why
9 Q So assume with me for aminute that Plaintiffs 9 you believeit's not possible for eight of the Plaintiff
10 are proposing that facilities, textbooks, and teachers 10 schoolsto be above the State median for their school
11 aremoderate in the way that you use that word in your 11 typeif Plaintiffs argument is valid?
12 API study, and assume with me that empirica research 12 A It's my understanding that the schools that were
13 provesthat to be the case. 13 chosen asthese -- that the students who were the
14 Isit nonetheless possible for there to be eight 14 plaintiffsin this case were from schools that had
15 schoolsin which the value of that factor, in terms of 15 deficitsin the areas that this case advances.
16 itspresencein the school islow, to be above the State 16 And so | look at the 39 schools and say there
17 medians for their school type on the API? 17 aredeficits across this population, and 39 schools out
18 MR. CHOATE: Objection; it's an incomplete 18 of the 10,000 schools for which we have API information
19 hypothetical, it assumes facts not in evidence, it's 19 in Cdifornia could have been expected, if those three
20 vague and ambiguous, and | think it's compound al so. 20 factorswere -- had the importance that Plaintiffs
21 If you understand the question, you can answer 21 expected them to have -- would be clustered someplace not
22 it 22 around the mean, but below the mean.
23 THE WITNESS: The problem gets more severe by using | 23 The mean includes schools that are not included
24  theword "moderate,” not less. If it'samoderate 24 inthis case that have a distribution of scores that
25 association, then you automatically assume that there's 25 reflect al of the schoolsin the state. And if 20
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1 percent of the schools that are being described in this 1 THE WITNESS: Unfortunately we have no way of
2 casejump the median, then | find that pretty compelling 2 testing the reliability of the API at thistime.
3 that the associations that are implied in Plaintiffs 3 BY MR.JACOBS:
4 casecan't bethe strong -- your word -- strong 4 Q WEél, isit not true that you said on or about
5 associations that we would be led to believe. 5 August 11th, "I just don't think the API is accurate.
6 Q Didyou consider alternative hypotheses that 6 It'snot an accounting of what they're doing with all
7 would explain strong association, existence of deficits, 7 studentsin the school"?
8 but above median APIS? 8 A Thatis, infact, my quote.
9 MR. CHOATE: Objection; it's vague and ambiguous, 9 Q So, at that point you were prepared to say the
10 assumesfacts not in evidence. 10 APl isinaccurate, correct?
11 MR. JACOBS: What's vague and ambiguous about it, 11 A Whichisadifferent question than the one you
12 Mr. Choate? 12 just asked me.
13 MR. CHOATE: The question itself is. 13 Q Wadll, did you say that and were you at that time
14 MR. JACOBS: What's vague and ambiguous about it? | 14 of that belief?
15 MR. CHOATE: Wéll, let'sread it back. 15 A | wasat that time of that belief and | am till
16 MR. JACOBS: No. You can't tell me what's vague 16 at thistime of that belief, but that wasn't the question
17 without reading it back? 17 that you asked me.
18 MR. CHOATE: The question that you asked is vague 18 Q Isit possible that the inaccuraciesin the API
19 and ambiguous. That's my objection. 19 that you have studied explain how you could have
20 MR. JACOBS: But you can't tell mein what way it 20 Plaintiffs' argument valid, even though 20 percent of the
21 is? 21 schoolsin the set that you looked at are above the State
22 MR. CHOATE: If you have aquestion, ask thewitness | 22 mediansfor their school typein API?
23 aquestion. 23 MR. CHOATE: Objection; assumes factsnot in
24 BY MR.JACOBS: 24 evidence, incomplete hypothetical.
25 Q Didyou consider aternative hypotheses? 25 THE WITNESS: No. The problems that exist with the
Page 131 Page 133
1 A That's what the other modelsin my report do, is 1 API would not trandlate into the out -- situation that
2 totest other hypotheses. 2 you are describing.
3 Q Did you consider hypotheses that would explain 3 BY MR.JACOBS:
4 what you say hereis not possible? 4 Q Andwhy isthat?
5 A | believel just answered your question. 5 A The numbers that appear in Table 1 in my report
6 Q Istheanswer no, you didn't consider 6 areasingle snapshot intime. They are not a measure of
7 dternative hypotheses? 7 what happens to students in any time context at all. It
8 MR. CHOATE: Objection; assumesfactsnot in 8 ismerely anomina measurement of their performance at
9 evidence. 9 onemoment intime. And | happen to think that that's a
10 THE WITNESS: No, that's not the case. 10 pretty cruddy way of taking a measurement of school
11 BY MR.JACOBS: 11 performance, but however fuzzy the computation of a
12 Q Isit possible that the APl isnot areliable 12 school's scoreis at one point in time, that doesn't make
13 enough indicator to test whether Plaintiffs argument 13 any differencein terms of the analysis of where schools
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might be valid, even though 20 percent of the schools are
above the median?
MR. CHOATE: Objection; vague and ambiguous,
incomplete hypothetical .
THE WITNESS: Are there two questions on the table?
MR. JACOBS: Can you read back the question, please?
([OThe record was read as follows:
"Question: Isit possible that the APl is
not areliable enough indicator to test
whether Plaintiffs argument might be valid,
even though 20 percent of the schools are
above the median?")
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distribute.

Q Didyou consider the possibility that the
students had factors such as SES that led to the overall
school API being above the State median, notwithstanding
Plaintiffs argument and the deficits that were alleged
to exist in these schools?

MR. CHOATE: Objection; assumes factsnot in
evidence.

THE WITNESS: Those hypotheses were considered and
incorporated into the multi-variate models that followed
in my report.
BY MR. JACOBS:
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1 Q Werethey considered in this particular 1 asamechanical matter to get this sample?
2 analysis? 2 A Okay. Acrossthe 39 schools, | calculated that
3 A | would be hard-pressed to call thisan 3 sample average on these three criteria: percent
4 anadysis. | would call this a description of the 4 minority, percent free and reduced price lunch, and
5 distribution of the data. | haven't explained anything. 5 percentage of teachers at the school who held full
6 | am merely making a point that they distribute 6 teaching credentials. To be clear, that means that half
7 differently than | would anticipate. 7 of the 39 schools had to have done better on each of
8 Q Sowhen you said this simply could not be 8 those measures, although not necessarily all three of
9 possibleif the Plaintiffs argument were valid -- this 9 those measures.
10 isn't atrick question -- that was not based on analysis? 10 And | took those average magnitudes and then
11 MR. CHOATE: Objection; mischaracterizes the 11 screened across the California schools and selected any
12  witnessstestimony. 12 school that matched or exceeded all three factors at the
13 THE WITNESS: I'm saying that there is evidence on 13 sametime.
14 thefacejust based on the distribution of the data that 14 Q When you say match or exceed, you mean --
15 perhapsthe causal attributes of the Plaintiffs factors 15 A That they were worse schoolsin those regards.
16 arenot what creates student academic outcomes. Thiswas | 16 Q From the standpoint of expected educational
17 intended to be an appetizer to the entree of my models. 17 achievement?
18 BY MR.JACOBS: 18 A That -- exactly. That if they had higher
19 Q Okay. Solet'sgo to the entree then. Just 19 proportions of minorities and they had higher proportions
20 talk about food and I'll laugh. 20 of free and reduced price lunch and they had lower
21 At the middle of page 12 you get into the meat 21 proportions of teachers that were fully credentialed,
22 of your analysis, correct? 22 thenthey madeit into my group. And there were 584 of
23 A Yes 23 them.
24 Q Andthiswas analysisthat you did specifically 24 Q And"educationally challenged" hereisjust a
25 for this expert report, correct? 25 term you adopted for purposes of this report to --
Page 135 Page 137
1 A Thatiscorrect. 1 A Sure
2 Q Andinthisanalysisyou created a sample of 2 Q That's not something you drew on from some other
3 schoolsthat you selected for further study, correct? 3 source?
4 A That iscorrect. 4 A Wecould call them "Group X."
5 Q And there were 584 schools in that sample? 5 Q All right. So now you take these schools and
6 A Yes. 6 you analyze them to determine the significancein
7 Q And it included operating charter schools? 7 magnitude of influence for fully credentialed teachers,
8 A Yes,itdid. 8 right?
9 Q But it excluded aternative schools, 9 A Within that sample, that's right.
10 continuation schoals, adult schools, and schools that did 10 Q Within that sample. But the sample has already
11 not operate in the 2001-2002 school year? 11 been chosen to have fairly hard numbers -- fairly large
12 A Or only operated at a part of it. 12 numbers of non-fully credentialed teachers, right?
13 Q Isee 13 A At the moment | do not recall what the
14 Now, first question is, Why did you select a 14 proportions were in the screening sample.
15 584-school sample? Not that I'm quibbling with 84, but 15 (Witness reviews documents.)
16 why asample of that order of magnitude? 16 THEWITNESS: I'm sorry. | don't recall. It does
17 A | selected based on the criteriathat are 17 not appear to bein here.
18 described in the subsequent paragraph, and the resulting 18 BY MR.JACOBS:
19 number was 584. 19 Q Andit'snot in atable somewhere?
20 Q And what you wanted to do was create a sample of 20 A | don't think so. No.
21 what you called "eguivalently challenged,” quote/unquote, | 21 Q Isthat in some work papers that we have or do
22 schools; correct? 22 we have work papers reporting this analysis?
23 A That is correct. 23 (Discussion off the record.)
24 Q And you therefore took -- what did you do with 24 MR. JACOBS: Let'stake a break.
25 theentire set of California public schoolsin order -- 25 (Recesstaken: 2:04 until 2:13 p.m.)
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BY MR. JACOBS:

Q One more question about Table 1. Did you look
at the complaint or -- well, did you look at the
complaint to see what conditions were being alleged about
any of these schools?

A Not specific to the schools, no.

Q And the same question with respect to the
declarations or other information that we've gathered
about these schools and put on that decentschools.org
website. Did you look at any of that information to
determine what the particular conditions were?

A | read one, and it was the San Francisco High
School -- and now I'm not remembering what the name is.

Q Any others?

MR. HAJELA: Balboa

THE WITNESS: Balboa.

No.
BY MR. JACOBS:

Q Sol don't think we have found the paper you
were pointing to that would show us the benchmarks you
used, the averages, so | don't know if you can check
tonight to see whether you have something that might not
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modeled results to the metrics of the particular measures
that you're using.

Q Andthen can you explain the results? Take
percentage minority, for example.

A Sure. Thistable displays actually four
important columns of information about the effect of each
of theindividual independent variablesthat I've just
described. For percent minority, the coefficient
describes the magnitude of impact on the 2002 API school
for aschool that would be created by a one percent
change in the percent minority within a school.

The magnitude of that coefficient is negative
1.34. The standard error of the estimate there is .445.
The two of those combine to createa T statistic of
negative 3.02. TheT dtatistic is a standardized measure
of the deviation from zero that would be used to test a
hypothesis that the coefficient has no impact at all.
And as you can see from P, greater than T, we

have significant -- the coefficient is significant at a
very high level of significance. It'sat .003. We
typically say that anything .05 or smallerisa
significant -- is something that we choose to look at as

23 have been delivered through counsel to us. 23 significant.
24 A Happy to. 24 So our coefficient of negative 1.34 says that
25 Q Sonow let'sgoto Table2. And your narrative 25 for every percentage increase in the minority status of
Page 139 Page 141
1 says, "Themodel explainsthe variationin 2002 API 1 thestudent population, you would have a 1.34 point
2 scores across schools as a function of student background 2 decreasein the 2002 API score across the entire
3 andtheavailability of fully credentialed teachers.” 3 population of the 565 schools.
4 So can you just walk me through the format of 4 Q So canyou just do the same walk-through with
5 thetable here and explain what each of the results are? 5 thenextitem, fully credentialed teachers?
6 A The model incorporates 565 of the 584 schools. 6 A Fully credentialed teachers has a coefficient of
7 Thefact that those numbers differ means that there were 7 .584. For the sake of argument, let's round that to .6.
8 some observations for whom one or more of these variables 8 With astandard error of the estimate of .18, we can
9 had amissing value, and when that's the case, the 9 roundthatto.2. TheT datistic of 3.24, and
10 statistical program deletes that observation. 10 significant, again, at roughly the same level asthe
11 565 is still a pretty good number. What you see 11 leve of significance for the percent minority of .001.
12 here are the modeling results that test against API the 12 This means that for every percent increasein
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marginal impact of the percent of minority studentsin
the school, the percent of fully credentialed teachersin
the school, the percent of free and reduced price lunch
in the school, the percent of English language learners
in the school, the percent of student mobility measured
at the school level, and the percent of parentsin the
school -- I'm sorry -- the percent of studentsin the
school who have a parent who did not complete high
school. And then adummy variable for whether or not the
school was one of the schools that appear in Table 1, a
Plaintiff school.

And thefinal factor isaconstant. Thisis
just the Y axisintercept and allows you to scale the
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the proportion of fully credentialed teachers that you
have in a school, you would expect .6 APl points gained,
al other factors being equal.

Q Sojustin brief then, if you look at free and
reduced lunch, for every percentage -- for every one
percent increase in the number of students on afree and
reduced lunch program, you would expect a decrease in the
API of roughly .18 points?

A Actualy, you wouldn't. If you go al the way
over to the P greater than T, you'll see that that's not
astatistically significant factor. That meansthat it
isindistinguishable from zero in its effect.

Q And the reason you can get a-- | just need a
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1 dtatisticslesson here. The reason you can get .471 1 A What'sinteresting to meistherelative
2 under the Pisgreater than T column and still have a 2 equivalent of the parent not high school graduate and the
3 coefficient iswhat? 3 minority; that those two are very, very closely aligned
4 A Statisticslesson. The model only generates the 4 intheir magnitude and in the direction. So you end up
5 coefficient and the standard error. What happensin T 5 with this compounding effect.
6 and P greater than the absolute value of T actually 6 Q So -- but they're not compounded here; that is,
7 happens outside the model, and thisis where the 7 if you had a-- to find out the impact of having both
8 statistical program is providing you alook-up serviceon | 8 high minority, high less educated parent student
9 thevaue of the coefficient related to its standard 9 population, you would sum those two coefficients,
10 error. SotheT dtatistic as calculated by the program 10 correct?
11 for you isbased on the model results and the coefficient | 11 A That'sright; they're additive.
12 of the standard error. And if you'll see, the statistic 12 Q SotheF datistic, isthat the statistic under
13 isredly smal. It's.72 and it's negative. We don't 13 the number of observationsin the upper right-hand
14 really care about negative for the purposes of 14 corner?
15 statistical significance, butin a-- 15 A ltis
16 Q Thisis happening because the standard error is 16 Q Andthe F gtatistic tells us that the model is
17 actualy -- even taken in absolute value, is greater than 17 useful because why?
18 the coefficient. 18 A What the F statistic explainsisit tests the
19 A You are absolutely correct. What thissaysis 19 entire set of variables against the idea of flipping a
20 that we're able to isolate asmall effect, but it's not a 20 coin. Soit teststhe overall model. Evenif an
21 consistent enough effect across al the observations to 21 individual coefficient is not significant, the overall
22 bheableto say that it isareliable and consistent 22 model does give us explanatory power.
23 eement and causality. 23 Q And the benchmark for an F statistic that is
24 Q So student mobility and parent not a high school 24 attractiveto astatistician is?
25 grad, those have Pis greater than T of zeros? 25 A Completely afunction of the number of
Page 143 Page 145
1 A Yes. If youlook at the actual magnitude of the 1 observations and the number of explanatory variables. So
2 T statistic. 2 youdon't look for acritical valuein F in the same way
3 Q It'shighor -- 3 that you look for acritical valuein T becauseit'sa
4 A Right. | don't know if you ever took high 4 function of those parameters.
5 school or college-level statistics, but the number that 5 Q Butinthiscase, becauseit's 24.35 as against
6 you'relookingforintheT lineis someplace-- 1.96 is 6 those parameters, it suggeststo usthat the model is
7 one standard deviation and 2.74 is two standard 7 explanatory?
8 deviations. And soif you're anything over 2.74, you're 8 A It'styped, yes.
9 pretty sure that you've got areally solid number, 9 Q And then the R-squared model or R-squared
10 especially with the observations being as high asthey 10 oatisticisat .23 as against a perfect model score of
11 are 11 1, right?
12 Q Solet'stakethelast one, percent parent not 12 A Thatiscorrect.
13 high school grad. So if the number of studentsin the 13 Q And .23 issufficiently high to -- again, to be
14 565 schoolswho had at least one parent who was not a 14 confirmatory of the usefulness of the model?
15 high school grad goes up by one percent, the expected APl | 15 MR. CHOATE: Objection; vague and ambiguous.
16 score goes down by 1.4 percent, and that's -- 16 THE WITNESS: Different models have different uses,
17 A 1.4 points. 17 and different people will look at an R-squared
18 Q Points. Sorry. 18 differently.
19 A The coefficient is absolute, right. 19 For most of the kinds of econometric work that
20 And what isinteresting -- never mind. 20 wedo in education, the R-squares arein this
21 Q What'sinteresting? 21 neighborhood up to avalue of .45, .5 on areally good
22 MR. CHOATE: Objection; vague and ambiguous. 22 day. If you have an R-squared in thisfield that'sup in
23 THE WITNESS: Lifeisinteresting, isn'tit? 23 the8'sandthe9's, it'susualy the case that you have
24 BY MR.JACOBS: 24 avery, very highly limited model.
25 Q What'sinteresting? 25 BY MR.JACOBS:
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1 Q Sothen you analyze -- you go on and discuss the 1 up.
2 coefficient for the proportion of fully credentialed 2 A That -- let me gather my thoughts to make sure |
3 teachers, and you say, "As we discussed for each 3 reflect their work accurately.
4 percentage gain in the proportion of credentialed 4 Q Sure.
5 teachers, we would expect to see only .58 points at the 5 A Their analysisis based on an ideathat no
6 APL" 6 measurement instrument is perfect and that thereisa
7 Do you see that? 7 measurement error in student test scores. That's
8 A | do. 8 actualy well known. The psychometrics show that to be
9 Q And soyou get asix-point gain if you had aten 9 thecase. Wedon't dways have the opportunity to
10 percent increase in credentialed teachers? 10 measure what the measurement error is, but we can surmise
11 A Six-point gain in the API, that's correct. 11 that it'sthere.
12 Q And that changeisroughly equal to the 12 What they do is then aggregate directly upto a
13 measurement error associated with the APl accordingto | 13 school score that all of the variability from student
14 some researchers, you state, correct? 14 measurement error has to be captured inthe API. And I'm
15 MR. CHOATE: Objection; vague and ambiguous. 15 not convinced that that'strue. | think the
16 THE WITNESS: That iscorrect. Thatismy report. | 16 computational factors of the current API make it likely
17 BY MR. JACOBS: 17 that you actually don't grab all of that measurement
18 Q On the measurement error associated with the 18 error.
19 AP, isthat something you examined closely? 19 Q Sothat the error associated with the APl would
20 A Yes 20 belower than their estimate?
21 Q And do you endorse the view that thereisa six 21 A | haven't parsed the effects because you have
22 point-error associated with the API? 22 these other influences on the API that create error, so
23 A The API that Kane and Staiger describeisa 23 al I'mtrying to do is to examine whether the Kane and
24 measurement error on thetesting. We do not have an 24 Staiger effect exists in the magnitude that they claim it
25 accurate -- and they attribute that straight up to the 25 does. Andif you can take that part and look at the rest
Page 147 Page 149
1 API. AmI being clear? 1 of what | perceive to be the measurement errors of the
2 Q | think what you're saying isthat if you -- 2 AP, I'll see how they balance out.
3 what they're saying isthat if you gave the test on one 3 Q Sothenext paragraph, "The third result is even
4 day and gave the same test on another day and assumed 4 morestriking. The model controls for differencesin
5 that students don't learn from the first test, you could 5 student background. The model also controls for
6 expect asix-point variation in test -- in APl scores; is 6 differencesin teacher force composition. After those
7 that right? 7 effectsare restricted, the plaintiff schools still
8 A Intest scores. 8 appear to be performing at substantially lower levels of
9 Q Test scores that lead to the API? 9 API compared with their equivalent peer schools."
10 A And they aggregate straight up from there. And | 10 Can you explain that? Not explain -- | know you
11 that's how they get to asix-point -- I'm actually not 11 can'texplainit causally. Canyou explain it
12 completely convinced that their number isright and I'm | 12 descriptively?
13 inthe process of studying it, but | don't have any 13 A Yes, | cantry to do thisfor you, aswell.
14 numbersyet. 14 Okay. When we make this model -- can you guys
15 Q And areyou looking just at the question of the 15 go back to Table 2? When we construct a model like this,
16 test scoreerror or are you looking at broader errorsin 16 weare-- we'relooking at al of the variation in the
17 the API? 17 outcomevariable. That's API for the school. And then
18 MR. CHOATE: Objection; compound. 18 wearelooking at the variation across al of these
19 THE WITNESS: Let's break that apart. 19 independent factors, such as student characteristics or
20 BY MR.JACOBS: 20 teacher characteristics. And we're making some causal
21 Q So | understood you to be saying that Kane and 21 inferences based on the way that those factors co-vary.
22 Staiger, asthe article suggests, "Volatility in School 22 Once you've been -- and the model does this on a -- how
23 Test Scores' -- are looking at expected variationsinthe | 23 do | want to explain this? -- a-- it does this by
24 AP just simply attributable to the tests themselves? 24 looking across al of the variation in all of the
25 I'm not sure what that means, but that's what | thought 25 variablesand continues to work that until it all settles

38 (Pages 146 to 149)



Page 150

Page 152

1 downandit'sclear that some variation belongsto this 1 differencesthat explainsthe variation?
2 independent variable and some of the variation belongs to 2 A That's correct.
3 thisindependent variable. And it doesn't redlly -- the 3 Q Sonow inthe last paragraph you explain
4 model doesn't really fix the values of the coefficients 4 Table 3, where you substituted the proportion of
5 until it has maximized as much variation as it possibly 5 emergency credentialed teachers for the proportion of
6 can, whichis measured by your R-squared. 6 fully credentialed teachers. Do you see that?
7 So the model is noodling around -- that's a 7 A Mm-hmm.
8 technical term -- and it's looking for the influence of 8 Q Now, why would you expect that to be -- based on
9 each of these independent variables. Once those 9 these categorizations that the State creates,
10 coefficients have been assigned, you have isolated all of 10 credentialed versus emergency credentialed --
11 thevariation that's associated with these independent 11 A Yes
12 variables, so that you can look at any other factors, 12 Q -- why should it matter when you're switching
13 assuming everything else that's captured by your model is | 13 from oneto the other?
14 held constant. So that's what it means by those factors 14 A Wédll, when you live in aworld where one of
15 areredtricted. 15 thoseis statistically significant and positive, you
16 Q So--andin particular, in this paragraph 16 anticipate that the other is statistically significant
17 you'retalking about restricting student background and 17 and negative. And so thiswas atest essentially not
18 teacher -- the teacher credentialing -- 18 about the impact of holding a credential, but about the
19 A That'sright. 19 impact, aswe did in the TFA study, of not having a
20 Q -- satistic? 20 credentialing.
21 A That'sright. And student mobility. | mean, 21 Q Why isn't that just -- if you have a school with
22  essentialy the value of this coefficient for Plaintiffs 22 100 percent teachers and 80 percent hold a credentia --
23 schoal -- was there a question you're asking me? 23 you have a school that has 100 teachers and 80 percent
24 Q No, that'sall right. We're moving very quickly 24 hold acredential, 20 percent hold what? What can the
25 andthat's probably in your interest, but all right. 25 remainder hold other than emergency credentials?
Page 151 Page 153
1 [I'll ask you aquestion. Let the record reflect that I'm 1 MR. CHOATE: Objection; it's an incomplete
2 laughing, anyway. 2 hypothetical, calls for speculation.
3 | was asking you what you were holding constant. 3 THE WITNESS: That's what you're trying to test in
4 A Everything that's in the model, and then looking 4  thismodel.
5 attheimpact of Plaintiff schools. 5 BY MR.JACOBS:
6 Q Meaning the fact that it shows up in the -- with 6 Q But how could it possibly come out differently
7 thedummy variable Plaintiff school from the model 7 thenif it'sjust flipping the data from the 80 percent
8 standpoint? 8 tothe 20 percent?
9 A That'scorrect. 9 MR. CHOATE: Objection; vague and ambiguous and
10 Q Andif you do that, the school performs on 10 argumentative.
11 average 32 points worse on the API in 2000 in schools 11 THE WITNESS: In order for your supposition to be
12 than other schools that, based on these factors, look 12 true, you would have to have this incredibly causal
13 likethem? 13 relationship between holding a credential and positive
14 A Exactly right. 14 student outcomes. And conversely, there would have to be
15 Q Sothen in the next paragraph, you note that the 15 astrong and negative association between not having a
16 mode can't tell uswhat about the plaintiff schools make 16 credential and positive student outcomes. In other
17 them underperform. And then you say, "We can, however, | 17 words, your supposition is based on -- your statement is
18 say that the variancein the API scores themselves and 18 based upon a supposition that "fully credentialed” means
19 the control of the teacher element as a possible factor 19 "highly qualified."
20 point to operational differences across schools.” 20 And the purpose of Table 3in my reportisto
21 And | take that to mean that since you're 21 show that that'sjust not the case; that we have
22 holding that teacher credentialing factor constant and 22 emergency credentialed teachersin schools, and in this
23 the student composition constant, it must be something 23 particular group of schools, whilel can't exactly
24 that you've put in the category of operationa -- it may 24 extract the number for you on the percentage of fully
25 be something that you put in the category of operational 25 certified, in the average, | know it wasn't 90 percent.
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1 It wassomeplace closer to 40 or 50. So | wastesting 1 true; that the absence of a credential does not mean
2 thereverse, which is, Do you have to have a credentia 2 necessarily deficitsin the ability to create positive
3 inorder to push positive student gains? And the 3 student outcomes.
4 coefficient value on emergency credentialed teachersin 4 So | believeyour -- | believe I'll just leave
5 Table 3 shows me that that doesn't necessarily hold. 5 itthere
6 BY MR.JACOBS: 6 Q Now, acouple of questions about the way you set
7 Q I'mtill missing something. It seemsto me 7 thisup.
8 that in the Table 2 you had the proportion of fully 8 First, why did you use the percentage of
9 credentialed teachers. 9 credentialed teachers as a factor in selecting your
10 A That iscorrect. 10 comparison schools?
11 Q And Table 3 you have the proportion of un-fully 11 A We had spoken alittle while ago about the
12 credentialed teachers, i.e., emergency credentialed 12 quality level of available datain California, and while
13 teachers. 13 thereisapileof dataavailable, thereisn't awhole
14 A That'scorrect. 14 ot to capture -- empirical evidence or data to capture
15 Q How isit possible to have a positive 15 differencesin the use of resources within schools. And
16 coefficient -- as amatter of statistics now, not asa 16 sothe best variable that | have been ableto find isthe
17 matter of educational theory -- how isit possible to 17 percentage of fully credentialed teachers as a measure of
18 have apositive coefficient for the proportion of fully 18 teacher resource. It isnot agood one. There are lots
19 credentiaed teachers and not have a negative coefficient | 19 of better onesthat I'd like them to have, but it'sthe
20 for the proportion of un-fully credentialed teachers? 20 best that's available.
21 A | believeif you look at Table 3, it does have a 21 So in the selection criteria, it was meant to be
22 negative coefficient. 22 aproxy for the resources available within a school.
23 Q But-- 23 Q Sojust let's pause on that -- on one thing you
24 A It'sjust not significant. 24 saidfor aminute. Teacher credentialing, the datais
25 Q And how isthat possible? How could the 25 available. It'saproxy for the use of teacher -- the
Page 155 Page 157
1 significance vary when you're just taking the opposite 1 useof resourcesin aschool. And you indicated that as
2 and inputting the oppositein? 2 you thought about what data would be useful, you would
3 MR. CHOATE: Objection; compound, vague and 3 liketo have some other data elements, correct?
4 ambiguous. 4 A Yes.
5 BY MR.JACOBS: 5 Q Andwhat doesthat thinking lead you to desire?
6 Q If I say | have 50 percent boys and 50 percent 6 A I'd love there to be agood measure of
7 girlsand | use in some data set the number of boys and 7 leadership within aschool. I'd love for thereto bea
8 not boys, that's the same as using the number of girls 8 measurement of cohesion to the curriculum plan for the
9 andnot girls, isn't it? 9 school. I'd like there to be measures of the enrichment
10 MR. CHOATE: Objection; incomplete hypothetical. | 10 resourcesthat were available for students. | would like
11 BY MR.JACOBS: 11 thereto be ameasure of professional development
12 Q Something basic I'm missing. 12 opportunities utilized by teachers.
13 A Youwould expect, if there was a completely pure | 13 Q The-- so | understand what you said about why
14 association between the holding of a credential and 14 you chose credentialed teachers, but | guessto put a
15 performance, to see the reverse as you are describing. 15 finer point on my question, since one of our alegations
16 But what these -- both of these coefficients show isthat 16 isthat the percentage of credentialed teachersis an
17 theassociation islessthan perfect. And, infact, in 17 important factor in educational opportunity, why didn't
18 the case of fully credentialed teachers, the association, 18 your set include schools that have mostly -- ahigh
19 while significant, isfairly weak, and in the case of 19 proportion of credentialed teachers as opposed to
20 emergency credentias, it's not even significant, and 20 restricting your set to those that have no more than the
21 that's because there's alot of fuzziness. 21 average number of credentialed teachers of the 39 schools
22 What that saysisthat while having a credential 22 inExhibit 1?
23 may be an assist in the production function, it's not a 23 MR. CHOATE: Objection; vague and ambiguous.
24 dtrong, it's not even necessarily amoderate. 1t'sjust 24 THE WITNESS: One could have crested the data set in
25 anassist. But that the converse is not necessarily 25 lotsof different ways. The onethat | waslooking for
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1 wasan attempt to create a peer group of schools that 1 MR. CHOATE: Objection; mischaracterizes the
2 werein the same ballpark as the schools that were 2 testimony. It'sanincomplete hypothetical.
3 coveredinthis case. 3 THE WITNESS: Y ou are performing one of the cardinal
4 BY MR.JACOBS: 4 sinsof statistica interpretation, and that is that
5 Q Haveyou run it with a broader set? 5 you'retrying to take coefficients from different models
6 MR. CHOATE: Objection; vague and ambiguous. 6 and link them together.
7 BY MR.JACOBS: 7 Let me explain that when the model settles down
8 Q Haveyou run the analysis with a broader set of 8 incoefficients, it doesthat completely as aresult of
9 schools than reported here? 9 the particular factorsthat arein that model at that
10 A | have not. Except for the -- for this report, 10 time. So, inessence, if you look at the magnitudes of
11 | did not do any wider analysis. Thereisawider 11 theother variablesin the model, you'll notice that
12 analysisimplicit in the charter school study that | 12 they'renotidentical. And they're not identical because
13 released two weeks ago. 13 theway that these variables co-vary with each other,
14 Q I'mjust going to ask you this one other time. 14 which is one of the things that you have to analyze in
15 At thetop of page 14 you say that the data indicates 15 order to create the -- to calculate the coefficient, is
16 that if aschool wasto increase its share of fully 16 entirely amatter of the independent variables that you
17 credentidled teachers by ten percent, it could expect 17 haveat onetime.
18 only asix-point gaininits API. Do you seethat? 18 So we'rein the ballpark between percent of
19 A | do. 19 minority students, between Table 3 and Table 2, but it's
20 Q Andistheinverse of that also true based on 20 notidentical. However, the direction isthe same and so
21 thedata; that if aschool were to decrease its share of 21 forth.
22 fully credentialed teachers by ten percent, it could 22 So it would not be agood thing for you to try
23 expect asix-point decreaseinits API? 23 tolink these two factors together because they don't.
24 A 1t does mean that. 24 BY MR.JACOBS:
25 Q Andif you were to decrease the share of fully 25 Q Okay. But | think the reason they don't -- |
Page 159 Page 161
1 credentialed teachers by ten percent, wouldn't you be 1 think the only reason they could possibly not relate is
2 increasing the share of emergency credentials by ten 2 that apercent of a-- let's say that the average of
3 percent? Well -- oh. Now | think | see what's going on. 3 fully credentialed teachers was 70 in the plaintiff
4 Iswhat's happening here that the -- that we're 4 schools. Then the average emergency credentialed
5 taking apercent of alarger number when we talk about 5 teacherswould be 30. And so a percentage increase in
6 fully credentialed teachers versus emergency credentialed 6 fully credentialed teachersis seven and a percentage
7 teachersand try and do a percent-to-performance gain 7 increasein emergency credentialed teachersisonly
8 andysis? 8 three. That seemsto me the only possible explanation
9 MR. CHOATE: Objection; compound. 9 when emergency credentialed teachers are correctly
10 THE WITNESS: | don't understand your question. 10 inversely correlated with fully credentialed teachersto
11 Could you go over that again? 11 haveadifferent outcome impact from a percentage
12 BY MR. JACOBS: 12 increasein one versus a percentage decrease in the
13 Q Well, if we were to decrease the share of fully 13 other?
14 credentialed teachers by some percent, then we would 14 MR. CHOATE: Okay. That's vague and ambiguous, it's
15 necessarily beincreasing the share of emergency 15 compound, it's an incomplete hypothetical.
16 credentiaed teachers, correct? 16 If you understand it, you can answer it.
17 MR. CHOATE: Objection; incomplete hypothetical. 17 THE WITNESS: Well, what you continue to try to do
18 THE WITNESS: Presumably you would. 18 isto create a 1.0 correlation between percentage of
19 BY MR.JACOBS: 19 fully credentialed and percentage of emergency
20 Q And so if decreasing the share of fully 20 credentialed in their impact on student achievement. And
21 credentialed teachers by ten percent would lead to a 21 what these modelstell usisthat that's not a good thing
22 decreasein -- by six pointsin the API, then you could 22 todo. That we can believethat thereisagainin
23 say that it's the corresponding increase in the share of 23 student outcomes with afully credentialed teacher, with
24 emergency credentialed teachers that led to the six-point 24 an additional percentage point of credentialed teachers,
25 decreasein the API, correct? 25 but that we cannot believe, statistically different than
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1 zero, that having an emergency credentialed teacher makes 1 proportion of emergency credentialed teachers you don't
2 adifferenceintermsof its effect on API. It'slike 2 havethe sameeffect. | can only tell you that you do.
3 amost indistinguishable from zero. That's the way you 3 BY MR.JACOBS:
4 interpret the coefficient. 4 Q And there's nothing that we haven't explored
5 So what you're saying is when you gain -- when 5 that explainsthe -- strike that.
6 you gain teachersthat are fully credentialed, you do get 6 So you're looking at school characteristics and
7 this-- for ten percentage points gain in the 7 ithasareport and it says, "Percent fully credentialed
8 proportion, you do get the six-point gain in the API. 8 teachers," and it says, "Percent emergency credentialed
9 But that when you swap off, you're not necessarily 9 teachers" Isthat wherethat data element is coming
10 getting the same effect by increasing the magnitude. You 10 from?
11 don't know what you're getting. It's not statistically 11 A Yes
12 different from zero. That meansit could be large on any 12 Q And they're both reported?
13 particular day or bad on any particular other day. 13 A For 2002.
14 BY MR.JACOBS: 14 Q Soyoudidn't actualy -- you don't calculate
15 Q Solet mejust ask this one more time because | 15 emergency credentialed teachers by taking the percentage
16 just want to make sure that we understand how this could 16 of fully credentialed teachers and subtracting it from
17 beand so we can anayzeit. 17 1007
18 If we have what the -- what the top of page 14 18 A "Full" isthefully credentialed variable, and
19 suggestsisthat if you have 100 teachersin the school 19 "Emer" isthe percentage of emergency credentialed
20 and 70 percent of them are fully credentialed and you 20 teachers.
21 increase that number to 77, you would expect a six-point 21 Q And thereisno third category, teacher
22 ganinAPI? 22 qualification category reported?
23 MR. CHOATE: Objection; incomplete hypothetical, 23 A Notindatareport.
24  asked and answered. 24 MR. HAJELA: Isthe data set complete then? So
25 THE WITNESS: | did explain that before. Yes, that 25 we'redealing with fully credentialed and emergency
Page 163 Page 165
1 iswhat aten percent increase would be. 1 credentiaed, but there happensto be others? So what's
2 BY MR.JACOBS: 2 happening with that data? I'm missing something.
3 Q Andthat isa-- that means that the number of 3 MR. CHOATE: Objection; vague and ambiguous. 1.
4 emergency credentialed teachers in the school, because we 4 MR. HAJELA: | mean there'sinterns, pre-interns.
5 held student population constant and teacher overall 5 THE WITNESS: | believe the way the State measures
6 population constant, is now 237 6 thoseisn't reflected in the calculation of credentialing
7 A That's correct. 7 status. The pre-intern students are not counted as full
8 Q And that turns out to be about a two percent or 8 teachersyet.
9 moredrop in the number of emergency credentialed 9 MR. HAJELA: | agree with that.
10 teachers? 10 THE WITNESS: So they're not counted in these
11 A That iscorrect. But the shift in emergency 11 gatistics. They are excluded.
12 credentialed teachers has no discernible impact on 12 If you add full and emergency together, you
13 changing the API. 13 don't always get to a hundred percent, but you get close.
14 Q And so how can that beif going from 70 to 77 14 And thereason for that is because there's sometimes --
15 meant going from 30 to 23? 15 thevagaries of measurement that sometimes the
16 MR. CHOATE: Objection; asked and answered, vague | 16 proportions are off by afew percentage points. Somebody
17 and ambiguous. 17 doesn't know or they're in the process of transition and
18 THE WITNESS: | can't explain the mechanics of why 18 sothey don't report or whatever.
19 thatisthecase. It could bethat thereisa 19 But | have added those two together and have
20 concentration effect within aschool. It could be that 20 been satisfied that that describes the credentialing
21 thereisadifferencein the way in which emergency 21 status of the teachersin the school.
22 credentialed teachers are managed within a school. It 22 MR. CHOATE: Let'stake abreak.
23 could bethat there is a culture of credentialing in a 23 (Recesstaken: 2:57 until 3:02 p.m.)
24 school that creates an us/them atmosphere. | can't 24 BY MR.JACOBS:
25 explainto you why it isthe case that when you move the 25 Q Solet'sturn to the model that's discussed in
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1 Table4. You built this model by including in the model 1 investing in than percent of fully credentialed teachers,

2 adataelement for number of core academic courses, 2 correct?

3 correct? 3 MR. CHOATE: Objection; the document speaks for

4 A Yes. 4 itself.

5 Q Wheredid you get that data from? 5 THE WITNESS: That isacomponent of my report, yes.

6 A Fromthe API data set. 6 BY MR.JACOBS:

7 Q And what'sthe actual data element in the AP 7 Q Andisit your belief that the two are -- well,

8 dataset? Do you remember what it's called? 8 isityour belief that increasing the number of core

9 A No. 9 academic coursesis education-dollar consumptive?

10 | remember that it has the word "core" init, 10 MR. CHOATE: Objection; vague and ambiguous.

11 but | don't know whether it's number core or core course. 11 BY MR.JACOBS:

12 Q Do you recal how it's built or collected? 12 Q That it would cost a district money to do that?

13 A No, not at this moment. 13 MR. CHOATE: Objection; compound, vague and

14 Q Anddoyourecal what -- | take it then you 14 ambiguous.

15 don't know today what a core course -- what falls within 15 THE WITNESS: Districts organize in different ways,

16 the set of core academic courses as opposed to other 16 and| don't have any information at this point about

17 courses? 17 whether an additional course at the margin could be

18 MR. CHOATE: Objection; mischaracterizesthe 18 absorbed with existing faculty or not.

19 witnessstestimony. 19 | would imagine across all districtson a

20 THE WITNESS: That's not accurate. The definition 20 hypothetical basisthat there would be -- that thisisa

21 of thevariableisavailable in the coding sheetsthat | 21 pretty lumpy function; that you don't get alot of

22 provided to you, and | looked at it so that | could be 22 expansion of core courses before you need to make some

23 confident that it was asking the number of courses that 23 changesin your -- in the organization of your school. |

24 dign with the State curricular standards. But | don't 24 think that schoolstry pretty hard to be maximally

25 remember exactly how they went and measured that or how | 25 employed in terms of the way that they employ teacher
Page 167 Page 169

1 they collectedit. 1 resources. And so | can't imagine that theresalot of

2 BY MR.JACOBS: 2 latitude to add courses without having to add bodies.

3 Q But you did so confirm? 3 BY MR.JACOBS:

4 A |did-- what? 4 Q Soit'syour -- the inference you draw from the

5 Q Thatitisaligned. That core academic courses 5 information availableto you is not that thisis a matter

6 concept is aconcept asto courses that are aligned with 6 of substituting core academic courses for non-core

7 the State's academic standards? 7 academic courses, but rather adding to the total net

8 A That's correct. 8 offering?

9 MR. CHOATE: Can you read back the question, please. 9 A I'mnot in aposition to know what thismeansin
10 (UThe record was read as follows: 10 termsof every school in California. My inclination was
11 "Question: Thatitisaligned. That core 11 that it wasn't entirely reallocative.

12 academic courses concept is a concept asto 12 Q And the dataon Table 4 shows that the APl isin
13 courses that are aligned with the State's 13 someway correlated with the number of core courses,
14 academic standards?") 14  correct?

15 MR. CHOATE: Mr. Jacobs, were you asking if she 15 MR. CHOATE: Objection; vague and ambiguous. The
16 verified whether the courses offered by the schools were 16 document speaksfor itself.

17 dligned to the State's core content standards? 17 THE WITNESS: The coefficient is positive.

18 MR. JACOBS: No. 18 BY MR.JACOBS:

19 Q Youdidn't understand me to be asking that, did 19 Q And.030is?

20 you? 20 A Significant.

21 A | didn't. 21 Q And so we're talking about the units for number
22 Q The point you're making in the second half of 22 of core coursesisliterally -- when we talk about

23 page 17 isthat there are aternative choices for the use 23 increasing it, are we talking about adding one course?
24 of education dollars, and the data indicates that number 24 A Theincrement here isone.

25 of core academic courses would be more worthwhile 25 Q What does that mean across the school? That
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doesn't mean one classroom full of students, doesit?

A I'm sureit depends on the course and the
schooling.

Q So what does the data element mean then when it
says "number of core courses'?

A Insome schoals, in order to offer acore
course, they have to offer multiple sections, but in
other schoolsthey don't. So thisisthe changing to the
offering of new course material in whatever form it's
required by that school to implement it.

MR. HAJELA: Can | ask probably adumb question?
I'm really confused here. In elementary school, how do
you add a core academic course, or can you? 1'm not sure
how it works. And maybe I'm just not understanding
something, but | thought elementary schools would have by
definition the same number of core academic courses.

THE WITNESS: | don't think that's right. | think
that there is variation across elementary schoolsin the
number of courses that they offer. | know that there
are-- and | don't know what the magnitude of variation
is, but I do know that thereis variation.

MR. HAJELA: | guess maybe it was Michadl's
guestion, aswell. So are we adding a new subject matter
and that's a course, or are you adding a classroom, or do
we not really know what we're adding?
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THE WITNESS: | don't know the mechanics of this
variable.
BY MR. JACOBS:

Q Now, you're using beta coefficients for number
of courses versus, for example, percentage of fully
credentialed teachers, right? The coefficient thereisa
beta coefficient?

A Yes

Q Andisthat appropriate to use a beta
coefficient for something that's measured by a percentage
increase -- fully credentialed teachers -- versus
something that's measured by a numerical increase?

MR. CHOATE: Objection; vague and ambiguous,
compound.

THE WITNESS: The coefficient adjusts to the metric
of the independent variable.
BY MR. JACOBS:

Q Soyou believeit isproper to do it that way?

MR. CHOATE: Objection; vague and ambiguous.

THE WITNESS: | think | already answered that
question.
BY MR. JACOBS:

Q And as compared with measuring it by standard
deviations, what -- why did you choose a beta coefficient
as opposed to standard deviations where there are two
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MR. CHOATE: Objection; compound, vague and
ambiguous.

THE WITNESS: | don't know what you mean by
"classroom."

MR. HAJELA: I'mjust trying to think of how you
could add a core course to an elementary school. And |
could think of examples, which isyou could have a
classroom that does music and only music, and the kids
get to walk over there for afew minutes every day or
whatever or once aweek, or you could say in every
classroom we're going to teach science, and that could be
acorecourse. And I'm not really sure how you measure
something like that, whether you measure in classrooms or
subject matter or how many students do it or -- it'sjust
not clear to me how you measure it.

MR. CHOATE: There's no question pending.

BY MR. JACOBS:

Q And you don't know how the data element
differentiated between simply adding the availability of
acourse to some number of students versus taking the
whole school and now changing them from, say, a
non-standards aligned course to a standards aligned
course? Asfar asyou know, the data element doesn't
differentiate between those two cases?

MR. CHOATE: Objection; vague and ambiguous.
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different units of measurement?

A By standardizing the data, you lose the metric
underlying the independent variable. Y ou merely
distributed them from one to a hundred, let's say,
percentiles around the sample mean. And so you lose the
value of the metric.

For the purposes of thisanalysis, | wastrying
to show what the impact of the individual, independent
variables were in their own native metrics. Andso | did
not standardize the data.

Q And do you have ajudgment as to what would have
happened to your resultsif you had standardized the
data?

A 1 dont.

Q It'snot easy -- you actualy have to run the
model doing it that way to know; you can't predict from
what you've seen in your output so far?

MR. CHOATE: Objection; mischaracterizes testimony.

THE WITNESS: Y ou could anticipate results that were
in the neighborhood of your current results, but if the
distribution of values on one of your independent
variablesis skewed around the sample mean, then you
don't get afair interpretation of the relative weights
of those when you try to get back to the initia -- the
original variables.

44 (Pages 170 to 173)




Page 174

Page 176

1 BY MR.JACOBS: 1 unlikely to have this be an open-ended funding
2 Q Sothen you critique the Plaintiffs proposals 2 relationship, ergo, in azero-sum world, we would have to
3 onpage 18, saying that other programs would have to be 3 expect cutsin other areas.
4 terminated to, quote, "make room for this unproven and 4 BY MR.JACOBS:
5 open-ended enterprise.” 5 Q Inthenext paragraph you say, "Plaintiffs
6 Do you seethat? 6 proposalswould disenfranchise parents.”
7 A 1do. 7 Do you see that?
8 Q Taketheissue of textbooks. You don't actualy 8 A |do.
9 know whether it would require more aggregate funding to 9 Q Andthebasisfor that isyour view that the
10 ensurethat textbooks are more equally distributed to 10 Plaintiffs proposal removes options for parents and
11 students acrossthe state, do you? 11 dictatesrigid practices and requirements, correct?
12 A No, | do not. 12 MR. CHOATE: Objection; vague and ambiguous.
13 Q It could bethat it's administrative 13 THE WITNESS: Those are the reasonsthat | list.
14 inefficiencies that are giving rise to that problem, 14 BY MR.JACOBS:
15 right? 15 Q And so let'stake facilities, for example.
16 MR. CHOATE: Objection; incomplete hypothetical, 16 Plaintiffs propose that the State assume greater
17 it'svague and ambiguous, assumes facts not in evidence. 17 accountability for redressing the facilities conditions
18 THE WITNESS: | need the question repeated. 18 intheworst-off schoolsin the state.
19 (O0The record was read as follows: 19 Do you believe that that would, in a meaningful
20 "Question: It could bethat it's 20 sense, remove options for parents?
21 administrative inefficiencies that are 21 MR. CHOATE: Objection; vague and ambiguous, it'san
22 giving rise to that problem, right?") 22 incomplete hypothetical.
23 MR. CHOATE: Callsfor speculation. 23 THE WITNESS: | don't know enough about the way in
24 THE WITNESS: That's completely speculative. 24 which that proposal would be implemented to be able to
25 BY MR.JACOBS: 25 speak to that.
Page 175 Page 177
1 Q Butit'spossible? You don't know? 1 BY MR.JACOBS:
2 MR. CHOATE: Same objections. 2 Q Now, as compared with -- strike that.
3 THE WITNESS: Right; | don't know. 3 There'sasubstantial direction from Sacramento
4 BY MR.JACOBS: 4 to school districts now in terms of what school districts
5 Q And the State doesn't have any data available to 5 should teach, is there not?
6 alow usto test that proposition, doesit? 6 MR. CHOATE: Objection; it's vague and ambiguous,
7 MR. CHOATE: Same objections. Assumes factsnot in 7 assumes facts not in evidence.
8 evidence. 8 THE WITNESS: Would you explain what you mean by
9 THE WITNESS: There are 157 different data 9 what teachers should teach?
10 collectionsthat the State requires of schoals, and | am 10 BY MR.JACOBS:
11 not an expert on all 157. It could be that there are 11 Q The-- 1 can be more specific. The State
12 dataout there somewherein CDE about this particular 12 developed content standards in the last severa years
13 matter, but I'm not aware that thereis. 13 that are -- that give a substantial amount of direction
14 BY MR.JACOBS: 14 to school districts about the content of the program they
15 Q Anddid you look at that when you opined that 15 should déliver, correct?
16 many other programs that are underway would have to be 16 A Yes
17 terminated to make room for this "unproven and open-ended | 17 Q And the State has instituted tests that, over
18 enterprise,” quote/unquote? 18 time, are measuring to a greater degree whether districts
19 MR. CHOATE: Objection; asked and answered. 19 aredelivering the contents set by the standards,
20 THE WITNESS: Earlier in my testimony | said that | 20 correct?
21 thought that this was complex and costly asan 21 A Barring criticism that the State tests don't
22 enterprise, and | was examining the potential impact on 22 dlign to the State standards, your point is correct.
23 theexisting budget of the costs of compliance with this. 23 Q And that'samajor shift in authority from
24 And my judgment was that because it would be costly and 24 districtsto the State in terms of the -- just the sheer
25 complex, that in the current budget environment, we were 25 volume of the direction given to school districts, isit
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1 not? 1 inthe same way that we were trying to isolate other

2 MR. CHOATE: Objection; vague and ambiguous. 2 factorsin the report that we have been discussing all

3 THE WITNESS: | have not been aparty to Cdlifornia | 3 day.

4 education long enough to be ableto say that. I'm a 4 Charter schools are shown in this study to be --

5 relatively new person here. 5 to have lower nominal levels of Academic Performance

6 BY MR.JACOBS: 6 Index scores. The school score was the unit of anaysis.

7 Q Sowhenyou say in the last sentence, "So, asa 7 And across all three schoals, the three kinds of schoals,

8 policy position, the proposal” -- that is, Plaintiffs 8 elementary schools, middle schools and high schools,

9 proposals-- is politically untenable" -- do you see 9 charter schools, looking just at raw scores, are behind
10 that? 10 regular traditional schools, where the comparison group
11 A |do. 11 isthesort of typical, average elementary school,

12 Q What do you base that on? 12 typical average middle school, and high school.

13 A Theideaof giving localities latitude over the 13 Thisisnot aparticularly surprising finding

14 means by which they achieve specific education goalsas | 14 given where charter schools tend to locate and where

15 reflected in the standards seems to be a pretty pervasive 15 charter schoolstend to crop up because of interest in

16 element of State policy. It seemsthat alternatives that 16 providing educational alternatives.

17 would reverse that trend would find a difficult reception 17 If you look at the rate of change in API scores,

18 inlegidature and also at the local level with school 18 tothe extent that the data permit us to do that, we find

19 boards and parents. 19 that therate of change in elementary schools and high

20 Q Let'stalk about your charter school study. | 20 schoolsisfaster than it isfor traditional schools.

21 think | gave you acopy of that before, but maybe we 21 Andinmiddle schools that's not the case. The high

22  Dbetter mark it. 22 school effect is strongly significant. The rate of

23 MR. CHOATE: Yeah, | think | need a copy too, 23 changein charter high schoolsis roughly twice that of

24 Michadl. 24 traditional high schools. And we -- since we have

25 MR. JACOBS: We will mark "The Performance of 25 isolated other effects, many of which we've discussed
Page 179 Page 181

1 Cdifornia Charter Schools, Margaret E. Raymond, May 1 today, the interest here wasto find out wasiit just

2 2003" asRaymond 4. 2 differencesin the populations that were being served

3 (Raymond Exhibit 4 was marked.) 3 that created the differences that we observed, or was it

4 BY MR.JACOBS: 4 something statistically significant about charter

5 Q I'msorry, but because we just found this -- 5 schools?

6 maybe we weren't searching in the right place before -- | 6 And the place that charter schools tend to be

7 haven't had achance to study it. Soif you could 7 satistically significant is at the high school level and

8 summarize, first of all, what question you were 8 notinthe other levels. After you've taken out student

9 answering, and then what answer you came up with, that 9 population, after you've taken out parental background,
10 would help us get started. 10 after you've taken out other factors, you come down to
11 A Sure. The purpose of this study was to examine 11 charter schools doing about as well as their comparison
12 the academic performance of charter schools over thelast | 12 group, which we actually considered to be a pretty good
13 several yearsin amanner that allowed us to test whether 13 outcome considering that new school -- new charter
14 the charter school statuswas amaterial factor in 14 schools are coming in every single year, so that you're
15 academic achievement. 15 looking at new schools compared to existing schoolsin
16 And the study is organized in such away asto 16 every single snapshot that you take.

17 usetraditional elementary middle and high schoolsasthe | 17 MR. CHOATE: That answers his question.

18 control group. And inthisregard, thisisthe first 18 THE WITNESS: Good.

19 study of itskind in California. Other charter school 19 BY MR.JACOBS:

20 studies have been issued in the last several years, but 20 Q Solet meunpack afew of the components of
21 none of them have used a control group and none of them | 21 that. You said that the charter schools started off --

22 have attempted to examine the range of factorsthat could | 22 strike that.

23 potentially account for variationsin student 23 You said that charter schools have nominal API
24 achievement. In other words, we're running econometric | 24 scoresthat are lower than the comparison schools they
25 models hereto try to isolate the charter school factor 25 used.
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1 A On average. 1 school status, core courses, number of AP coursesin the
2 Q Andin this comparison that you're talking 2 high school, use of ancillary teachers aides because
3 about, the comparison schools were selected how? 3 those data are not universally reported, and the quality
4 A All other California schools. We eliminated 4 wasso low that -- we lost so many observations because
5 continuation schools, alternative schools, K-through-12 5 of missing datathat we decided it was better to try to
6 schools, and schools that are operated in the juvenile 6 increase the number of observations and run the model
7 justice setting. 7 without.
8 Q Sojusttoask it -- about away you could have 8 We did acorrelation of those factors and found
9 doneit differently, you could have taken charter schools 9 that the proxy of teacher credentialing worked about as
10 and comparison schools that had the same nominal API 10 well asany of the other variables that we would have
11 scores on average, correct? 11 wanted to include, and so we weren't -- in the
12 MR. CHOATE: Objection; vague and ambiguous. 12 observations where those data weren't complete, we
13 THE WITNESS: It would have been adifferent study, | 13 weren't buying that much additional explanatory power by
14 but we could have done that. 14 including them, so we elected instead to increase the
15 BY MR.JACOBS: 15 number of observations and delete those variables from
16 Q And then you would have been measuring the rate 16 theanaysis.
17 of change from asimilar average starting point in APIs 17 Q And wasthe problem with the reporting of those
18 if you had done that, would you not? 18 variables present in both the charter and the traditional
19 A Without any ability to control for any of the 19 schoolsor one or the other?
20 explanatory factors that might help understand what that 20 MR. CHOATE: Objection; compound, vague and
21 starting point was and how they may have contributed. 21 ambiguous.
22 Themode that we run essentially doeswhat you'reasking | 22 THE WITNESS: I'm not sure | ever stratified the
23 for without having to be restrictive in its application. 23 missing variables to know where they came from. There
24 Q And how doesit do that? 24  wasjust ahigh rate of them.
25 A The-- because we cannot track individual 25 BY MR. JACOBS:
Page 183 Page 185
1 studentsover time, we are left with a school 1 Q Inthisreport you analyzed the impact of
2 year-over-year analysis, and the annual impact models 2 teacher credentialing as afactor in APl improvement,
3 that we calculate do, in fact, include the starting 3 correct?
4 point. Sothat all schoolswith starting point X are 4 MR. CHOATE: Mike, are you referring to Exhibit 4?
5 compared on a constant footing across these factors. So 5 MR. JACOBS: Yes. Exhibit 4.
6 it does control for starting point in the way that you're 6 MR. CHOATE: The charter school study?
7 asking, but it doesn't restrict usin the use of other 7 MR. JACOBS: Yes.
8 explanatory variables. 8 MR. CHOATE: I'msorry. Will you repeat back the
9 Q And thevariablesthat you included in the 9 question again?
10 anaysisin order to determine whether you could isolate | 10 MR. JACOBS: I'll start again.
11 charter schoolness included what? 11 Q Inthe charter school study, Raymond Exhibit 4,
12 MR. CHOATE: Objection; vague and ambiguous. 12 you analyzed the impact of the proportion of fully
13 BY MR.JACOBS: 13 credentialed teachers on APl scores?
14 Q Charter school statuswas | think your -- the 14 A 1did.
15 phrase you used. 15 Q And what were your results?
16 A  We used the same types of variables that appear 16 A They paralleled those of the report in this case
17 inmy report. We used student characteristics. Weused | 17 that the magnitude was statistically -- that the
18 parental education background. We used a variety of 18 coefficient was statistically significant but the
19 school operating factors where possible, and we used a 19 magnitude was very small.
20 dummy variable for the charter school itself. 20 Q Anddid you do the inverse analysisin this
21 Q The operating variables, which ones were you 21 report of emergency credentialed teachers?
22 abletouseinthisstudy? 22 A | did. Those results do not appear in the
23 A Wedl, inthefinal analysisthat we presented in 23 report. They appeared in the draft report, and there
24 thereport, we were able to look at the effect of teacher 24 wereviewersthat | asked to take alook at it and said
25 credentialing. We were unable to work with year-round | 25 it wastoo complicated. We were into much of the same
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1 discussion that we've had today. 1 BY MR.JACOBS:
2 Q Soitwasfamiliar to you. 2 Q At the break, Mr. Choate discussed with you your
3 A Beenthere, donethat. 3 answer to the last question?
4 Q But--andwasit similarly -- 4 A No. Hetold mel was getting tired.
5 A And the results were exactly parallel; that the 5 Q What elsedid hetell you?
6 emergency credentialed coefficient was not statistically 6 A Take adeep breath.
7 significant. 7 Q What else?
8 Q Solet meseeif | understand what you did on 8 A If | get really tired, to let him know.
9 fully credentialed teachers. In the case of the charter 9 Q And what substance of your testimony did you
10 school study, you looked at the proportion of fully 10 discuss?
11 credentialed teachersin all California schools 11 A None.
12 reporting -- that are in your data set? 12 MR. CHOATE: Shejust -- asked and answered,
13 A Except for the categories of schoolsthat | 13 Michagl. Youjust asked that question and she just told
14 excluded. 14 you that she didn't talk about any testimony.
15 Q The onesthat you described before the -- let's 15 BY MR.JACOBS:
16 call them "the exceptional schools' -- 16 Q Doyoufed like you're getting tired?
17 A Fine. 17 A Alittle.
18 Q --for present purposes. 18 Q Because I'm sure we can finish up tomorrow
19 And the data set hereis all 8,000 California 19 midday if we resume tomorrow. Otherwise, if -- | mean we
20 public schools or asample? 20 may still have to go tomorrow alittle bit, but otherwise
21 A Youcanseein Appendix A, B, C, D what the 21 wecan pressontill 5:00. I'll leaveit at your call.
22 numbers are that we're working with. We stratified the 22 A I'm prepared to go forward this afternoon and
23 models so that we had approximately 4,500 elementary 23 see how much of thiswe can retire.
24 schools, approximately 1,000, 1,100 middle schools, and | 24 MR. CHOATE: Why don't we go alittle more? And we
25 someplace in the neighborhood of 900 high schools. 25 don't haveto go until 5:00. We'll do what we can do and
Page 187 Page 189
1 Q And | think that's lower than the total number 1 well seewherewe are.
2 of schoolsin the state, so did you do some sampling 2 THE WITNESS: Okay.
3 or-- 3 BY MR.JACOBS:
4 A No. Remember that any time a school is missing 4 Q I'm not supposed to make it easy on you, but
5 any one of the factors that we wanted to look at, the 5 it'snot supposed to be torture.
6 observation isdeleted by the model. Perhaps| haven't 6 A It'snot torture yet, but I'll let you know.
7 mentioned anything about data quality in California yet 7 Q Soyou said this was the first -- you mentioned
8 today, but we have a problem. 8 something about your study on charter schools being the
9 MR. CHOATE: Let'stake abresk. 9 firstof atype. Could you repeat what you said and
10 THE WITNESS: We're taking a break. 10 explanit?
11 MR. JACOBS: Wéll, | mean, you can't -- 11 A | believe the point that | was making earlier
12 MR. CHOATE: No, I'm taking abreak. Shejust 12 wasthat there are prior studies about the performance of
13 answered the question, and I'm taking a break. 13 charter schoolsin Californiaand they're cited herein
14 MR. JACOBS: | don't think so. | think it's my 14 the paper, but they lack what | consider to be the
15 deposition. 15 minimum standards for rigorous research, and that is that
16 MR. CHOATE: Yeah. Sheanswered thequestionand | 16 they don't possess a control group.
17 there's no question pending and we're taking a break. 17 So it'svery easy to talk about trendsin
18 MR. JACOBS:. Weéll, | don't think you get to control 18 charter schools, but outside of the context of what
19 that, Mr. Choate. 19 happenswith their peers, it doesn't have alot of
20 MR. CHOATE: Yes, | do, Mr. Jacobs. 20 meaning. And so the study that | did tried to expand on
21 MR. JACOBS: | think we actually have some 21 earlier work by bringing in the dimension of control
22 deposition guidelines that cover this very topic. 22 comparison.
23 MR. CHOATE: Sheanswered the question. We're 23 Q And one of the things you said you focused on
24 taking a break. 24 was year-over-year improvements, right?
25 (Recess taken: 3:34 until 3:39 p.m.) 25 A That's correct.
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1 Q Andisthat -- I'm looking at page 20 of your 1 vyou'relooking at more years, so that's one difference in
2 report. Thisisbeing -- 2 theteacher credentialing component of the charter school
3 MR. CHOATE: Exhibit 4? 3 study as compared with your expert report, correct?

4 MR. JACOBS:. Exhibit 4, yes. 4 A That iscorrect.

5 THEWITNESS: Yes. 5 Q And so my next question is, Does it also differ

6 BY MR.JACOBS. 6 inthat you looked at the contribution of the proportion

7 Q Sowhat's the difference between annual API 7 of teacher qualificationsto -- | think the right phrase

8 change and longitudinal API change? The length of the 8 isyear-over-year improvement within a school?

9 periodin question? Isthat the difference? 9 MR. CHOATE: Objection; vague and ambiguous.
10 A Also the number of schools that are included. 10 THE WITNESS: If we could agreeto call it "school
11 One of the challenges of looking at a highly dynamic 11 level gain score.”

12 policy areasuch as charter schoolsisthat the number of | 12 BY MR. JACOBS:
13 schoolsthat have been added in the recent yearsis very 13 Q And by "school level gain score,” you mean the
14 large. So any particular year that you take a snapshot, 14 improvement at the school level inthe API year over
15 if youjust look at a one-year change, you're only 15 vyear?
16 looking at the schools that camein in the previous year 16 A That's correct.
17 primarily. Butif you're ableto do alongitudinal 17 Q Asopposed to the nominal APl score itself?
18 analysis, you get amore stable measure. Y ou don't get 18 A That'scorrect. Soit'sthedeltaof APl ina
19 that churn effect of new schools coming on line. 19 particular school and associating that with the
20 So the longitudinal API change actually has the 20 proportion of fully credentialed teachersin the school.
21 same cohort of schools, and it's the group that was able 21 Q That's exactly my question. Did you do that
22 to come on line and be operational in time for the 1999 22 analysis?
23 API scores. So they tend to be alittle bit older than 23 A | did.
24  the newer schools that are captured in the annual change | 24 Q Andwhereisthat reported?
25 models. 25 A Youll find those resultsin Appendix C.
Page 191 Page 193

1 Q Sonow I'mlooking at page 22 to 23, where 1 Q SoAppendix Cisentitled, "Longitudinal

2 there'sadiscussion of, asyou say, "adeeper insight to 2 Analysis- All Schools." And you defined alongitudinal

3 theeffect of teacher qualifications on student 3 analysisasincluding the deltathat you just referred

4 learning." 4 to?

5 Do you see that at the top of the page? Top of 5 A The dependent variable in these modelsisthe

6 23. Sorry. 6 changeinthe API scorefrom 1999 to 2001. Soit'sa

7 A Deeperinsight? Herewe are. Yes. 7 two-year gain, but it's the same group of schoals.

8 Q And are you reporting there asimilar 8 Q Soitis-- the dependent variable isthe delta

9 year-over-year analysisin the relationship between 9 over atwo-year period on a same-school basis?

10 teacher qudifications and student learning? 10 A That's correct.

11 MR. CHOATE: Objection; vague and ambiguous. 11 Q Soaswedid with your expert report, can you

12 BY MR.JACOBS. 12 walk usthrough some of these reported data and tell us
13 Q Meaning an improvement -- a school-by-school 13 what they're showing?

14 improvement analysis? 14 MR. CHOATE: Objection; what some of the reported
15 MR. CHOATE: Objection; it's vague and ambiguous. 15 data-- where, in Appendix C?

16 THE WITNESS: Could you ask your question just one | 16 MR. JACOBS: Yes.

17 moretime? 17 MR. CHOATE: Do you have a specific example that you
18 BY MR.JACOBS: 18 want her to walk through? Lookslikethere'salot of

19 Q Sure. I'll set the context. Inyour expert 19 different elementsreported in this.

20 report, my understanding of what you did in testing for 20 BY MR.JACOBS:

21 therelationship between teacher credentialing and 21 Q Canyou pick afew that you thought in the

22 student performance was look at a one-year snapshot, 22 context of your report were interesting?

23 correct? 23 A Why don't we just take alook at the high school
24 A That iscorrect. 24 change model, which isthe final column?

25 Q Now inthis study you have abigger data set and 25 Q Okay.
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1 A And| think the interpretation of the 1 A Roughly, that's correct.
2 coefficientsis similar regardless of what model you look 2 Q Andjust to be clear, thisis not that the AP
3 a. Butinthesameway that we modeled for the report 3 goes up; it'sthat the changein API goes up that amount?
4 for this case, | have regressed a number of independent 4 A That iscorrect. That'swhy the magnitudes of
5 factors, and those are the percentage of minority 5 these coefficients differ in size from the magnitudes of
6 studentsin the school, the percent of school mobility, 6 thereport for my testimony. Becausethisisdeltaand
7 the percent of students with a parent not completing high 7 that'sraw.
8 school. Herel aso included the percent of students 8 Q Absolutely. And the average changein AP
9 that had a parent that was at least a college graduate or 9 acrossthe entire data set in the longitudinal analysis
10 had additional graduate work, the proportion of students | 10 waswhat?
11 with free or reduced price lunch, last year's API score, 11 A You can find those numbers on page 17 in
12 and percent of fully credentialed teachers in the school, 12 graphic 6.
13 anthen two additional factors: In the same way that we 13 Q Soif I'm reading the graph right, at the high
14 had Plaintiffs schoolsin the report models, here we 14 school leve --
15 haveabinary variable that's coded oneif the school has 15 A Yes.
16 charter school status, and zero otherwise. And then the 16 Q --thetraditional schools had atwo-year gain
17 final variableis school size, and that is the -- 17 of 18 or 19-point --
18 measured by the enroliment of the school in 2001. 18 A It'sl7.
19 The results of the model for the high school are 19 Q It's17 points?
20 displayed alittle bit differently than you saw themin 20 A Right.
21 thereport. If the number that appearsin the fina 21 Q Okay. And that's -- the high school change
22 columnisbold, it meansthat it had a statistically 22 column on Appendix C isthe predicted differencein
23 significant coefficient at the .05 level. And herewe 23 two-year gains?
24 find, consistent with the variables that we looked at 24 A Thatiscorrect. Thesetwo numbersidentically
25 before, that minority status turns out to be a 25 gotogether. We'relooking at the same outcome variable
Page 195 Page 197
1 significant negative factor, and we find that the 1 ingraphic 6 aswe useinthe model in Appendix C.
2 magnitude of the fully credentialed teachers variableis 2 Q And you might have already referred to this, but
3 significant but small at .24. Charter schools have a 3 theloca competitor category?
4 positiveimpact at 14.9 or nearly 15 API points, and 4 A | did not actually refer to that. We're never
5 school sizeis negatively but statistically significant 5 happy to do just one model. We have to do lots of
6 initsassociation with APl scores. That means that the 6 models, and this one was, okay, maybe the comparison
7 smaller the school, al other factors being equal, the 7 group of the typical profile school of an elementary
8 higher the API gain will be. 8 school doesn't give us the close comparison of who the
9 Q Oh, because the way school sizeisused asa 9 real competitor school isthat the charter goes head to
10 variable, anincrease in school size resultsin asmall 10 head with.
11 reduction in predicted API; isthat correct? 11 So we identified a subsequent pool of schools,
12 A Right. But remember that the school sizeisin 12 and those are called the competitor schoals, and they are
13 unitsof students. So a one-student increasein your 13 defined and selected on the basis of being in the same
14 school size will decrease you by this magnitude. 14 district where a charter school operates.
15 Q Soit's-- | see. Sotheunit is number of 15 Q And otherwise, had they matched?
16 students, one by one? 16 MR. CHOATE: Objection; vague and ambiguous.
17 A One by one by one, that's right. 17 THE WITNESS: Could you repeat your question?
18 Q Sojust to draw some comparisons here, if wego | 18 BY MR.JACOBS:
19 up apercent in minority students, the predicted API 19 Q How do you otherwise select a particular school
20 is-- at the high school level is down by point -- 20 asthe competitor school within that district?
21 A .1. A 10th of apoint. 21 A If adistrict had a charter school inits
22 Q A 10th of an API point. 22 didtrict, then all of itslike schools were facing
23 And if we go up apercent of fully credentialed 23 competition.
24  teachers, the predicted API at the high school level is 24 Q And by "like schools," you mean --
25 up by .25 points? 25 A Okay. Anelementary school charter starts.
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1 Thenal of the elementary schoolsin that district are 1 Q 17. Sorry. 17.2 year gainin APl scores. And
2 identified as competitor schools. 2 now if we go to high school change, 1999 to 2001, we see
3 Q | see. Soif adistrict didn't have any 3 that out of that 18 points, .25 of it could be
4 charters-- and | imagine there are still somein the 4 attributable to a percentage variance in fully
5 dsatethat dont. 5 credentialed teachers?
6 A Therearetons. 6 MR. CHOATE: Objection; compound, mischaracterizes
7 Q That don't have any charter schools? 7 thewitness'stestimony, it's an incomplete hypothetical.
8 A (Witness nodding head.) 8 BY MR.JACOBS:
9 Q So, in effect, the competitor school category 9 Q Am| reading your report correctly?
10 takesout of the data set, number one, the districts that 10 A Themodel that appearsin Appendix C explains
11 don't have any charters, and number two, as between high | 11 what causes the change in school scores. So all other
12 school, middle school, and elementary schoal, they take 12 factors being equal, if you compare two schools who
13 out -- if thereis no elementary school charter, then the 13 differed by their percentage of fully credentialed
14 elementary schools are out of the data set also? 14 teachers by one percent, you would expect the school with
15 MR. CHOATE: Objection; compound. 15 the higher proportion to have .24 gain points higher.
16 BY MR.JACOBS: 16 Q AndI'mjust trying to get apoint of
17 Q Isthat right? 17 comparison. That's.24 gain points against, on average,
18 A Let'stakethat intwo piles. The data set 18 total gain pointsin that period for high schools of 17
19 excludes districts that have no charters because there 19 points?
20 could belots of reasons why there are no charters, and 20 A 17. That's correct.
21 soit'snot afair comparison. 21 Q Sojust on the charter school point for a
22 Q Arguably. 22 minute, the middle schools -- it indicates that middle
23 A Arguably. 23 school charter school status was inversely correlated
24 The second part is that the market is 24 with positive API gains, correct?
25 contestable as soon asthere is a single charter schoal. 25 MR. CHOATE: Objection; the document speaks for
Page 199 Page 201
1 Andsowelooked at the effect on al of the schoolsin a 1 itsef.
2 district where a charter operates because that market has 2 THE WITNESS: Y ou will note that that figure in the
3 been declared contestable. We only analyze the effect 3 middle school change model is not bold, which meansit's
4 against similar schools. 4 not statistically significant even though it'salarge
5 Q "Similar," meaning if it's an elementary 5 number, the variance around it was even bigger, and
6 charter, elementary schools of atraditional variety in 6 thereforeit's not statistically significant.
7 that district? 7 BY MR.JACOBS:
8 A Get modeled. Exactly. 8 Q And theimplication of that isthat you can't
9 Q AnNd creating that set had different effectsin 9 et predict for middle school or elementary school
10 elementary, middle, and high school, didn't it? 10 whether acharter school will or will not lead to more
11 MR. CHOATE: Objection; vague and ambiguous. 11 gainsinyear-over-year APl scores?
12 THE WITNESS: Would you rephrase your question, | 12 A You haveit.
13 please? 13 Q And the number of high school charter schools
14 BY MR. JACOBS: 14 that you looked at was what?
15 Q [I'll just withdraw it. 15 A If you look on page 8, Table 1, you see that as
16 Thisis-- what you just described it looks like 16 of the spring there are 105 charter high schools. And
17 isdiscussed on page 14. 17 you'll seethat there are only 32 middle schools, which
18 MR. CHOATE: Objection; the document speaks for 18 isone of the reasons why this number is not
19 itsdlf. 19 satistically significant.
20 THE WITNESS: That's correct. 20 Q Andthenit turn -- it turned out that the
21 BY MR.JACOBS: 21 charter schools on average had fewer fully credentialed
22 Q So back to graphic 6, which shows that the 22 teachersor alower percentage of fewer -- I'm sorry -- a
23 traditional high schools had an 18 -- did you say 18 was 23 lower percentage of fully credentialed teachers than the
24 thevaue? 24 traditional schools?
25 A 17 25 MR. CHOATE: Objection; compound, document speaks
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for itself.
Can you read back the question, please?
(The record was read as follows:
"Question: And then it turn -- it turned
out that the charter schools on average had
fewer fully credentialed teachers or alower
percentage of fewer -- I'm sorry -- alower
percentage of fully credentialed teachers
than the traditional schools?")
THE WITNESS: On page 23 at the bottom of the first
full paragraph you'll seethat wedid aT test that
showed that that relationship was statistically
significant. Charter schools have smaller proportions of
fully credentialed teachers.
BY MR. JACOBS:
Q Sowhen you look at the -- I'm sorry. Strike
that.
That's true in high schools also?
MR. CHOATE: Objection; vague and ambiguous.
What...
THE WITNESS: | don't remember what the breakouts
are by school level.
BY MR. JACOBS:
Q And by looking at -- or but by looking at
Appendix C, one can compare the expected results of going
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A Right.

Q --reduction in the number of fully credentialed
teacherswould, if you will, counterbalance the charter
schoolness of the school of a charter school inits
predicted API change year over year?

MR. CHOATE: Objection; vague and ambiguous,
compound.

THE WITNESS: All other factors being equal, your
math is correct.

MR. JACOBS: All right. Can we take abreak?

MR. CHOATE: Yes.

(Recesstaken: 4:07 until 4:41 p.m.)

MR. JACOBS: So we're going to break this afternoon
and resume tomorrow morning. Y ou have the name of the
Houston contact for the -- to determine whether Houston
might release the data set for your TFA study?

A That'scorrect. Thedirector of the UTD Texas
Schools Project is John Kain, K-a-i-n, and he's at the
University of Texas at Dallas, at the Cecil Green Center.

Q $o, seeyou tomorrow?

MR. CHOATE: And just let me clarify. We're coming
back tomorrow. Mr. Jacobs has approximately 40 minutes
of questioning, although that's not entirely set in
stone. Mr. Hajelawill ask his questions, and he'll ask
whatever questions Mr. Ross may have tomorrow.
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to a charter school with alow number of fully
credentialed teachers to a charter school with a higher
number of fully credentialed teachers, correct?

MR. CHOATE: Objection; vague and ambiguous.

THE WITNESS: The model holds all other factors
constant, so it isan analysis of the marginal effect of
the element in question.
BY MR. JACOBS:

Q AndI guessthat if you do the math, if you went
to a charter school that had -- you'd have to have 70
percent fewer credentialed teachers to match charter
school status in effect on API change; isthat what this
is showing?

MR. CHOATE: Objection; callsfor speculation, it's
vague and ambiguous.
BY MR. JACOBS:

Q Inhighschool. Did | dothe math right?

A | don't know if you did the math right.
BY MR. JACOBS:

Q Conceptudly do | haveit?

A  Why don't you walk me through the model and I'll
tell you if you get it right.

Q Let'ssay .25 asagainst 15 in those two
results. Andinorder to -- 15 divided by .25 is about
six. So a60 percent --
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MR. HAJELA: Sounds good.

THE REPORTER: For the record, Mr. Hagjela, would you
like a copy of the transcript?

MR. HAJELA: Yes.

THE REPORTER: Counsel, for you?

MR. CHOATE: Yes.

THE REPORTER: Counsdl, for you?

MR. JACOBS: Yes, thank you.

THE REPORTER: Are there time constraints on this
transcript?

MR. JACOBS: Nonein particular.

THE REPORTER: Thank you.
1
1
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I, Margaret Raymond, Ph.D., do hereby

declare under penalty of perjury that | have read the
foregoing transcript of my deposition; that | have made
such corrections as noted herein, inink, initialed by

me, or attached hereto; that my testimony as contained
Herein, as corrected, is true and correct.

EXECUTED this day of ,
20 ,a ,

City) (State)

Margaret Raymond, Ph.D.
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STATE OF CALIFORNIA )
. SS
COUNTY OF CONTRA COSTA)

[, the undersigned, a Certified Shorthand
Reporter of the State of California, do hereby
certify:

That the foregoing proceedings were taken
before me at the time and place herein set forth; that
any witnesses in the foregoing proceedings, prior to
testifying, were placed under oath; that a verbatim
record of the proceedings was made by me using machine
shorthand which was thereafter transcribed under my
direction; further, that the foregoing is an accurate
transcription thereof.

| further certify that | am neither
financially interested in the action nor arelative or
employee of any attorney of any of the parties.

IN WITNESS WHEREOF, | have this date
subscribed my name.

Dated:

TRACY L. PERRY
CSR No. 9577
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